EEISR A

REAFE, THEH ™28 %5 KRN
. BRARSS

AFHANXFABREBARARAS

The letter data and photograph of the manual all belong to our company, reprint and peculate must be runned the duty.

BLCH

SRSZIRIXHR A S

BLCH PNEUMATIC SCIENCE&TECHNOLOGY CO.,LTD.

ADD : No.387 Jingba Road,Economic Development Zone,Yueqing,Zhejiang,China
TEL : 0086-577-62796933
Hitp : //www.blch.cn www blpneumatic.com

BLCH

PNEUMATIC COMPONENTS

Ar Source Treament | GanolCamponens

Product Selection Guide
BR50HEBIRAE]

L 1]

www.blch.cn 4

www.blpneumatic.com  “g

BLCH
ExRSzl

TECHNOLOGY CREATS VALUE



NEVER GIVE UP

NS0 @ 1SR

BLCH Pneumatic Science and Technology Co. Ltd was founded in August 2004, it is located in the
YUEQING economic development industrial zone. The company covers an area of 24000M 2 ,having 5
production bases with more than 300 employees. It' s a non-regional enterprise specializing in R&D,
production, sales and service maintenance of pneumatic components.

We now provide five series pneumatic products, such as air source treatment , pneumatic fittings,
cylinders, solenoid valves, PU tubes and air guns, nearly 100 models and thousands items to
worldwide .we has passed ISO 9001:2015 certification, ISO 14001:2015 environmental management
system certification and CE markig of EU. Also we are National High—-tech Enterprise, National
Standards developing organization.

We always take “High Quality” as the most important thing , the key parts are all produced by
automatic processing, which effectively guarantees the stable quality of the materials.

We take long time in long-life testing and insist that every single product should be checked and
tested before delivery. Meanwhile, “After Service” is our commitment, because we know that the
clients will fully understand our responsible attitude and create more and more win-win situation.

In pasted years, we have exported to more than 50 countries and get lots of good feedback. In the
future, we expect that we can cooperate with more and more clients and have the chance to be a
leading company in the world. We are growing together with you.

® 300+ ® 40+ ® 50+

Employees R&d technicians Exported countries

SEXHAAXP
XL
9099999,
SRR
XXXX

® 50+

Various patents

® 120Million +

Annual output value

® 100+

Products series

L0
QXKL
KXRBK

994
9.9.9.¢
9999
KKK
@/’/‘.,_z @Y
000

"
K
%

KL
R

TECHNOLOGY CREATS VALUE




BLCH SxR5zl

i manag

HONOR & CERTIFICATES e o e e

LR R R E L]

A ML R A ES i 9 -~ ARENEENEER LS LEAS

R saem. evanae . s o ERTLFEHTAN

vorsusnams
BT Jatn e o 3913

-
samany

AmEAaiit. £ W NARmA. S AR

[ €) mxaExtuEES

WM AR
SO0—t®XA

Tkt i M LR &
SR HI AT 75 D A Gl

WRA 27 it 5
2 LN
w‘ﬂ:m“‘\- ﬂ‘luﬂl :-‘ RuiadcaniEne 1

SannER, B AT E AR a1

PEBET R
AUDITED SUPPLIER

FhveSinng WLOT Presimatic Sebenee & Techmbing Ci Ll
wir MM ARCA

National high-tech enterprise
National industry standard developing organization
Zhejiang province high—-tech R&D center

NOTHING
. IS IMPOSSIBSE

': ML @ EEiES







BLCH

BR5z
BLCH PNEUMATIC

SCIENCE & TECHNOLOGY
CO., LTD.

www.blch.cn
www.blpneumatic.com

02
03
04
06
08
10
12
13
14
15
16
17
18
18
18
19
19
19
20
20
21
22
23
24
25
26
27

40
42
45
46
47
47
47
48
49

P
e
2
=
0
@
-1
=
@
5]
o
=4
@
-
2

AC Series F.R.L combination
AC Series FR.L combination
AF Series Air filter

AW Series Air filter—regulator
AR Series Air Regulator

AL Series Air Lubricator

G Series F.R.L combination
G Series FR.L combination
G Series Air filter

G Series Air filter—regulator
G Series Air Regulator
GSeries Air Lubricator

C Series F.R.L combination
C Series FR.L combination
C Series Air filter

C Series Air filter-regulator
C Series Air Regulator

C series Lubricator

AD/AH Series Automatic Drain

YT Series Lock valve

A/B Series F.R.L combination

A/B Series FR.L combination
A/B Series Air filter

A/B Series Air filter—regulator

A/B Series Air Regulator
A/B Series Lubricator

FRC Series FR.L combination

s
g
=
B
S
3

3V series Solenoid Valve
4V series Solenoid Valve
6V series Solenoid Valve
4M series Solenoid Valve
2V series Solenoid Valve
Solenoid Valve Cail

HSV series Slide Valve

3A series Air Control Valve
4A series Air Control Valve

30
32
32
32
33
33
34
34
35
35
36
36
36
37
37
37
38

38
38
38

51
52
52
53
53
54
56
58
60

LF Series Air filter

LR Series Air Regulator

LFR Series Air filter—regulator

LOE Series Lubricator

AMD Series Micro Mist Separator
AMG Series Water Separator

IR Series Precision Regulator

SFC Series Two—point combination
SFR Series Air filter—regulator

SL Series Lubricator

UFRL Series Three—point combination
UFR/L Series Two-point combination
UF Series Air filter

UFR Series Air filter-regulator

UR Series Air filter—regulator

UL Series Lubricator

FRL700A Three—point combination
FRL700A Two-point combination
FR500A Air filter—regulator
NR200/R200 Air Regulator

F200A Air filter

R200A Air Regulator

4000-5000 Explosion proof
aluminum cup

SHAKO Series Aluminum cup

BP Series Automatic drain

IS1000 Series Pressure switch

VT307 series Solenoid Valve

ASC series Flow Control Valve

RE series Flow Control Valve

3H/4H series Hand Valve

3L/4L series Hand Valve
DS3000/VF3000 series Solenoid Valve
DS5000/VF5000 series Solenoid Valve
VFA series Air Control Valve

Manifold series

sjuauodwo?) joAuo)

61
62
63
64
65
66
67
68
69
70
71
72
74
79
76
77
78
79

——

A

o

B

98

100
102
104
106
108
110
112
114

2W series Solenoid Valve

2L series Solenoid Valve

2S series Solenoid Valve

PU series Solencid Valve

Parts of Solenoid Valve

HV series Hand Valve

4HV series Hand Valve
FV320/420 series Foot Valve
4F/FOV series Foot Valve
FV/3F/3FM series Foot Valve
VM200 series Mechanical Valve
S3 series Mechanical Valve
VM100 series Mechanical Valve
JM322 series Mechanical Valve
MOV321 series Mechanical Valve
MV322 series Mechanical Valve
MV522 series Mechanical Valve
QE series Quick Exhaust Valve

-

ok

e

SC/SU Series Standard Cylinder
DNC Series Standard Cylinder
S| Series Standard Cylinder
MB Series Standard Cylinder
SDA Series Compact Cylinder
CQ2 Series Compact Cylinder
CQS Series Compact Cylinder
ADVU seris compact cylinder
MAL Series Aluminum Mini Cylinder

116 MA Series Stainless Steel Mini Cylinder

118

CM2 Series Stainless Steel Mini Cylinder

120 CJ2 Series Stainless Steel Mini Cylinder

121

DSN series round cylinder

123 TN Series Double Rods Cylinder

125 CXS Series Twin Rods Cylinder

126 CU Series Free Mounting Cylinder
128 MGP Series Compact Guide Cylinder

131

AC Series Shock Absorber

132 ACD Series Shock Absorber
133 RBC Series Short Shock Absorber
134 AD Series Shock Absorber

135

SR Series Adjustable Hydraulic Stabitizer

>
c
X
.
2
)
=]
3
kS
b=
1]
-
@

>
(o]
(%)
{0r]
w
o
o
s
[e:]
w

88

r i

CV series Non-return Valve

PC Straight Male Thread

PCF Straight Female Thread

PL Elbow Male Thread

PLF Elbow Female Thread

PLL Elbow Longer Male Thread
PH External Hex Joint

PHF Joints in Series

PB T-Shape Vertical Male Thread
PD T-Shape side Male Thread
PX Y-Shape Three-Way Thread
PK Five-Way

PKG Reduced Five-Way

PM Bulkhead Union

PY Y-Shape Three-Way

PU Straight Union

PV Elbow Two-Way

PUG Reduced Straight Union
PYG Y-Shape Reduced Three-Way
PE T-Shape Three-Way

PEG T-Shape Reduced Three-Way
SL Speed controller

LSA Pipe Speed controller

PKB Side Male Thread Five—Way
PKD Side Female Thread

PZA Union Cross

HVFF series Hand Switch

BUC series Hand Valves

BC series Hand Valves

BC-G series Hand Valves

BL-G series Hand Valves

BUL series Hand Valves

KCM Push in Check valve

AN series Plastic Silencer

AL series Plastic Silencer

ST/SV series Brass Silencer

89-90 White fittings

91
91
92
93
93
93
93
94
94
94
95
96

Brass Nickel Plating—One Touch Fittings
Metal One Touch Fittings

Quick Pipe Connectors

Micro Quick Fittings

SPP Series Plug

Rotation Fittings

Oil Pipe

PU Tube

Spiral Tube

Air Gun

C Type Quick Coupler
Self-locked C Type Quick Coupler

136 Air Combination Accessories
137 Cylinder Accessaries
138 SC Series Standard Cylinder Accessories

& ‘\f‘;‘r}\ ¢ =-:’ '

Nd

-«

$ 2 I DAE N




BLCH

AC Series F.R.L combination

Air Source Treatment

Order Code
AC 2000 - 02 |
Series Body Size Port Size Drain Mode

I REA I MEN I 1000 M5| M5 Nil | Semi-Automatic Type

2000 02 | 1/4" D Automatic Type
= 3000 03 | 3/8"
BN RS Symbol 4000 04 | 172

5000 06 | 3/4"

Technical Specification

Proof Pressure 1.5Mpa | 15bar , 217.5psi | :‘:
Max. operating pressure 1.0Mpa | 10bar,145psi | =
Ambient Temperature 5~60°C(Not Frozen) §
Filter Precision 40um 3
Suggested Lubricating Oil Turbine No. 1 Qil(ISO VG32) g
Bowl Material PC 2
Cup Cover AC1000-2000(Without) AC3000-5000(with)

AC1000:0.05-0.7Mpa(7.25-101.5 psi)

Range of Regulation
AC2000-5000:0.05-0.85Mpa(7.25-123 psi)

Specifications

AC1000-2000

L Type Bracket
[ Inlet . f

Gauge diameter
A -

i Combinations Max. Flow Port Size Pressure Gauge
Manual Automatic Filter Regulator | Lubricator (L/min) Rp(PT) SizeRp(PT)
AC1000-M5 AC1000-M5D AF1000 AR1000 AL1000 90 M5x0.8 116
AC2000-02 AC2000-02D AF2000 AR2000 AL2000 500 1/4 1/8
AC3000-02 AC3000-02D AF3000 AR3000 AL3000 2000 1/4 1/8
AC3000-03 AC3000-03D AF3000 AR3000 AL3000 2000 3/8 1/8
AC4000-03 AC4000-03D AF4000 AR4000 AL4000 4000 3/8 1/4
AC4000-04 AC4000-04D AF4000 AR4000 AL4000 4000 1/2 1/4
AC4000-06 AC4000-06D AF4000 AR4000 AL4000 4500 3/4 1/4
AC5000-06 AC5000-06D AF5000 ARS5000 AL5000 5000 3/4 1/4
AC5000-10 AC5000-10D AF5000 ARS5000 AL5000 5000 1 1/4
Dimension(mm)
AC3000-5000

- o
- :['3__ L Type Bracket

P

1 "Rr:'gﬁlator

Drainage Filter
. With Auto Drai
Model |Portsze | A | B | c |D| E |Fla |H|u|Kk]|L|M|N]|P %
AC1000-M5 | M5x0.8 |89 | &7 o5 | o5 335 [255] 31 (20457 |3] 18 | 18 | 41 106
AC2000-01/02] 1/8+1/4 | 140 | 1245 | 39 |40 |53 |30 |50 |24 |55 |85|5| 22 | 23 | s0 146
AC3000-02/03| 1/4 - 3/8 | 182 | 158 37 |53 [545 |41 |64 |35|6 |10 [7] 34 | 26 | 70 197
AC4000-03/04] 3/8 + 1/2 | 238 | 195 43 |70 (60 |40 |84 |40|9 |13 [7] 42 | 33 | 86 213
L AC4000-06 | 3/4 253 | 197 43 |70 |66 |51 |89 |40|9 |13 |8| 48 | 36 | @8 215
BLCH ‘ EE%E" AC5000-06/10| 3/4 + 1 300 | 272 47 |90 |70 |es | 105 |50 |12 |16 [ 10| 55 | 40 | - 290
01  BLCH PNEUMATIC BLCH PNEUMATIC 02




Air Source Treatment

BLCH

AF Series Air filter

Air Source Treatment

BLCH

AC Series FR.L combination

Order Code Order Code
AC 2000 - 02 O AF 2000 - 02 |
Series Body Size Port Size Drain Mode Series Body Size Port Size Drain Mode
1010 M5 | M5 Nil | Semi-Automatic Type 1000 M5 | M5 Nil | Semi-Automatic Type
2010 02 | 1/4° D | Automatic Type 2000 0z | 1/4° D | Automatic Type
Symbol 3010 03 | 3/8" 3000 03 | 3/8"
4010 04 | 1/2" " 4000 04 | 1/2°
5010 06 | 3/4" 5000 06 | 3/4°
é ; Pl 18.11" 10 | 1"
. T </ LI ‘ Symbol
Technical Specification
Proof Pressure 1.5Mpa | 15bar , 217.5psi |
Max. operating pressure 1.0Mpa | 10bar,145psi | Technical Specification
Ambient Temperature 5~60"C(Not Frozen) B o Praaaiie 1.5Mpa | 15bar , 217.5psi | ®
Filter Precision 40um Max. operating pressure 1.0Mpa | 10bar,145psi | 2
Suggested Lubricating Oil Turbine No. 1 Qil(ISO VG32) Ambient Temperature 5~60°C(Not Frozen) ::’
Bawl viiedal a2 Filter Precision 40um -
Cup Cover AC1000-2000(Without) AC3000-5000(with) Bt Btaiinl o
Range of Regulation AC1010:0.05-0.7Mpa ( 7.25-101.5 psi) Cup Cover AC1000-2000(Without) AC3000-5000(with)
AC2010-5010:0.05-0.85Mpa ( 7.25-123 psi)
Model . Specifications o Specifications
Combinations Max. Flow Port Size Pressure Gauge Max. Flow Port Size - »
Manual Automatic Filier Lubricator (L/min) Rp(PT) SizeRp(PT) TR Riferaaiic (L/min) Rp(PT) Cup Combination(cm’)
AC1010-M5 AC1010-M5D AW1000 AL1000 90 M5x0.8 116 AF1000-M5 AF1000-M5D 110 M5x0.8 4
AC2010-02 AC2010-02D AW2000 AL2000 500 1/4 1/8 AF2000-02 AF2000-02D 780 1/ 15
AC3010-02 AC3010-02D AW3000 AL3000 1700 1/4 1/8 AF3000-02 AF3000-02D 1500 \/a >0
AC3010-03 AC3010-03D AW3000 AL3000 1700 3/8 1/8 AF3000-03 AF3000-03D 1500 38 20
AC4010-03 AC4010-03D AW4000 AL4000 3000 3/8 1/8 AF4000-03 AF4000-03D 4000 3/8 45
ACA4010-04 AC4010-04D AW4000 AL4000 3000 1/2 1/4 AE4000-04 AE4000-04D 4000 1/2 45
AC4010-06 AC4010-06D AW4000 AL4000 3000 3/4 1/4 AF4000-06 AE4000-06D 6000 3/4 45
AC5010-10 AC5010-10D AWS5000 AL5000 4000 1 1/4 AF5000-10 AF5000-10D 7000 1 130
Dimension mm AC1010-2010 AC3010-5010
( ) A ._E_.E.L. i ‘Ta_.,

Drainage Filter Regulator

Lubricator

T Type Bracket

Gau

|

[ﬁu

{Adapier’ A%
|(optional)/

Ulameﬂ.ﬁ

Lubricator

i

Drainage Filter Regulator

Model PortSize | A B Cc D = E G H J Be- (|l M N 2] m
AC1010-M5 | M5x0.8 58 108 | 505 | 25 | 33.5 |25.5( 28 20145 |7 3 18 16 4 127
AC2010-01/02| 1/8 - 1/4 | 90 160 | 74 40 | 53 |30 | 45 24 |55 |85 |5| 22 23 50 181
AC3010-02/03| 1/4 - 3/8 | 117 207 | 89 53 | 54.5 |41 685 [ 35 | 6 10 | 7| 34 26 70 245
AC4010-03/04] 3/8 - 1/2 | 155 259 109 | 70 | 60 (49 | 77 40 | 9 13 | 7| 42 33 86 276
AC4010-06 3/4 165 263 111 70 | 86 |51 82 40 | 9 13 |8 | 48 36 88 281
AC5010-06/10f 3/4 - 1 196 339 117 |90 |70 (68 | 975 |50 |12 | 16 | 10| 55 40 - 356

03 BLCH PNEUMATIC BLCH PNEUMATIC 04




BLCH Air Source Treatment BLCH Air Source Treatment

Structure Charts

RIS SRR AW Series Air filter—regulator
Inlet —= —= Qutiet Order COde
AW 2000 - 02 D
» Series Body Size Port Size Drain Mode
i 1000 M5 | M5 Nil | Semi-Automatic Type
2000 02 |1/4" D | Automatic Type
Symbol 3000 03 | 3/8"
4000 04 [1/2°
= 5000 06 | 3/4"
Dimension(mm) " _ o Q _‘: RV
——— i Dt Technical Specification
i 3~ :.:, — i Proof Pressure 1.5Mpa | 15bar , 217.5psi |
- _gm' Max. operating pressure 1.0Mpa | 10bar,145psi |
iniet JESERRY Ovtet Ambient Temperature 5~60°C(Not Frozen) a
= Filter Precision 40 p m,5 y m(customized) 3
E Bowl Material PC f’
! Cup Cover AC1000-2000(Without) AC3000-5000(with) g
AW1000:0.05-0.7Mpa(7.25-101.5 psi
Orim Range of Regulation pa( psi) )
A AWZ2000-5000:0.05-0.85Mpa(7.25-123 psi)
AF3000~4000
T Model Specifications
Tallber Manual Automatic Max. Flow(L/min) Port SizeRp(PT) Pressure Gauge SizeRp(PT)
[ L1 AW1000-M5 AW1000-M5D 100 M5x0.8 116
ul e 1R AW2000-02 | AW2000-02D 550 1/4 1/8
Iniet Gutet Tt - AW3000-02 AW3000-02D 2000 1/4 1/8
S OBk AW3000-03 AW3000-03D 2000 3/8 1/8
] i ” ; e g AW4000-03 AW4000-03D 4000 3/8 1/4
: CQuick fitting auto drain type AWA4000-04 AW4000-04D 4000 1/2 1/4
AW4000-06 AW4000-06D 4500 3/4 1/4
AWS000-06 AWS5000-06D 5000 3/4 1/4
AWS5000-10 AWS5000-10D 5000 1 1/4

AF5000

Quick fitting auto drain type

Model |PotSizel A | B | c | o | e |F|la|nu|lulxk]|L]|mM]|eP y_n&___;mn@
AF1000-M5 M5x0.8 25 68 75 25 - - - - - o = -~ 25 87
AF2000-01/02] 1/8 - 1/4| 40 97.5 11 40 17 30 27 21 5.5 8.5 40 1.8 40 120
AF3000-02/03| 1/4-3/8| 53 134 14 53 16 41 40 24 6.5 8 53 1.8 55 173
AF4000-03/04| 3/8 « 1/2| 70 169 17 70 17 50 51.5 24 8.5 12 69 1.8 72 186
AF4000-06 3/4 75 173 20 70 - - - - - - - - 72 191
AF5000-086/10] 3/4 « 1 90 248 25 90 - - - - - - - - - 266

05 BLCH PNEUMATIC BLCH PNEUMATIC 06




BLCH Air Source Treatment BLCH Air Source Treatment

Structure Charts AR Series Air Regulator
AW1000 AW2000 AW3000~4000 Order Code
Gg AR 2000 - 02
o
~ @ - i
,f-/@ a & %, I Series  Body Size Port Size
L3 J B ; ; 1000 M5 | M5
Inlet—= o — Cutlet Inlet —= — Outlet E ‘@“ * 2000 o2 | 1/4
“‘w{g) @ 0 L | 3000 03 | 3/8°
~© ® 3 i 4000 04 | 1/2*
R 0, 5 Symbol 5000 06 | 3/4°
@ ® . i 1011
NG ® !
Dimension(mm) Technical Specification <
AW1000~2000 Proof Pressure 1.5Mpa | 15bar , 217.5psi | Y
Max. operating pressure 1.0Mpa | 10bar, 145psi | ;_
Ambient Temperature 5~60°C(Not Frozen) i

1
+

AR1000:0.05-0.7Mpa(7.25-101.5 psi)

Range of Regulation _
AR2000~5000:0.05~0.85Mpa(7.25-123 psi)

Outlet

Specifications
Pressure Gauge | Model Max. Flow{L/min) PonpSizeFip(PT) Pressure Gauge SizeRp(PT)

AR1000-M5 100 M5 x 0.8 116
iy AR2000-02 550 1/4 1/8
SarkAaieles AR3000-02 2500 1/4 1/8
AR3000-03 2500 3/8 1/8
AW3000~4000 AR4000-03 6000 3/8 1/4
—L : AR4000-04 6000 1/2 1/4
== ! - Bracket AR4000-06 6000 3/4 1/4
o4 AR5000-06 8000 3/4 1/4
= AR5000-10 8000 1 1/4

—e={utlet

Caliber
\. Gauge diamater h

N.0.biack E};

NE grey
N.C.,N.O.
Quick fitting auto drain type

Model |Portsize |A| B | c [D| E |Fla|lH| | Kk |L|M]|N]|P Wﬂ
AW1000-M5 | M5x0.8 | 25 | 108 | 505 | 25 | 335 | 25 |28 | 30 | 45 |65 |40 | 18 | 185 | 25 127
AW2000-01/02] 1/8+-1/4 | 40 160 74 40 | 53 33 |335]| 43 | 55 | 15 55 118 | 335 | 40 181
AW3000-02/03] 1/4 » 3/8 53 207 89 53 | 545 41 |36 47 | 65 11.5 54 18 | 425 | 55 245
AWA4000-03/04] 3/8+ 1/2 70 259 109 70 | 60 49 |53 52 | &85 10.5 70 | 1.8 | 525 72 276
AWA4000-06 3/4 75 263 111 70 | 66 49 |53 56 | 85 105 70 | 1.8 | 625 72 281
AWS000-06/10] 3/4 - 1 a0 339 117 a0 | 70 49 |53 62 | 85 10.5 70 | 1.8 | 525 - 356

07 BLCH PNEUMATIC BLCH PNEUMATIC 08




BLCH Air Source Treatment BLCH Air Source Treatment

Structure Charts AL Series Air Lubricator
Order Code

AL 2000 - 02
2 Series Body Size Port Size
\ 1000 M5 | M5
2000 02 | 1/a
Symbol 3883 04 ?jg
5000 06 | 3/4°

:: 10 11°

Technical Specification

17 Proof Pressure 1.5Mpa | 15bar , 217.5psi | =
Max. operating pressure 1.0Mpa | 10bar,145psi | &
7 Ambient Temperature 5~60°C(Not Frozen) I—
Suggested Lubricating Oil Turbine No. 1 Oil(ISO VG32) ?
Dimension(mm) Bowl Material PC =
Cup Cover AC1000-2000(Without) AC3000-5000(with)
: Specifications
ey . nioael Max FodLane) Max. Flow(L/min) - Port SizeRp(PT) cup combination(cn)
D AL1000-M5 = 95 M5x 0.8 4
AL2000-02 15 800 1/4 o5
Brackst AL3000-02 30 1700 1/4 50
N 2| AL3000-03 40 5000 3/8 50
R AL4000-03 20 5000 3/ 130
i AL4000-04 50 5000 1/2 130
: ‘—‘ﬁe AL4000-06 50 6300 3/4 130
i & ~][ - AL5000-06 190 7000 3/4 130
i 72 N\ N -I— —I-[N AL5000-10 190 7000 1 130
m_1.5t- 7 @ Y — Cutlet f %
IRz N>/ s
9 é T -
T\

Gauge diamater 2-Caliber

Model Port Size A B Cc D E k= G H J K L M N
AR1000-M5 M5x0.8 25 58 12 25 33.5 25 28 275 4.5 6.5 40 18 18.5
AR2000-01/02| 1/8 - 1/4 40 92 17 40 53 33 33.5 43 5.5 15 55 1.8 33.5
AR3000-02/03| 1/4 + 3/8 53 1235 | 35 53 54.5 41 36 46 6.5 11.5 54 18 425
AR4000-03/04| 3/8 - 1/2 70 1455 | 375 70 60 49 53 52 85 10.5 70 1.8 525
AR4000-06 3/4 75 150 38.5 70 66 49 53 56 8.5 10.5 70 1.8 B25
AR5000-06/10| 3/4 - 1 90 165 48 90 70 49 53 62 8.5 10.5 70 1.8 52.5

09 BLCH PNEUMATIC BLCH PNEUMATIC 10




BLCH

Structure Charts

AL1000 AL 2000

Dimension(mm)

AL1000~2000

M
|| = Bracket
T

|

2-Caliber

i

il

AL5000 A

Outlet

Air Source Treatment

AL 3000~4000

AL 5000

AL3000~4000

2-Caliber

Port Size

BLCH

Air Source Treatment

G Series F.R.L combination

Symbol

Technical Specification

Order code
GC200- 08 - [ - E - O - a
Series Drain mode Port Size
GC200 series| Nil | Semi-Automatic Type Nil | PT Port
GC300 series] D | Automatic Type T |[NPTPort
GC400 series ) G |G Port
Filter Accuracy
Port Size Nil | 40uM level
06| PT1/8 W | 5uMlevel
08| PT1/4
10| PT3/8 Pressure Gauge type
151 PT1/2 F | Square Gauge
c | Round Gauge

Product feature

1.Quick and reliable mounting clamps makes it convenient to install and use .

2.The performance of pressure adjustment is reliable with high precision.

3.The efficiency of eliminating moisture and solid grain is high.

4.0il dripping adopts gas seal structure,which makes the adjustment of oil supply more reliable.

Model GC200-06 | GC200-08 | GC300-08 | GC300-10 | GC300-15 | GC400-10 | GC400-15
Working Medium Air
Port Size Pri/g | PT1/4 | PT14 | PT38 | P2 | P38 | PTI2

Filter Precision

A0pumor5um

Pressure Range

Automatic and Semi-Automatic:0.15-0.9Mpa

Proof Pressure

1.5Mpa(215Psi)

Temperature Range

-5~60°C(Not Frozen)

Suggested Lubricating Ol

Turbine No. 1 Oil(ISO VG32)

Water Cup Capacity 10CC 40CC 80CC
Qil Cup Capacity 25CC 75CC 160CC
Weight(kg) 0.68kg 1.42kg 2.60kg
Dimension(mm)
GC200 60320—400

147

L Type Bracket

Model Port size A B E D E I G H J K It M N
AL1000-M5 M5x0.8 25 i 25 25 & = = = = = ! = 25
AL2000-01/02| 1/8 - 1/4 40 118 39 40 12 30 27 2124 | 55 8.5 40 1.8 40
AL3000-02/03| 1/4 - 3/8 53 141 37 53 14 41 40 24 6.5 8 53 1.8 55
AL4000-03/04 | 3/8 - 1/2 70 177 43 70 17 50 515 | 24 8.5 12 69 1.8 72
AL4000-06 3/4 75 180 43 70 - - - - - - - - 72
AL5000-06/10| 3/4 - 1 20 255 47 20 - - - - - - - - -

i i BLCH PNEUMATIC

Model A B BA Cc K KA KB B PA E
GC300-08 188 72 41.5 188 6.5 64 9 PT1/4 35 G1/8
GC300-10 188 72 41.5 188 6.5 64 9 PT3/8 35 G1/8
GC300-15 188 72 41.5 188 6.5 64 9 PFT1/2 35 G1/8
GC400-10 248 89 50 207 8.6 84 12 PT3/8 40 G1/4
GC400-15 248 89 50 207 8.6 84 12 PT1/2 40 G1/4

BLCH PNEUMATIC 12



BLCH BLCH

G Series Air filter

Air Source Treatment Air Source Treatment

G Series FR.L combination

Order Code Order Code
GFC200- 08 - [O = F - 0O = O GF200 - 08 = = = F = O = O
Series Pressure Gauge type Port Size Series Pressure Gauge type Port Size
GFC200 seri E Square Gauge Nil | PT Port Gf200 series F Square Gauge Nil | PT Port
GFC300 seri% ¢ |Round Gauge T | NPT Port GF300 series DrainMode C | Round Gauge T | NPT Port
Foa : : P F4 i ; : . Port
GFC400 seri D(aln MOGE ‘ Filter AccuracyG G Port GF400 series . Nil | Semi-Automatic Type  Filter Accuracycr; G Por
Nil | Semi-Automatic Type : PortSize p | Automatic T .
. Nil | 40uM level utomatic Type Nil [ 40u M level
D | Automatic Type 06|PT1/8
W | 5uMlevel 08|pT1/4 W | 5uMlevel
Port Size
10(PT3/8
06| PT1/8 151PT1/2
08| PT1/4 Symbo!
10|PT3/8 Product feature
15| PT1/2

1.unique diversion structure spins the air flowing through to effectively separate the
liguid from the air and reliably filter the solid grain

2.1t has low pressure loss, high efficiency in separating water and large drain bowl
capacity

3.Filtering grade includes 5um or 40um (optional)

Product feature

= 1.Quick and reliable mounting clamps makes it convenient to install and use .
B 2.The performance of pressure adjustment is reliable with high precision.
3.The efficiency of eliminating moisture and solid grain is high.

@
@
@

Technical Specification
Technical Specification P

Model GF200-06 | GF200-08 |GF300-08 | GF300-10 | GF300-15 | GF400-10 | GF400-15

Model GFC200-06 | GFC200-08 | GFC300-08 | GFC300-10 | GFC300-15 | GFC400-10|GFC400-15 Working Madium o
Working Mediu Alr Port Size PTIsE | PT14 | PTI4 | P8 | PT12 | PTaB | PTI2
Port Size pri)s | pPriia | pria | pr3s | P12 | PT3B | PTIR Citer Precicion e Tm——
Fiiter Precision ‘ ADpm (?rS iy Pressure Range Automatic and Semi—Automatic:0.15-0.9Mpa
Pressure Range Automatic and Semi-Automatic:0.15-0.9Mpa Proof Pressure 1.5Mpa
Proof Pressure 1.5Mpa(215Psi) Temperature Range —5~60°C(Not Frozen)
Temperature Range -5~60°C(Not Frozen) Water Cup Capacity 10CC 40CC 80CC
Suggested Lubricating Oil| Turbine No.1 OISO VG32) Weight(kg) 0.15kg 0.36kg 0.68kg
Water Cup Capacity 10CC 40CC 80CC
Oil Cup Capacity 25CC 75CC 160CC Dimension(mm)
Weight(kg) 0.44kg 1.0kg 1.95kg i S

Dimension(mm) ke KA Mg s
GFC200 GFC300-400 omuone [
62
T Type Bracket 0x1.5 06:PT1/8 e
OB:.PT”ﬁ 6 Q
3
06:PT1/8
0B:PT1/4 q
Model A B BA ¢ CA K KA KB KC P Q

L A 5 i g D K i i : &2 GF300-08 60 67.5 41 182 164 6.5 40 8 27 PT1/4 | G1/8
GFC300-08 124 72 a5 2255 | M40x15| 65 70 9 PT1/4 | G1/8 GF300-10 60 67.5 41 182 164 6.5 40 8 27 PT3/8 | G1/8
GFC300-10 124 72 M5 2255 |M4ox15| 65 70 9 PT3/8 | G1/8 GF300-15 60 67.5 41 182 164 6.5 40 8 27 PT12 | Gi8
GFC300-15 124 72 M5 2255 |M4ox15| 65 70 9 PT12 | G18 GF400-10 60 85.5 50 208 185 8.6 55 11 335 | pr3is | Gia
GFC400-10 164 89 50 266 | Mss5x20 | 86 80 12 PT3/8 | G1/4 GF400-15 60 85.8 50 208 185 8.6 55 11 335 | pPT12 | G1/a
GFC400-15 164 89 50 266 | Mssx20 | 86 80 12 PT1/2 | Gi/4

13 BLCH PNEUMATIC

BLCH PNEUMATIC 14



BLCH

G Series Air filter—regulator

Air Source Treatment

BLCH

G Series Air Regulator

Air Source Treatment

- Order Code
== GFR200 - 08 - O - F - O = O
GFR200 series Round Gauge Nil | PT Port
GFR300 series DEnMedE ! . T | NPT Port
GFR400 series Nil | Semi-Automatic Type G [GPort
. D | Automatic Type Filter Accuracy
gg”PST'i?a Nil | 40 M level
08| PT1/4 W |5uM level
10| PT3/8
151 PT1/2

Product feature

1.Embedded square pressure gauge is used to save installation space.

2.The pressed-in self-locking mechanism can prevent the abnormal movement of
the set pressure caused by external interfere.

3.Balanced design is adopted for the pressure adjustment mechanism .

4.The filtering grade includes 5um and 40 um (optional).

Technical Specification

Technical Specification

Order Code
GR200 - 08 - [O - F - Ej - O
Series Pressure Gauge type Port Size
GR200 series F ‘ Square Gauge Nil | PT Port
GR300 series DrainMode C |RoundGauge T | NPT Port
i i o i G |GPort
GR400 series gll iﬁzglm):#éo]r_r;%t‘lac Type Filter Accuracy
Port Size Nil | 40 u M level
06| PT1/8 W [5uM level
08|PT1/4
10| PT3/8
15| PT1/2

Product feature

1.Embedded square pressure gauge is used to save installation space.

2.The pressed-in self-locking mechanism can prevent the abnormal movement of
the set pressure caused by external interfere.

3.Balanced design is adopted for the pressure adjustment mechanism

Model GFR200-06 | GFR200-08 | GFR300-08 | GFR300-10 | GFR300-15 | GFR400-10 | GFR400-15
Working Medium Air
Port Size priyg | pria | prya | pras | prie | pPras | PTIR
Filter Precision A0pmOrs5um
Pressure Range Automatic and Semi—Automatic:0.15-0.9Mpa
Proof Pressure 1.5Mpa
Temperature Range -5~60°C(Not Frozen)
Water Cup Capacity 10CC 40CC 80CC
Weight(kg) 0.32kg 0.62kg 1.20kg
Dimension(mm)
GFR200 A___ GFR300-400
A 5
DAC
o
06:PT18 P/
08-PT1/4 |
W
Model A AB AC B BA BC C D K KA KB KC ki Q
GFR300-08 60 53 38 72 41 31 |2255|M40x15| 65 | 40 8 46 | PT1/4 | G1/8
GFR300-10 60 53 38 72 41 31 |2255|M40x15| 65 | 40 8 46 | PT3/8 | G1/8
GFR300-15 60 53 38 72 41 31 |2255|M40x15| 65 | 40 8 46 | PT1/2 | G1/8
GFR400-10 80 72 52 90 50 40 |[266 |MS55x2.0| 65 | 52 11 53 | PT3/8 | G1/4
GFR400-15 80 72 52 90 50 40 |266 |MS55x2.0(| 85 | 52 ik 53 | PT1/2 | G1/4

15 BLCH PNEUMATIC

Model GR200-06 | GR200-08 | GR300-08 | GR300-10 | GR300-15 | GR400-10 | GR400-15
Working Medium Air
Port Size Pri/g | PT1ya | PTy/4 | PT3)8 | PT12 | PT3)8 | PTIR
Pressure Range 0.05-0.9Mpa
Proof Pressure 1.5Mpa
Temperature Range -5~60"C(Not Frozen)
Weight(kg) 0.26kg 0.45kg 0.80kg
Dimension(mm)
GR200 GR300-400
KA B
55 TAC BA BC
3 62 N
@28 30 32
sl |0 ] o Il « ]
1 1= o M30x1.5 o —‘\\ i D
@ B
2o 1 ' gl I’ I
06:PT1/B 3 1 )
08:PT1/4 nmn
B/

Model A AB AC B BA BC C D K KA KB KG 7
GR300-08 60 53 38 72 41 31 114 M40x1.5 6.5 40 8 46 PT1/4
GR300-10 60 53 38 72 41 31 114 M40x1.5 6.5 40 8 46 PT3/8
GR300-15 60 53 38 72 41 31 114 M40x1.5 6.5 40 8 46 PT1/2
GR400-10 80 72 52 90 50 40 140.5 M55x2.2 8.5 55 11 53 PT3/8
GR400-15 80 72 52 90 50 40 140.5 M55x2.2 8.5 55 11 53 PT1/2

BLCH PNEUMATIC 16

D
@

al

1L
u




BLCH Air Source Treatment BLCH Air Source Treatment

G series Air Lubricator Order Code C Series F.R.L combination Dimension(mm)
GL200 - 08 - | - = - O o= O
Series Pressure Gauge type PHASITE
GL200 series i Square Gauge Nil | PT Port
GL300 series Drain Mode ~ C reundiaaigde T |NPTPort
GL400 series Nil | Semi-Automatic Type G |G Port
Port Size D | Automatic Type Filter Accuracy
06| PT1/8 Nil | 40p M level
08| PT1/4 W |5uM level Symbol
10| PT3/8
15| PT1/2
Symbol —
Product Feature Technical Specification
~<> 1.The structure of oil dripping adopts gap seal type, which makes the adjustment of
oil supply more reliable. Port Size Max. Flow Pressure Range ; -
2. Qil feed ring can only make one full turn. The quantity of oil supply basically takes Model Rp(PT) L/min(ANR) MPa 9 Options/Description
on linear distribution. The quantity of oil supply can be generally calculated
according to the positon of graduation ring. G(with gauge)
3. Special drip nozzle structure will produce negative pressure in oil dripping outlet CC2000 1/4" 650 0.15~0.85 Environment current temperature
and mist flow is minimal. —~5~B0°C(Not Frozen)
Technical Specification
Model GL200-06 | GL200-08 | GL300-08 | GL300-10 | GL300-15 | GL400-10 | GL400-15 C Series FR.L combination Dimension(mm)
Working Medium Air
Port Size prig | pPriia | PTya | pPr3g | pri2 | pras | PTIR
Pressure Range 0.05-0.9Mpa
Proof Pressure 1.5Mpa | =
Temperature Range —-5~60°C(Not Frozen) Symb0| 1
Suggested Lubricating Oil Turbine No. 1 Oil(ISO VG32)
Oil Cup Capacity 25CC 75CC 160CC 0 =
Weight(kg) 0.14kg 0.40kg 0.70kg , - % .
- i Technical Specification
Dimension(mm) GL200 GL300-400
Port Size : o
—0 KA Max. Flow Pressure Range
- Moumting Brackat M Rp(PT) Umin(ANR) MPa Options/Description
bracket {optional) ‘
{optonai) L G(with gauge)
e [ E CFC2000 /4" 650 0.15~0.85 Environment current temperature
L -5~60°C(Not Frozen)
06:PT/8 . " . " ;
T 1 C Series Air filter Dimension(mm),__40 o
=]
]
Symbol
A
’—
Model A B BA BC c K KA KB KC P
GL300-08 60 68 41 53.5 174 6.5 40 8 27 PT1/4 Technical Specification Drain
GL300-10 60 68 41 53.5 174 6.5 40 8 27 PT3/8
GL300-15 60 68 41 53.5 174 6.5 40 8 27 PT1/2 Model ng[g%e L'}ﬂrﬁ?ri(ﬂlfi‘g) P’essﬂ?,fa“ge Options/Description
GL400-10 80 85.5 50 71 188 8.5 55 11 33.5 PT3/8
GL400-15 80 85.5 50 1 188 8.5 55 1" 33.5 PT1/2 CF2000 174 650 0.15~0.85 Environment current temperature
' ' ~5~60°C(Not Frozen)

7 BLCH PNEUMATIC BLCH PNEUMATIC 18




BLCH

AD/AH Series Automatic Drain

Air Source Treatment

BLCH

Air Source Treatment

C Series Air filter—regulator Dimension(mm) Dimension(mm)

H
8 —+
y S A
Symbol < |
wiow, 5~ |
westh] - (O ffm o Symbol i S
. hplsd 3 '
y
i T
- H
T ? | Technical Specification
. o a LLts Model Port Size Drain Size Pressure Range Obtions/Descripti =
Technical Specification s Rp(PT) Rp(PT) MPa it s el s
%
Port Size Max. Flow Pressure Range ; o Ambient Temperature; -5~60C(Not Frozen) E
Model Rp(PT) L/min(ANR) MPa Options/Description AD402 04 12" 3/8" No need people operating o
Max. Working pressure: 10Mpa =
with mounting bracket AR (11&5*‘9”0"?2& s s Al &
4 .15-~0. When installing the drainer, the diameter =
CFR2000 1/4 650 0.15~0.85 G(with gauge) of pipe should be above 10mm, the length @
i . —5~B01 not more than 5 meters, and don’ t make =
Ambient Temperature; -5~60°C(Not Frozen) AH402 04 12" 38" palt g ot g b
2.Compressor power should be more than
3.7kw.

C Series Air Regulator

Dimension(mm)

34 S jiX]

NOTICE:

When the drain connect with drainage hose.it required the hose diameter
should be bigger than 10mm, the length should be shorter than 5 meters,

when there have no pressure in water cup
The fioat (5) dropped due to the self-weaight, The valve (8) closes the cavity hole.

- i and keep it down, not up . . ; : ' )
= F The power of the compressor should be greater than 3. 7KW {Rg g;sali?lnh{gy?@ffssed down by the spring (11), and the condensed water is drained through
- 5 when there have pressure in water cup
» s __ 8 StrU Cture Charts When the pressure is above 1 kgffcm2, the piston (8) overcomes the upward pressure of the
s spfir&g (11), so the drain hole (12) is closed and the water cup (10) is separated from the outside
I i1 E Rei{PT) 12 world.
= when there have condensed water in water cup
3 | 6% body When the condensed water is collected to a certain extent, the fioat (5) rises due to buoyancy
2-Rpl/8 NI L s and opens the inner cavity. The piston (8) is pressed down by pressure and spring (1 1), and the
Finid Oring condensed water is drained through the drainage hose (13).
184 { .
Technical Specification e .L'*‘-" sieve Main parts
L -7 control pole
Model Port Size Max. Flow Pressure Range Optionsioscrption inner cavity g No. Mociel = hderd
Rp(PT) L/min(ANR) MPa o 1 body Die-casting aluminum
with mounting bracket water cup Aot S ecification
CR2000 1/4" 650 0.15~0.85 G(with gauge) cisimgefiole =\ ) N Model Model Standard
. naar
Ambient Temperature; -5~80°C(Not Frozen) drainage hose @, 22 o ,e L
R 2 O ring NBR JIS B2401P-8
g i : ) drainage 3 O ring NBR 113136
C series Lubricator Dimension(mm) ) z Sieve SUS 20062
: 55
i YT Series Lock valve Dimension(mm) Technical Specification
[ Symbol S — Model YT-400
.;'E:'.._ my - - e o7
- _<>_ 2-Rpl/4 i S| ' = . acting type Single—action
=. 11 ] i Singal port Signal pressure 1.0Mpa™
- | = P Air outlet Setting pressure range 0.14~0.7Mpa
| 8 e Working pressure MAX0.7Mpa
i ifi i ! o hn - ~ H sterfsi 0.01M a”'E
Technical Specification | - y O1Mp
5 2
- LV Effective basal area 1.7mm
Model Plgg(ngz)e L'}ﬁn?n(ﬁﬁg) Pressti:‘?’aﬂange Options/Description — Ambient Temperature -5~60°C(Not Frozen)
o Port Size Rc(PT)1/4
: Weight 455g
Environment current temperature
CL2000 14" 650 0.15~0.85 5"';090 . . G
T (Not Frozen) Because of gas source or supply line fault which let to operate pneumatic control circuit accidents, tool-lock can maintain
pressure until the gas source or supply lines back to normal.

19

BLCH PNEUMATIC

BLCH PNEUMATIC 20



BLCH Air Source Treatment BLCH Air Source Treatment

A/B Series F.R.L combination A/B Series FR.L combination
Order Code Order Code
BC 2000 O BFC 2000 M
Series Port Size Drain Mode Series Port Size Drain Mode
AC | A series 2000[ 1/4" Nil | Semi-Automatic Type AFC| A series 2000| 1/4”" Nil | Semi-Automatic Type
Air Filter combination ~ 3000| 3/8" D | Automatic Type Air Filter combination ~ 3000/3/8" D | Automatic Type
BC | B series 4000( 1/2" BFC| B series 40001 1/2"
Air Filter combination Air Filter combination
Symbol
Product feature Product feature
. < el - - : Symbol e - o | _
‘ I ‘ 1. The structure is delicate and compact, which is convenient for installation 1. The structure is delicate and compact, which is convenient for installation =
" — ) and application . ) . S and application . w
2.The pressed-in self-locking mechanism can prevent the abnormal 0 ] , 2.The pressed-in self-locking mechanism can prevent the abnormal =
movement of the set pressure caused by external interfere. Lot movement of the set pressure caused by external interfere. 3
3.The pressure loss is low and efficiency of water separating is high. 3.The pressure loss is low and efficiency of water separating is high. =
4.The quantity of oil dripping can be directly observed through transparent 4.The quantity of oil dripping can be directly observed through transparent @
check-dome. check-dome. g
Technical Specification Technical Specification g
Model AC2000 | BC2000 | BC3000 | BC4000 Model AFC2000 | BFC2000 | BFC3000 | BFC4000
Working Medium Air Working Medium Air
Port Size PT1/4" [ PT1/4" EEES [ PT1/2" Port Size PT1/4” | PT1/4" | PT3/8" | PT1/2”
Filter Precision 40umOr5um Filter Precision 40pmOr5um
Range of Regulation Automatic and Semi—Automatic:0.15-0.9Mpa Range of Regulation Automatic and Semi-Automatic:0.15-0.9Mpa
Max. operating pressure 1.0MPa Max. operating pressure 1.0MPa
Proof Pressure 1.5MPa Proof Pressure 1.5MPa
Temperature Range -5~60°C(Not Frozen) Temperature Range -5~B0°C(Not Frozen)
Water Cup Capacity 15CC 60CC Water Cup Capacity 15CC 60CC
Qil Cup Capacity 25CC 90CC Oil Cup Capacity 25CC 90CC
Suggested Lubricating Oil Turbine No. 1 Qil(ISO VG32) Sugagested Lubricating Oil Turbine No. 1 Qil(ISO VG32)
Weight(kg) 0.50kg 1.24kg Weight(kg) 0.44kg 1.06kg
Filter AF2000 BF2000 BF3000 BF4000 Componants Filter-regulator AFR2000 BFR2000 BFR3000 BFR4000
Components Regulator AR2000 BR2000 BR3000 BR4000 Lubricator AL2000 BL2000 BL3000 BL4000
Lubricator AL2000 BL2000 BL3000 BL4000
Dimension(mm) Dimension(mm)
AC series BC series AFC series BFC series
227 88 155
2Rpl/4 99
L 15, N
8- A TR R T
9 S Bea: 2Rpl/4 | .("\.1= -
' Bam: 212 | | ; 1 > . ] . O lel} 1l
= .“7 | e arowme. 213 2wl 4
or ol 1 g

Drain

Drain

21 BLCH PNEUMATIC BLCH PNEUMATIC 22




BLCH

A/B Series Air filter

Technical Specification

Air Source Treatment

Order Code
BF 2000 - M
Series Port Size Drain Mode
AF | A series 2000[ 1/4” Nil | Semi-Automatic Type
Air Filter 3000 3/8" M | Manual Type
BF | B series 4000| 1/2" D | Automatic Type
Air Filter

Product feature
AF series

BF series

1. The structure is delicate and compact, which is convenient for installation

and application .

2.The pressed-in self-locking mechanism can prevent the abnormal
movement of the set pressure caused by external interfere.

Model AF2000 | BF2000 | BF3000 | BF4000
Working Medium Air
Port Size PT1/4" | PT1/4” ] PT3/8” [ PT1/2"
Filter Precision AOumOrs5um

Pressure Range

Automatic and Semi-Automatic:0.15-1.0MPa(20-145Psi)

Proof Pressure

1.5MPa(215Psi)

Temperature Range

—-5~60°C(Not Frozen)

Water Cup Capacity 15CC 60CC
Weight(kg) 0.12kg 0.42kg
Dimension(mm)
AF series BF series
72 965
= l e
#I " -+ ﬂ—-bnur _l
2-fp1/4 raw: 8 |
BF&00: 2-Rpl/2 |

23 BLCH PNEUMATIC

152

Drain

BLCH

A/B Series Air filter—regulator

Air Source Treatment

Order Code
BFR 2000 - E
Series Port Size Drain Mode
AFR| A series 2000] 1/4" Nil | Semi-Automatic Type
Filter-regulator ~ 3000| 3/8” D | Automatic Type
BFR| B series 4000( 1/2"

Filter-regulator

Product feature

1. The structure is delicate and compact, which is convenient for installation

B and application .

il 2.The pressed-in self-locking mechanism can prevent the abnormal
movement of the set pressure caused by external interfere.
3.The pressure loss is low and efficiency of water separating is high.
4.The quantity of oil dripping can be directly observed through transparent
check-dome.

Technical Specification

Mode! AFR2000 | BFR2000 | BFR3000 | BFR4000
Working Medium Air
Port Size PT1/4” | PT1/4” | PT3/8” | PT1/2”
Filter Precision AQ0umOr5um
Range of Regulation Automatic and Semi-Automatic:0.15-0.9MPa(20-130Psi)
Max. operating pressure 1.0MPa(145Psi)
Proof Pressure 1.5MPa(215Psi)
Temperature Range ~5~60°C(Not Frozen)
Water Cup Capacity 15CC | 60CC
Suggested Lubricating Oil Turbine No. 1 Oil(ISO VG32)
Weight(kg) 0.3kg | 0.6kg
Dimension(mm)
AFR series BFR series
H 33 56
8 Lo 8 1.8
= M30%1. 5 . = .
130+1.5 hd |.7H 1O Jou @ R
m _(DM 0T -—3 kit ' 2l /4 '
iy BFRI00: 2-Rpd /8 2-Rpl/4
2-Rpl/4 N = = lewm: Hpl/2 ]
|
A0 i
Drain Drain

BLCH PNEUMATIC 24

o
=

20

uaLeal |

1
+




BLCH Air Source Treatment BLCH Air Source Treatment

A/B Series Air Regulator  order Code A/B Series Lubricator Order Code
BR 2000 AL 2000
Series Port Size Series Port Size
AR | A series 2000| 1/4" AL | A series 2000| 1/4"
Regulator 3000| 3/8" ORI Lubricator 3000(3/8"
BR | B series 4000| 1/2" e BL | B series 40001 1/2"
Regulator | Lubricator
-5
=
w0
Symbol Product feature Symbol Product feature 2
1. The structure is delicate and compact, which is convenient for installation and 1. The structure is delicate and compact, which is convenient for installation and L
application . _<>_ application . 2
2.The pressed-in self-locking mechanism can prevent the abnormal movement of 2.The quantity of oil dripping can be directly observed through transparent 5—
inspection sheet. z

X the set pressure caused by external interfere.
I 3.The pressure loss is low and efficiency of water separating is high.

1
+

3.The pressure loss and the flow of miststart is low

Technical Specification Technical Specification

Model AR2000 | BR2000 | BR3000 [ BR4000 Model AL2000 | BL2000 [ BL3000 | BL4000
Working Medium Air Working Medium Air
Port Size PT1/4” | PT1/4” | PT3/8" | PT1/2” Port Size PT1/4" ] PT1/4” ] PT3/8” | PT1/2"
Pressure Range 0.05-0.9MPa Pressure Range 0.05-1.0MPa
Max. operating pressure 1.0MPa Proof Pressure 1.5MPa
Proof Pressure 1.5MPa Temperature Range —5~60C(Not Frozen)
Temperature Range -5~60°C(Not Frozen) Qil Cup Capacity 25CC ‘ 90CC
Weight(kg) 0.22kg 0.34kg Suggested Lubricating Oil Turbine No. 1 Qil(ISO VG32)
Weight(kg) 0.17kg ] 0.44kg
Dimension(mm) Dimension(mm)
AR series BR series AL series Bl s8FieE
40 40 P65
M - 3 33 56 5 13.5,_14 _16_14
4 3 b ....!_.T.. |
LT 61O '
1.8 .
I sl =
oy ol 2
LRI = ; | N b OUT ah J==
e = = ! & IN = = out BL2000: 2-Rpl/4
B @.} -5 ! BI3000: 2-Rp3/8 |
= e 2-Rpl/4 I BLAOGOD: 2-Rpl/2 = !
2-Rpl /4 | ) o
2-Rpl/8 u : el ©e |
/

25 BLCH PNEUMATIC BLCH PNEUMATIC 26




Air Source Treatment

BLCH

Air Source Treatment

BLCH

FRC Series FR.L combination

Dimension ( mm )

LR Series Air Regulator

Dimension ( mm )

Model A B C

Model A B (& LR-MIDI-02
FRC-MIDI-02 LR-MIDI-03 85 128 55
FRC-MIDI-03 140 268 55 LR -MIDI-04
FRC-MIDI-04 LR -MINI-01
FRC-MINI-01 LR -MINI-02 64 96 40
FRC-MINI-02 104 210 40 LR -MINI-03
FRC-MINI-03 N A : SR - B

el
oes | (I | TN

Symbol | L

=
T o 9}
[ J | EI
Il 2 - 0 Cutlet — B) o
o o] N L
| @
Technical Specification Technical Specification Z
: : Port Size Max. Flow Pressure Range i ipti -
¢ t : g
Model _ omponen s Port Size Ac'zll.:?;c Max. Flow |Pressure Range Options/Description Maodel Rp(PT) L/min(ANR) MP3 Options/Description
Filter—Regulator | Lubricator | Rp(PT) Y [/min(ANR) MPa 01 18" 1000
FRC-MINI g;. LFR-MINI LOE-MINI :ﬁ' 17('?50 Maﬂ'@' il Hrkae 02 1 1690
" é?%ﬁ%&eg? E?Jfélér)e‘ 03 3/8" 1800 0.15~1.2 Ambient Temperature ;
03 . aoum 20 | 15-12 T 02 14" 2200 T ~5~60°C(Not Frozen)
02 174" 1500 - - Suggested Lubricating Oil:
FRC-MIDI 03 3/8" 2000 Turbine No. 1 Oil(ISO VG32) LR-MIDI 03 3/8" 3300
LFR-MIDI LOE-MIDI Optional filter accuracy 5pm 04 172" 4000
04 1/2" 2600
: . _ , . Vi Dimension(mm)
LF Series Air filter Dimension ( mm ) LFR Series Air filter—regulator " " ; .
Model A B C LFR-MIDI-02
- LF-MIDI-02 LFR-MIDI-03 85 268 55
4 LF-MIDI-03 85 195 55 LFR-MIDI-04
Iﬁ 3 l LF-MIDI-04 LFR-MINI-01
r ] LF-MINI-01 LFR-MINI-02 64 210 40
¥ LF-MINI-02 64 161 40 LFR-MINI-03
I l LF-MINI-03 " »
& o 2 5 .
N | |
e = Symbol
liﬂ% I Sym bOI Inlet —-Ei » -(-?}- = 3 Outlet i e ,_ : y
a0 :; L], y -
s i = . Inlet—24 - - - 12 utle
! ‘ _‘. D’_-f-ﬁ{)— =1 Outlet
E : |

| @
|

bids

W

Technical Specification

Technical Specification

Port Size . Max. Flow Pressure Range : S
Model Ro(PT) Filter Accuracy L/min(ANR) MPa Options/Description

01 1/8" 1000
LF-MINI 02 /4" 1200 Ml drein tyge

2 3/8; Lt 0.15~1.2 Ambient Temperature .

02 1/ 40um 1900 -5~60°C(Not Frozen)

03 3/8" 2700 Optional filter accuracy 5um
LF-MIDI

04 12" 3000

2F BLCH PNEUMATIC

f
= B
u
|
LW

Port Size : Max. Flow Pressure Range ; -
Model Rp(PT) Filter Accuracy Lmin(ANR) MPa Options/Description
01 1/8" 750
LFR-MINI 02 1/4" 1400 Manual drain type
03 3/8" 1600 0.15~1.2 Ambient Temperature;
02 1/4" 40pm 2000 -5~60°C(Not Frozen)
" Optional filter accuracy 5pm
LFR-MIDI 03 3/8 3100 p ¥
04 12 3400

BLCH PNEUMATIC 28



BLCH Air Source Treatment BLCH Air Source Treatment

LOE Series Lubricator Dimension ( mm ) IR Series Precision Regulator
Model A B C Specifications
LOE -MIDI-02 Sensitivity within 0.2% of full span
LOE -MIDI-03 85 208 55 Repeatability within +— 0.5% of full span
LOE -MIDI-04 Air consumption IR2000 | MAX flow rate 3.5L/min(ANR) under 1.0MPa pressure
LOE -MINI-01 i IR3000 |Exhaust hole max flow rate 3L/min (ANR) under Max setting pressure
LOE -MINI-02 64 169 40 Ambient Temperature —5~607C(Not Frozen)
LOE -MINI-03 Max. operating pressure | 1. OMPa
Pressure Gauge Port Size | G1/8
A ¢
s Product feature Symbol
L small volume, light weight
3 Regulating screw space width is 0.5MM +
Iniet —{2 - = S| Outet )¢ Accurate Pressure setting E—
] - Install convenience , it can install with bracket separately , or install with — e
| “ | modular air filter combinate components AF an AFM directly standard type Control Valve
Symbol Order Code
o]
<> | L IR 3 0 0 0 - = 02 G - R ;—
- | | | |
'L_l
Technical Specification -
grerie_s_fbae ; Pressure Range Fipe Thread Type Accessories
: i : o Eclsion Feguiatr IR1000/2000 series setti R G Blank | Without
Nt E:?P%m gn??ﬁ(ﬂ&ﬁ) Mll.?rrfllrie.w Pres&&iaﬂange PpnsDescipton 0 o.ms-ozen:: oY N NPT “B | it Bracket  Remark
1 | 0.01-0.4MPa Blank| e o G| With Gauge  Blank| standard Mounting
01 1/8" 1300 Set Type 0.01-0.8MPa 2 R Pressure Gauge. bracket
LOE-MINI /4" 2300 3 Body Sza —— o | Basic Model (manual) f;{smnosm “ o Bracket Code 01 | 1/8(ONLY IR1000) Label Stick In Back
2 02 L Ambient Temperature: 1 | IR1000 Series 1 | Control Valve 0.04 SE;MP "0 i | WithBracket 0 v Note: Th Standard Mounting Position
03 3/8" 2700 -5~60°C(Not Frozen) 2 | IR2000 Series (ir2000,ir3000 | Bt nas J | Without Bracket 04 B{ON Y gs ) Shouid Be 1n Side On The Left, Out
0.15~1.2 N ) 3 | IR3000 Series Series) 1 | 0.01-0.4MPa 1/2(ONLY IR3000) Sida On The Fight . Pressure Gauge
02 1/4" 2800 Suggested Lubricating Oil: > | 0.01-0.8MPa And Label In Front And Back, And
LOE-MIDI | 03 3/8" 5500 8 Turbine No. 1 Qil(ISO VG32) . T MR
o0 T 5100 Technical Specification
) ) ) Model Basic Model
AMD Series Micro Mist Separator IR10C10 IR20C10 IR30C10
AMG Series Water Separator A & Max:8ppiy pressire WAL 0
i Min supply pressure Set Pressure +0.05mpa Set Pressure+0.1mpa
. : IR1000:0.005-0.2MPa IR2000:0.005-0.2MPa IR3000:0.01-0.2MPa
Dimension ( mm ) Pressure Range IR1010:0.01-0.4MPa IR2010:0.01-0.4MPa IR3010001-04MPa
TYPE A | B(withT)| C IR1020:0.01-0.8MPa IR2020:0.01-0.8MPa IR3020:0.01-0.8MPa
AMD150-01/02| 63 195 67 T ~
AMD250-02/03| 76 210 76 & — g g =
AMD350-03/04] 90 540 %0 Sensitivity within 0.2% of full span
AMD450-04/06| 105 263 105 Rep_eatability within +— 0.5% of full span
AMD550-06/10| 122| 295 | 122 Straightness -
Air consumption Supply pressire) 4.4L/min(ANR)within 4.4L/min(ANR)within 11.5L/min(ANR)within
Port Size Rc1/8 Rci1/4 Rc1/4,3/8,1/2
Pressure Gauge Port Size Rc1/8(2point)
Environment And Fluid Temperature -5~60°C(Not Frozen)
. g 2% Weight(kg) 0.36kg | 0.44Kg [ 0.88kg
Technical Specification
_ PortSize | Max Flow | Pressure Range _ - 3L Type Bracker Install In Modular Air Filter Combinate Components
Model Filter Port Ro(PT L/min(ANR Options/Description i sl
p(FT) min(ANR) Mpa e T o lell Applicable Products Applicable Models
01/02 1/8/1/4" Z e And Accessories IR2010 IR30LJI0
R 03 001 3/8" e Manugi chei £yp0 ar ek - AAIr Filter AF2000 AF3000
AMD/AMG250 203 i Wis <00 D eulomatio drain lype H 2 Air lubricator AFM2000 AEM3000
04 | (Remove 12" QiSO | QDo N EicH | | 3L Type Bracket B210L B310L
AMD/AMG350 | 03/04 | 95%) 3/8/12" 1000 s (;otp ,frrozl;)‘ | @T Type Bracket B210T B30T
AMD/AMG450 04/06 1/2/3/4" 2000 Bracket: BM51—BM55 optional 7 t (5'Spacer Y20 Y30
AMD/AMGS50 06/10 3/4/1" 3500 i i 1AF T2arM )/ (6L shape bracket spacer Y20L Y30L
When the flow is lower than 300L/min,please be sure to select normal closed type,the auto drain may always keep haust if select normal opened type. . I (7T shape bracket spacer Y20T Y30T

29 BLCH PNEUMATIC BLCH PNEUMATIC 30




BLCH

Dimension (mm)

IR10(J0-01

Mounting hole

(optional)

Pressure Gauge
{optional)

~ Thickest 4

Pane|

)

Panel mounting hole

Air Source Treatment

IR20(]0-01

Mounting hole

b-)
@V

Panel mounting hole

-
$
=
Pressure Gauge =
= -Iﬂ!\l =}~ (optional)
e Panel |
Lacleaad

Drain Port
— . |
SUP(1) ouUT(2) ol 11 AT
= £ -
"y Jr"' . -
i 35
543 |\ 2xRecis
m Port Size
Port Size 2xRc1/4
Port Size
IR30J0-001
82

Mounting hole

Bracket
(optional)
Panel mounting hole

Thickest 4

SUP(1)

—_—

66

31 BLCH PNEUMATIC

M6 = P0.5
m
e
-
==}
i
2| ar
ouT(2) 1 EXHE)
g
i o~
\_Rc1/2
Air outlet
2xRc1/4~1/2
2xRc1/8
SR e e Part Size
Port Size

BLCH

SFC Series Two-point combination
Dimension ( mm )

Air Source Treatment

lnle:—‘l -

Symbol
Technical Specification
Components Port Size | Filter [Proof pressure | Pressure Range Obti _—
tions/Description
- Filter—Regulator| Lubricator | Rp(PT) |Accuracy MPa MPa pioe/Desctlp
SFC-200 SFR-200 SL-200 1/4" Ambient Temperature:
-5~60°C(Not Frozen)
SFC-300 SFR-300 SL-300 3/8" 40um 1.5 0.15~0.85 | Environment current temperature:
- Turbine No. 1 Qil(ISO VG32)
SFC-400 SFR-400 SL-400 12 Optional filter accuracy 5

SFR Series Air filter—regulator

—= Qutlet
Symbol
Technical Specification
Port Size : Proof pressure Pressure Range ; i

Model Rp(PT) Filter Accuracy MPa MPa Options/Description

SFR-200 1/4* Ambient Temperature:
—5~60°C(Not Frozen)

SFR-300 3/8" 40um 1.5 0.15~0.85 Environment current temperature:
Turbine No. 1 Qil(ISO VG32)

SFR-400 12" Optional filter accuracy 5

SL Series Lubricator
Dimension(mm)

Inlet —=s -

Technical Specification

Port Size Oil drop amount| Proof pressure Pressure Range : o
Model Rp(PT) Umin(ANR) MPa MPa OponsRescipion
SL-200 1/4" 0~30
Environment current temperature:
SL-300 3/8" 0~40 1.5 0.15~0.85
—5~607C(Not Frozen)
SL-400 12" 0~45

BLCH PNEUMATIC

32




BLCH Air Source Treatment BLCH Air Source Treatment

UFRL Series Three—point combination UF Series Air filter
Dimension ( mm) 71
Dimension ( mm ) 5 et outes
251 70 2
192 B4 W m s Inlet =1 -E;- Paf == Outlet
i B wmnrtl) B ||l - ;
ey I‘L 0| S 5 o] 2 ° . ﬂ@, o Lol e
L Lh@}!‘ 5O b .I.» O“_"‘“h I,Q o 8 B i 3 2 il ._ "_?P"*I"?'H'B PPN e :|_I l : k2
|:1| § O ;5| | H‘ S T | L
HQJ m Quﬁ 1 'S m:v Symbol
Symbol wia [ UF-02/03/04 UF-06/08 "
0 - 0 UFRL-02/03/04 UFRL-06/08 | ; f
S
. — Technical Specification =
Technical Specification P 3
Port Size : Max. Flow | Pressure Range : . 3
Model Components Port Size | Max. Flow |Pressure Range Optiona/Descrption Model Rp(PT) Filter Accuracy Umin(ANR) MPa Options/Description ]
Filter | Regulator | Lubricator | RP(PT) |L/min(ANR) MPa UF-02 1/4" 2440
UFRL-02 UF-02 UR-02 uL-02 /4" 2080 Semi-Automatic Type(standard type) UF-03 38" 2450 Semi-Automatic Type(standard type)
" D:Automatic Type D:Automatic Type
FRL-03 F-0 R- L-0 3/8 2100
i W3 i i g H: High pressure series UF-04 12" 40 um 3030 0.15~0.85 H: High pressure series
UFRL-04 UF-04 UR-04 uL-04 172" 2600 0.15~0.85 Ambie% 'I[;?meeratu)r; UF0B v pr— Suggested Lubricating Oil:
-5~60"C(Not Frozen - i : i
UFRL-06 UF-06 | UR-06 | UL-06 3/4 7940 Suggestad Lubricating Ol Tusbing o T.OKISONGER)
Turbine No. 1 Qil(ISO VG32 UF-08 g 8860
UFRL-08 UF-08 UR-08 uL-08 a 8200 uroine io. 100, )
UFR/L Series Two—point combination UFR Series Air filter-regulator
Dimension ( mm ) Dimension ( mm ) i
.| .
" N
Il 185 s | *‘@f\‘J
[|Outiet wizel, 5L (T Th= Intet J| Quile .
Clutiet i . - = '
g "7#%"} < 7
=1Ll
Symbol = B
0 1 ] . Drain =
LT - — UFR-02/03/04 UFR-06/08
Technical Specification Technical Specification
Components Port Size | Max. Flow Pressure Range : ros Port Size < Max. Flow Pressure Ranae i g
Model Fiter—Regulator T Rp(PT) | L/min(ANR) MPa Options/Description Model Ro(PT) Filter Accuracy Umin(ANR) i g Options/Description
UFR/L-02 UFR-02 uL-02 174" 2080 Semi-Automatic Type(standard type) UFR-02 174" 2080
UFR/L-03 UFR-03 UL-03 3/8" 2100 D:Automatic Type UFR-03 38" 2100 Semi-Automatic Type(standerd type)
H: High pressure series D:Automatic Type
UFR/L-04 UFR-04 UL-04 12" 2600 0.15~0.85 Agnbei.g% 'Ir':aTFperatu)r; UFR-04 " 40 um 2600 0.15~0.85 | H: High pressure series
UFR/L-06 UFR-06 UL-06 3/4" 7940 gu;g este(d Eub;f;;?;g Oil: UFR-06 3/4" 7940 Suggested Lubricating Oll:
UFR/L-08 UFR-08 uL-08 1" 8200 Turbine No. 1 Oil(ISO VG32) UFR-08 1" 8200 Trbine o, 1 ORBOVEES)

33 BLCH PNEUMATIC BLCH PNEUMATIC 34




BLCH Air Source Treatment BLCH Air Source Treatment

UR Series Air filter—regulator FRL700A Three—point combination

Dimension ({mm ) |——* . .

Dimension ( mm ) - :
|
Symbol T I AR
" a i et (e H ~Outlet ! @ E
L. = o - T n 5 ™ T .Ig I T 11 & T
e S 1] [ = I
| || t | | | - e e
il ) i
3 T i Technical Specification
| 23 .
[N . WY | fraamil 4l & & |4t -+-3
Inlat — i Qutlet| \\_,Jﬁj Infet—=—| [‘ @ b Outiet 3| Components F'ort Size Max FiCIW P
2 L il ' ressure Range Options/Description
Symbol S uE L] Model Filter__| Regulator | Lubricator| RP(PT) |Umin(ANR)|  MPa E 2
ymbo ' Sami - =
I: i emi-Automatic Type(standard type) =
eI FRL700A-01 F200A R200A | L200A 1/8 1850 IS TEN Deratr 7
_E_ 0.15~0.85 | -5~B0°C(Not Frozen) =
\I " Suggested Lubricating Oil: Q
e FRL700A-02 F200A R200A | L200A 1/4 1850 ®
Turbine No. 1 Qil(ISO VG32) =
Technical Specification 3
Model Port Size Max. Flow Pressure Range Options/Description FR L600A TWO_pO]nt Comblnatlon -
Rp(PT L/min{ANR 5 R
p(PT) min(ANR) MPa Dimension ( mm ) P
UR-02 1/4" 2100
UR-03 3/8" 2130 Semi-Automatic Type(standard type)
D:Automatic Type Symbol
UR-04 12" 2750 0.15~0.85 H: High pressure series . :
7 u Ambient Tem peratur; -
i G AHOH -5~60°C(Not Frozen) = 77
UR-08 1 8500 ] £
-..gq -t
L
Technical Specification
Components Port Size | Max. Flow | Pressure Range : s
Model :
UL Series Lubricator Filter—Regulator |  Lubricator Rp(PT)  [L/min(ANR) MPa SpaasEh s
: Dimension ( mm ) FRLG00A-01 FR500A L200A 18" 1650 Barni<Aufomaiic Tynelslandiard tod)
I 0.15~0.85 | Ambient Tem peratur;
FRL600A-02 FRS00A L200A 14" 1850 ~bG0Nat Frozen)
' . : i L85 455
FR500A Air filter—regulator Dimension ( mm ) =
Symbol Symbol e
Q [Ur-oziosi0a]
-
Technical Specification i
Technical Specification
Model Pori(SIZ)e Lh/ﬂax (E?q\';) PreSSLrJ\;I% Range Opnonsmescnp“on S p
Rp(PT min a Port Size 2 Max. Fi Pressure Range : o
Filter Accurac Sl g Options/Description
UL-02 74" 2490 : : Hogel Rp(PT) ¥ Umin(ANR) MPa P P
- H: High pressure series
UL-03 3/8 2525 Ambient Tem peratur; ' i
uL-04 12" 4310 0.15~0.85 —~5~60°C(Not Frozen) FRS00A-0T1 /8" 1840 Semi-Auytomatic Type(standard type)
UL-06 34" 8400 Suggested Lubricating Oil: 40um 0.16~0.85 | Optional filter accuracy §
P Turbine No. 1 Oil(ISO VG32) . Ambient Tem peratur:
uL-08 1 9000 FR500A-02 1/4 1940 —5~60°C(Not Frozen)

35 BLCH PNEUMATIC BLCH PNEUMATIC 36




BLCH

NR200/R200 Air Regulator

Technical Specification

Dimension ( mm )

Inlet —— =

Air Source Treatment

i - : s
Model ngﬁs,%e L?An'?;‘r(f\lsl\g) PreSSl;;l%aRange Options/Description
z B installed fixed frame
NR200-02 174 550 G with pressure gauge
Ambient Tem peratur:
NR200-CU 1/4” 1000 0.15~0.85 -5~60°C(Not Frozen)
CU safety valve, when the pressure
R200-02 1/4" 1200 is higher than the set pressure,
automatic pressure relief
. . ’ i 455
F200A Air filter Dimension ( mm ) '—*‘
il
Inlet—= | - Qutlet
Symbol I
Technical Specification :
Model ng(gjlg)e Filter Accuracy Lr}ﬁrﬁfn&ﬁ";) Press%iaﬁaﬂge Options/Description
F200A-01 1/8" 1900 Semi-Automatic Type(standard type)
Optional filter accuracy 5
40 um =
! RlReaEs Ambient Tem peratur;
F200A-02 1/4" 1900 -5~60°C(Not Frozen)
R200A Air Regulator Dimension (mm ) |[—*%— p—
Hl Il
‘ ".|| il ||1Tg
Symbol 5

Technical Specification

Inlet———} —}——@— - F —=Outlet 1= [

Port Size Max. Flow Pressure Range - ioh
Model Rp(PT) Umin(ANR) MPa Options/Description
B installed fixed frame
R200A-02 1/4" 1546 0.15~0.85 G with pressure gauge
Ambient Tem peratur.
—5~60"C(Not Frozen)

37 BLCH PNEUMATIC

BLCH

4000-5000 Explosion proof aluminum cup

Product feature

1.Can replace the traditional PC cups

2.Applicable for PH and corrosive high places

3.Equipped with a safety catch and glass observation tube
4.4mm thickness desigh than the traditonal PC cups of strong
resistance to pressure, to ensure the safety of personnel and

equipment
5.Removing easy to install, easy to clean

IS1000 Series Pressure switch

SHAKO Series Aluminum cup

Air Source Treatment

Product feature

BP Series Automatic drain

1.Active cleaning of water and oil in air pipeline, prolong the service

lif of air parts

2.No need to plug in, Light weight shape, Easy to install without

space constraints
3.0perating pressure

4.Operating water volume: 10-15cc/time

/,Straight terminal Technical Specification
p r[l Model 151000-01
[onT] ! [ ey Proof Pressure 1Mpa(10kgf/cm?)
+— | Max. operating pressure 0.7Mpa(7kgf/cm?)
'ij “; Setting pressure range 0.1~0.4Mpa(1~4kgf/cm?)
_ 1ipa & Pressure difference 0.8kgf/cm’ within
;"C_H Contact la
[ o Electrical current temperature Direct line type
¥ = Fluid Air
U— | Ambient Tem peratur -5~60°C(Not Frozen)
15 | 2 Port Size Rp(PT)1/8(Male thread)
Pressure switch feature
Maximum capacity of contacts 2VAC, 2WDC
Voltage 24VAC, DC within 48VAC, DC 100VAC, DC
Maximum current 50mA 40mA 20mA
Vibration resistance 30G

BLCH PNEUMATIC 38

Wiesl| 82Inos Iy

d

U3




39

BLCH PNEUMATIC

BLCH

CONTROL COMPONENTS
I

BLCH BExR51

BLCH

3V series Solenoid Valve

Control Components

NO NC
Model Port Size Coil and Postions Ways Freesure Fiange
Re(G) MPa
3V1 'gls T y;., Single coil double positions
3vV110 L i Single coil double positions
06 1/8"
M5 | M5 . i
3vV120 Double coils double positions
06 1/8" p
3v210 s i Single coil double positions
08 | 1/4"
06 1/8" i
3v220 o T Double coils double positions 3/2 way 0.15~0.8
4" . ) =
3V310 1 L Single coil double positions
10 | 3/8"
08 1/4"
3V320 10 38" Double coils double positions
3v410 10 3/8" Single coil double positions
15 1/2"
10 3/8" ; i
3v420 . = Double coils double positions
15 1/2
3v.2 10 08 NO O O O
model code Series Electric control ~ Port Size Initial state Voltage Connecting Port Size
made Type
10:Double
positions
single electric
control
M5 M5
1.100 series 0s 1gr [NC:Nommaly :: ggig\f
: 36 losed : UL2 Nil:G Port
3V:3/2 way 2.200 series—i 08 1/4" cos_e ype c. actiov | NIL:Plug Type PT Port
3.300 series 10 38+ |NONomallyl g = acoqy | EWiring type | \p1
4.400 series 20:Double 15 12" apen type F. DC12V
positions
double electric
control

BLCH PNEUMATIC 40

SIS0

D

SiUsuog



)
o
5
=
e
o
o
3
0
]
3
o
=
=
7

BLCH

Dimension ( mm )
3V110DIN Plug Type

/8

3-M5

06: 3-PT

. 3V110-M5.
V110

3V210DIN Plug Type

‘quide hole!

W5X0.8(External

Optional

guide hale)

@|=
g
oo i
i g
| |ols | 5
Vsle BH-— 5
I w
o | s
S5 EmAL :
! -l 2
Ls= P N ERS
=3 Manual |
s rle :
[5) 2 |
o T4 :;f |
L b Do 1 el
T 7
2-04.2/] B2 |
i 1 | 17"
Symbol/typd 3¥210-06 [3V210-08
A 27.7 28.7
B o 1.5
G 22 225
D 16.7 16.5
3V310DIN Plug Type
@
2o 53 2
b} -—40 g
il paicin
1) ®
@S [ E |
O 5@
slo ,EE o5 g
Mmm =3
== £1'~ g }
& Eﬁ{f‘zﬁ_.a J glS o
lo Manusl pri J-Q '(3 » @f
:Ef" 3 8 ] €&ll3
3] > )
% E 414 o RIS
| ! |
f 2-0473 0.5 08:0 |
40 10:2 20
=22

41 BLCH PNEUMATIC

3V120DIN Plug Type

Control Components

2
w 2 58 g
=S|- 34 =]
o [e G
Gl b b
. R | £ ﬁ
! = . 4O
| 3¢ | {5
=g 28 fbslo
H = =i |
Tom | | i
P o oS
L o £
Sls  2-03.7] N5 |2
Manual pin @,I
% : “ |
i -
2 Wl | s o
28 g s | = e
311 i i
M5:0 i | el [M5:0
06:2 7 L131]o6:1
P 18]
3V220DIN Plug Type
8
o gz
el 67 3
ol T g
o 5
[=](=] =
11 = Ll
o o
[ lin] o
SS g
® ﬁj_ﬁ =
2-04 1"¢ o
—— o] o
Maruial pin - 4
N
= ¥
1 e
<D
|
35
Symbolftype| 3V220-06| 3V220-08
A 81.4 82.4
B (4] 1.5
C | 22 22.5
D | 702 70 2

3V320DIN Plug Type

T @
s 40
>
fee]f=}
Qe
ol b=l
__"_NN
- o
0 I £ Pes)
ey 2-04.3)" 5
= 108 |§F
f,b o i L by
Manual pin 2 1
= |
~
oo S 1
40 |

o
2
(4]
k=]
=
{=s
g
&
<
@l ]
&
S8 hans
& A
L)
€
|
P
@ e
L !
08:0
10:2

BLCH

4\ series Solenoid Valve

Symbol

Two way single coil

Two way Double coil

B
L
i

a0 "
[

Three way(closed)
A B

Three :vva‘y(exhausl)

Control Components

Three way(Central compression)

AB AB A B
3 el 1] [} e N JURSS
E1SE2 E1S E2 E1SE2 E1SE2 F1SE2
1 2 3
Technical Specification
Modal Port Size Coil And Postions Ways Pressure Range
Re(G) MPa
4110 M M5 Single Coil Double Positions 5/2 Way
06 1/8"
4v120 M8 M5“ Double Coils Double Positions 5/2 Way
06 1/8
06 1/8" ; ; 4o
4v210 08 4" Single Coil Double Positions 5/2 Way
06 1/8" ; 22
5/2 Wa
4220 08 T Double Coils Double Positions Yy 0.15~0.8
4V310 e L. Single Coil Double Positions 5/2 Way
10 3/8"
4v320 5 LlL Double Coils Double Positions| ~ 5/2 Way
10 /4"
4v410 :2 ?:2 Single Coil Double Positions 5/2 Way
4AV420 :g ?g Double Coils Double Positions 5/2 Way
4Vv130 e hih Double Coil Three Positions 5/2 Way
06 1/8"
" 1 ~\
4V230 S ”8" Double Coil Three Positions 5/2 Way i
08 1/4 C : Closed Type
08 1/8" ) - E : Exhaust type
4V330 10 3/5" Double Coil Three Positions 5/2 Way P : Pressurized Type
10 3/8" . »
4V430 15 2 Double Coil Three Positions 5/2 Way

Order Code

4v 2 10 08 [0 O O

model code Series

Electric control mode

10:Double positions single electric
control
20:Double positions double

Port Size Voltage

Connecting Type Port Size

1.100 series

|4V. 5/2 way | 2.200 series
5/3 way | 3-300 series
4.400 series

electric control M5 M5 A. AC2z0V

30C:Three positions double 06 1/8" ) 2 0.

electric control closed type 08 1/4" g nglg\a’ Nil:DIN Plug Type E{'IF(’; Port
30E:Three positions double 3 I:Wiring type art
electric control exhaust type 10 3/8* | E: AC24V NPT
30P:Three positions double 15 172" F. DC12v

electric confrol Pressurized type

BLCH PNEUMATIC

42

g
h
(@)
o
=3
o
fe]
=
L1
=
w




Control Components

) = 75 ZITId=8\ FILL "] ZITId=5 FILT =
b= ) ] ; o ! s
a — 4 <t e | i Ao W Hrde SIS SN H i R ER = il
E : A AN i >® f i - Jrr
o i i
o = I - @]
rw =
-
d _Hm | _ r.N._
: m | _ 1 :
..m B ELL Ty ' ' I%\ 20 und (ENLEY 1 XL
o | = t | 7 = I ]
(&) < o <) ™ @
r~ — | e e B =) . ] [ ||| =]
ml ] " ~
5 5k
§G0-¢ 8z vi6 §G5d-¢ 8z 76
8'¢ed 8'Eve
o @ o
o o 1 o
= = =
[ - [
g o 2 T zL vSL g 2
o m o m o m
z g z 8 z 5
= o el
S S 3
=T =t = i)
= M = W W @
= ol = @ = S|®
3 8 = g 5|8
=& = W 2|8
v-z\g-%\ __676 7=2\d—E\ . (M7
T pod ¥ SR L=
1
Gt vl Ll vl
_ 061 60¢
ﬁ [VE:] %.I ﬁ 66 %.I
= ..IL uid [enugpy 1..|w ud Enuepy T,
o .J o o = |
o o = e o =
e e | | ] | _.ﬂ..u. e e e e 1 | 7
A—¥ - g
2 EVO®-C vz 8¢ B EVYO-C ¥z 68 2 EVYO-C ¥ 6z8
o L'B6 = =
(= ~ (=
=)} o " =)}
o o i o
_ z z feq z
S g ____ewido / S
B = S PO EURIE OXSN 2
=% = =
| =3 = =3
vy
—
=
@
=
o
3
3 V=\g-B\[ 758 1 AN > W S 2
e | I = T ml | I =L
£ it odT1 P~ I )
= =) s 3] = e
= =13 vis 9€ VLS
(o]
C (-]
_ E E
Il i 1] =)
‘) | ! R | o _ : 08 . ||
0 -I.H&.l-lﬂ_— ¥ a Mﬁ m4 .3__ o Dﬁ
14} fih] e @ S 1% S
Tw _W mwe:m“wowﬁ vGL Tw % s
Evro-Z 0Z v'aL
W Mu (VAN mlu. 061
o o T
P = =
a o CY
- 8 2
S 8¢ [\ S X
s (3|0 BpInd [Bwspg 8 0xXsn = = { 840 3P _mEo:@m.ux.mE BE v'99
P ZrL,
geo—¢~ [Pl 29
B @ Mﬂ_
B i orm
2] €
& B  anE
; 1R = s
2 g | 2 g
m = > > =
~ - N T —— - o
— §ey o - o z
il < = m | _E_ I mw = a
O & o | _ | B o T
B = z — 5 _ z =
C '\ o o e
L O o o
o 2 3
= i

Control Components




BLCH Control Components BLCH Control Components

6V series Solenoid Valve 4M series Solenoid Valve
Symbol Symbol
10 20

AB A B
RPS RPS

Technical Specification

ot SRR g Port Size i , Ways Pressure Range
Technical Specification Model RC(G) Coil and Postions y P
. 06 1/8" . ; ”
- | Max n;;ﬂnfpmse — 1\._'\I'ork|ng Working | Action | Enerdy presoie || P :;E'lsltance e 4M210 08 /4 Single coil double positions 5/2 way
Maodel Size | Postions l?rzzﬁ‘e[:cgy (ms/05 Range p:rr‘;rure Medium Made consumption Range level grade 06 1/8"
Mpa Thne) o aM220 == o Double coils double positions 5/2 way
110 5 08 /4" IR
5/2 way 4M310 10 38" Single coil double positions 5/2 way
120 5
08 1/4" ; -
4M320 = Double coils double positions 5/2 way
110|130 |G1/8 3 10 3/8
06 i i it 0.15~0.8
4M230 " Double Coil Three Positions 5/3 way 15~0.
130E 5/3 way 3 08 1/ Closed Type
08 1/4" ; i Exhaust Type
= - ; am330 (2 e Double Coil Three Positions 5/3 way Eiveeitionn i -
E 20 018~ |-5-B0C Air g}:g‘mal 120 AC:£15% [ 0y o B No 2
=3 0.7MPa | (Not Frozen) Tupe (optional) | DC: £10% need REE I g =3
3 i . Order Code ~
Q 5/2 way 9
= =
b 220 5 aMm 3 10 10 O O O B
= =
@ | D
7 210 | 230c |G1/4 3 | &
230E 5/3 way 3
o 3 Model Code Series Electric control mode  Port Size Voltage Connecting Type  Port Size
o 2.200 series 06: 1/8° A: AC220V -
wa ! i 4 ;
4M; . Sroodecrocoma |98 14 B: DC24v Nil:DIN Plug Type | o ort
5/3 way | C: AC110V it PT Port
i i 20; Double positions 08. 1/4° E. ACZAV I:Wiring type NPT
ensior Am doubl : f
Dimension ( mm ) 3500 satiae ouble sectic conrol | I 1 ey
" |
l/J Dimension ( mm )
= amz10 Terminal Type Wiring type 4M220  Terminal Type Wiring type
— L
h;‘ﬂ. S
-
u - E
-83.2 t e o
S it Py iy
*@j 2-94.3 - a<>a =T | *

38
r]}— D
'\\-\_
21
2
o]
102.5
36
2
&
b
g
i

—
36.5

o e
u o4 g 1
=] .
~ " - M0 Terminal Type Wiring type 4mazo
7 17
22

45 BLCH PNEUMATIC BLCH PNEUMATIC 46




BI CH Control Components BI CH Control Components
2V series Solenoid Valve 3A series Air Control Valve
] & Rl Order Code
Technical Specification Jrder Code
Model Port Size Coils and Postions Ways Waorking pressure range 3y 2 10 08 NO [
Rel(G) MPa
06 1/8" ‘ ‘
2V025 Single coil double positions | 2/2 way 0.15-0.8 : -
08| 1/ | : ) |
model code  series Mode of air control ~ Port Size Original status  Port Size
T 2 1.100 series| 10:Double positions | mMs mMs | NC:Normally
Dimension(mm) 32way  |2.200series| Singlecontrol | 06 /8 | closedtype | blankG Port
60.7 i — 08 1/4 NO:Normall PT Port
. 3.300 series| 20:Double positions | 10 3/8 ' Y NPT
% P s 4.400series|  Double control | 15 122" | OPentype
: Ty . .
T L]l | |
ol | Y [ {C&* . s .
5% ‘ : @ Lo Symbol
HE g = 5
= § | 4 L 10-NO 10-NC 20
] N LV E N AV R R
ST e e ™
R~ A I 5w s S A O
| lechnical Specification
Q . . < : 3. 4 Port Size s tle Working pressure range 9
3 Solenoid Valve Coll Technical Specification Model RC(G) Switching Mode Ways o El
=5 =
le) Max. Flow M5 M5 o
g Mogect Umin(ANR) 3A110 06 /8" S
3 ith terminal
2 AC220V = 3A120 o MS,, ?,
{% with wire 06 1/8 g.
ith terminal 06 1/8"
ACT10 wiI - ern'-nna 3A210 08 ‘”4"
with wire 06 /8"
i i 3A22
p oAV e . 08 /4" Air 32 way 0.15~0.8
with wire 08 1/4"
e with terminal R0 10 3/8"
with wire 3A320 08 14"
10 3/8"
. R 10 3/8"
HSV series slide Valve Order Code 3A410 ¢ =
. HSV. - 06 SF 3A420 : g ?ﬁ -
Series Code  PortSize  Thread Type
MS:Aluminum 06:1/8" 5S:Double Male Thread Type
BNS:Brass 08:1/4" SF:Male and female Thread Type
10:3/8" FF:Double Female Thread Type D”-n el lk%i(}ﬂf I -”'n}
15:1/2"
3A210 3A220
L& oo =)
cE Pms Gla  2-pTyB
: ical Specificati Jimension(mm) e ) el : 7
Technical Specification Dimension(mm) i ¥ B .o o T .
& ©|o = = g 7|5 c = r
Model HSV-06SF/SS/FF | HSV-08SF/SS/FF | HSV-10SF/SS/FF | HSV-15SF/SS/FF il T [ S L 3 | LY S | /
ode . : . E HSV-08SF | 59 | 26|32 1.3 .9® S5 1—36 & 2 i ' -
Fluid Air HSV-10SF | 59 | 3132 fi1.3 . e | " o le AETTY | I é g
Port Size 1/8" | 174" | 3/8" | 12" HSV-15SF | 91| 39[49 [12 = i A I " ! S ”
.n—@f o |
Proof Pressure 0~1.0MPa =l % o }:9 | ggg@ll—':? o] g2@ ||
Working temperature range -5~60°C(Not Frozen) ; 2_‘3:3/ 84 p——— = I lo6:0 T L :"i S8 AR
Niar taa oy Body HSV: Aluminum Alloy BHSV: Brass 2 a5 17_1[08:1.5 | :'L i 1 'ul- i
dain iateria - 22 e : 5 !
e e R o <88R
22
47 BLCH PNEUMATIC BLCH PNEUMATIC 48




(9]
=]
=
s
)
o]
g
£
@
=
@

BLCH

4A series Air Control Valve

Dimension ( mm )

Control Components

Model 4A110-M5 4A110-06

A M5x0.8 G1/8
B 27 28
C 14.6 14.1
D 0 2
E 30 30
F 134 13.1
G (0] 3

Symbol

y 10 20
APS i RPS i
30C 30E 30P
Order Code
4A 2 10 08 []
T 1 ] |
|
model code series Electric control mode Port Size Port Size
1.100 series | 10:Double positions single electric control | M5 M5 )
aA: 32way 35 2.200 series |20:Double positions double electric control 06 1/8° EITa;gr? Port
' y way 3.300 series |30C:Three positions double electric control closed type ?g ‘;g: NPT
4.400 series |30E:Three positions double electric control exhaust type 15 ’?}2-

30P:Three positions double electric control Pressurized type |

Technical Specification

Port Si Wl Worki essure range
Model %c(c:;‘ g Switching Mode Ways LHIng E/:Pa H g
M5 M5
4A110
06 1/8"
ap120 M i3
06 1/8"
an210 20 e
08 1’ m 3/2 way 015"08
an220 28 E
08 1/4"
08 1/4"
4A31
=1 10 3/8"
08 1/4" Air
4A320 10 v
44410 15 1/2"
47420 15 1/2"
44130 M5 M5
06 1/8" 0.15~0.8
an230 6 I
L 1 ; 5/3 way C:Closed Type
4A330 08 1/4' E:Exhaust Type
10 3/8" P:Pressurized Type
ana30 |9 3/8"
15 142"

49 BLCH PNEUMATIC

BLCH

Control Components

13.7

4A110-M5(06)
i PT1/N28
: 1 . -
T sl "j? ) 3
¥ ) : T3
L - I i U 4
- ¢ : A
s Ll _—
__lﬁ.e. e e 2 11
1 E _'"$'; J I e
. 3 8 |
| er___ __M b e Fat
11 ] 3! g ‘ ¢
~ ~ [ LI .-
d i '“! b = :[ @: &
jiA
i —
7
4A120-M5(08)
2-PT1IB28
T
o i
9 |
S b |
e |
mE Jl
L 1 i:
?} e
o
P
bl
4A130-M5(06)
o 2-PT1R28
L TTY R
o | 4
I '
; 3 ]
| T I
l € !LEi I
i = P F- -
@ 54881 "
| M ERERaE — 1
(=] P- L | ; | |
dall [ il
1 :
il
8 |

28

4A210-06(08) 4A310-08(10)
: 1-PT1/5-28
Cgl ,
:.,‘ E : :i a PT1828
o | ale ] ! LW _ .
i b - I -I:l H l:l .!- o)
: i ' el a| ¥ e
W e 1 ; - ! o
o 4 _} ! : “ =
! Y e | fg(“ T j
P . o Bo ! o= v
_l_ in'* ; A o J l|.! B "l).
o] [ -0 | ] LR S g ! |a
= - = | 4=
Q& —,':“ ] E ] o ¢ "5 O
T - T s =14 -E- i
= = 1R H IR
b H ] s ]
7. A o 5 ss’
-—L..| 21 =
4A220-06(08
(08) 4A320-08(10)
L
' 2 .‘; 2-PT1/8-28 PT1IB-28
7] | ' '
| =g T o b
1Y o | w 8 |3
: : i g1 g
b ﬁ\ﬁ | i
; = N L
o [l A % | &2 Fiut @
b > o e h e I
. S| 8 2! e
H | I o fiou
! Oi; s L : = o Yyl
I ¥ TLEE Huk R
2 % 3 _:‘ i im0
ted i i
17 L
35
e
4A230-06(08
-06(08) 4A330-08(10)
" 2-PT1/8-28
T j’ ;
Ll e :
E Lt
ra - . 2PTHB2E .
'y I "
! s e
9|, el R Ak
v | ' H ! |
i P O | K
; i v b TP -
8 f T — \ ni- I I ey
i i3 s 1fm 1A 1 eL
4 =k ] ] | am
A 1 s | t | T Y
| N 5 M
i $|I"_t D! . —k@L: JE ®; |d
i ° r i b | 2 5! p Wk
[l Tl A0 3 5 i1k
! 1 "'E ™ i“& lLA .‘I La
17 L il 2 «
l‘;“ | il ol

BLCH PNEUMATIC 50

sjuatiodwo) |08U6H




BI l :H Control Components BI l :H Control Components
VT307 series Solenoid Valve ASC series Flow Control Valve B
lechnical Specification
Dimension(mm)
il Model ASC -06 ASC-08 ASC-10 ASC-15
Working Fluid Air
Port Size 1/8" I EE L
Pressure Range 0~1.0MPa
Temperature Range —5~60%C(Not Frozen)
Bod i
Main Material : y Aluminum alloy
0 Oring NBR
o0
0 ~ L
Symbol Order Code
@ ASC200 - 06
i - : Series Port Size
24 ] r| Lo A 06:1/8"
[ 08:1/4"
‘ 10:3/8"
| 37 15:1/2*
Technical Specification
; : . Effective cross sectional : i noj T
e Imension(mn 2]
g Model Using Fluid Pressure Range Port Size area ( OV value ) Tripod Dimension( 1) g
g VT307-[1A-01 = = Model A B C D E F G H K L =)
g VT307-01A-02 Compressed Air| 0~0.9Mpa(0~9kgf/cm?) 1/4 1/8 3.9(0.21) DXT152-25-1A ASC100-06 22 32 18 18 23 43 457 523 10 18 §
3 D-Means using voltage A-Means mode of power connection Ordering example:Order 3/2 way solenoid valve ASC200-08 26 36 1/4 22 27 4.3 49.7 56.3 12 18 R
3 G=Direct outlet type Voltage: 110VAC. Direct outlet type,Port size 1/8 ASC300-10 30 40 3/8 24 29 43 51.7 58.3 13 12 3
73 3=110VAC The right model ASC300-15 s
4=22VAC
5=24VDC :
e RE series Flow Control Valve . |
Technical Specification
= x e : Model RE-01 RE-02 RE-03 RE-04
Technical Specification
Working Fluid Air
Working Medium Compressed air, inert gas Port Size 1/8" | 1/4" | 3/8" | 12"
Switch mode Normal closed or normal open Pressure Range 0~1.0MPa
environment and fluid temperature -5~60°C(Not Frozen) Temperature Range -5~60°C(Not Frozen)
Reaction time Maximum 20ms Vi Kt Body Aluminum alloy
Max operating frequency 10 times/second Oring NBR
lubrication No need
Manual operation Button type without lock
Shock resistance 15G/5G(40~1000Hz) i ] :
i Bhix proeh Symbol Order Code " s i
10 | eer
? 7 T 1/4PT
LE " (T ' 8P
. ) E . RE 2 01 m| O I T il {‘UEPT)
Coil specification = o e " p Lo
eries 8] 1Ze ¥ :‘%‘f- |
Connection mode Direct outlet type 01:1/8" l J BLCH | RE® QI ;@
Connection mode Alternating current:110V,220V(50Hz) Direct current. 12V,24V 02:1/4" A . 6
Voltage variation range =15%~+10% of rated voltage gz?j " ' '
Insulation degree Grade B or equivalent Dimension(mm) '
Temperature rising -5~607C(Not Frozen)
e Alternating current Start:12.7VA  Lasting:7.6VA L -~ . E = 2 <
¥, Direct current 4.8W RE-01 43 48 44 19 18 19
Over voltage suppressor Ac: varistor DC: diode RE-02 43 48 i 19 18 19
RE-03 56.4 63 53 25 24 25
RE-04 56.4 63 53 25 24 25
g BLCH PNEUMATIC BLCH PNEUMATIC 52




BI CH Control Components BI CH Control Components
3H/4H series Hand Lever Valve Dimension(mm) DS3000/VF3000 series Solenoid Valve
Model D A|B | €| E|F J | R1|R2|R3
4H210-08 4 | 35(76.3] 22 |945| 21 | 21 [R1/4|R1/4|R3/8
4H310-10 4 (40|92 |27 |100| 28 | 28 | R3/8 | R3/8|R3/8 S
4H410-15 55|50 (124 34 | 105|28.2|34.6 | R3/8| R3/8|R3/8
. E
T [ D
. w2 | 8 n
Order Code @— ] 4'___% |1 =2
e 3w
Symbe! 3H/4H 2 10 - 08 i s D
A B 3H:2/3  Series Code Position Code Port Size @ i \
\ i 3/2 way 1:100 series10singleand  06:1/8" g_c— A S =
\ / 4H:2/5  2:200 seriesdouble positions 08:1/4"
T . —|— 5/2 way 3:300 series 10:3/8" Symbol
R P S 4:400 series 15:1/2" R
Specification Two way single coil Two way Double coil Three way(closed) Three way(exhaust) Three way(Central compression)
nedl 3H210-06/08 3H310-08/10 3H410-10/15 AB AB A_B A B
4H210-06/08 4H310-08/10 4H410-10/15
> k.
Working Fluid Air EiSE? Eﬁimﬂﬂ E1SE2 E1SE2 E1SE2
Working Mode Direct Acting type 1 £ 3
o CV Value(mm®) 16(CV=0.89) 25(CV=1.4) 30(CV=1.68) o
g Port Size 1/4" 3/8" 12" g
3 Working pressure range 0~0.8MPa 3
o Working temperature range -5~60"C(Not Frozen) Order Code 2]
5 Operating Angle +5 g
i DS3
g Main Material B°‘.’V Allinicn Aoy 8 §
o Oring NBR VF3 130 4 G _B 02 i
- 1 1 T ] -
|_ 4'_ y H d V | Series Coil and position number Standard voltage Conductive form Manual operation Port Size
3 / series man alve . . 130:5/2 way single~head double-position 3:110VAC  G:Direct wiring type 02: PT1/4
Dimension(mm) 230:5/2 way double-head double—position g 553\6%0 DDIN sockettype
wlEE g |R1| R2 | R3 330:5/3 way double—head three—position closed type  g: 12vDG DZ:DIN socket type with light
Model 4D E J|HIRTIRZIR 430:5/3 way double-head three—position exhaust type
41210-08 4 |135(100/22|63|20|21|17 ;118 1/4|1/4 530:5/3 way double-head three—position pressure type
A4L310-10 | 4 |40 116/ 27 | 95 24.3 28 | 19 |1/4|3/8|3/8
4L410-15 | 5.5| 50 [154| 34 1143/ 28 | 35 | 24 53!'8 1/211/2 4 3
o Technical Specification
Cimvibi B Fluid ' Air Connecting Type Direct wiring type/DIN socket type
Symbol Order Code pareme Standard voltage AC : 110V, 220V(50Hz) DC:12V,24V
A ' aL 2 100 - 08 i_— T ALISAt ompamixe Max 50°C Voltage variation range | —15%~+10% of rated voltage
X / 3273 Series Code Position Code Port Size "”: ol lubrication No need Insulation over voltage | Grade B or equilvalent
‘\ /‘ 3/2 way 1:100 series 10sigleand  06:1/8 ool 1T Manual operation Screwdriver locked type Power AC | Start:5.6VA Lasting:3.4VA
1N 5] 4L:2/S  2:200 series double positions 08:1/4" ! . consumption DC | 1.8W/2W(With indicator light)
e Aoy 2300 woes i | | Shoock resistance 30G/56(8-3-2000H2) Over voltage suppressor | Ac: varistor,DC: diode
AN kst . Seal Dust proof Indicator light | Ac: neon lamp,DC: light emitting diode
Specification
Model 3L110-M5/06 3L210-06/08 3L310-08/10 3L410-1015
€ 4L110-M5/06 4L.210-06/08 41310-08/10 4L410-10/15
Working Fluid Air
Working Mode Direct Acting type Specilications —_—
CV Value{mm®) 16(CV=0.89) 16(CV=0.89) 25(CV=1.4) 30(CV=1.68) Model Number of o Operating pressure range o OPEralion | oy | Effective cross—sectional | Weight
Port Size /8" 174" 3/8" 7" fpostion Bedreegio ol kaficr(Mpa) e e ()| e eeong) | Size | aeam (CVvake) | (kgf)
Working pressure range 0~0.8MPa DS/VF3130-JAB-02| 2 | Single coil 1.5~9(0.15~0.9) | 30 or less 5 PT1/4 17.1(0.95) 0.21
Working temperature range -5~60°C(Not Frozen) DS/VF3230-1AB-02 _ 2 Double coils 1~9(0.1~0.9) 30 or less 5 PT1/4 17.1(0.95) 0.29
Operating Angle +5 DS/VF3330-00AB-02 | 3 | Double(Central closed) 1~9(0.1~0.9) [ 50 or less 3 PT1/4|  13.5(0.75) | 0.42
Main Material  |-20%Y Aluminum Alloy DS/VF3430-C]AB-02 | 3 | Double(Ceniral exaust) 1~9(0.1~0.9) | 50 or less 3 PT1/4]  17.1(0.95) | 0.42
Q1) HER DS/VF3530-01AB-02| 3 | Double(Central pressurization) | 1~9(0.1~0.9) | 50 or less 3 PT1/4]  16.2(0.9) | 0.42
53 BLCH PNEUMATIC BLCH PNEUMATIC 54




BI l :H Control Components BI CH Control Components
Dimension(mm) DS5000/VF5000 series Solenoid Valve
3130 Wiring type 3130 Plug Type
! | : I
= ' el [ IO [
| | | | i
L i 1 L
| I = b ﬁ i
| IPTI4 2 @ q3 E [ i
) : E — E ﬂ I - T T-GLL F I
e (] I i + | a o |
=R e - PEH i e,
éa = z @gi-‘ P i & : ]
@ 3 | . g I = ?
i : . ; L f g N. ; [.. _%I
P ns 5  — O EIL] [EH] = o
x x M L= =) === Symbol
Two way single coil Two way Double coil Three way(closed) Three way(exhaust) Three way(Central compression)
3230 Wiring type 3230Plug Type AB % A B A AB
—i=h } 1S E2 E1SE2 E1SE2 E1SEZ EISE2
g tee] ! g
= [ =
g ' : 8
& | | N Order Code g
3 | I i E
§ = EH 3PT14 I . Dss g
] i # _VF5 120 4 S B 03 g
2 3= 1l =l | . j 8 rz -
¢ [ o]
4 e Series  Coil and position number Standard voltage Conductive form Manual operation Port Size
3 . i i iti 3:110VAC G:Direct wiring type 03: PT3/8
: | 28 . 120:5/2 way single co|l.doub|e posrt_lc_m 2: 220VAG i socket?ygep
[ 220:5/2 way double coil double position 5:24VDC D;Z‘DIN iy it
| | 320:5/3 way double coil three—position closed type ~ 6:12VDC : ocheYRe WY
: | 420:5/3 way double coil three—position exhaust type
@ 520:5/3 way double coil three-position pressurized type
= =
Technical Specification
3330/3430/3530 Wiring type
Fluid | Air _Connecting Type Direct wiring type/DIN socket type
prm— —" | Standard voltage AC : 110V, 220V(50Hz) DC:12V,24V
bbbt gl Max 50 Voltage variation range | -15%~+10% of rated voltage
lubrication | No need Insulation over voltage Grade B or equivalent
l Manual operation | Screwdriver locked type Power AC Start:5.6VA Lasting:3.4VA
I T consumption DC 1.8W/2W(With indicator light)
i I 30G/5G(8.3~2000Hz . :
| Shock resistance ( ) Over voltage suppressor | Ac: varistor,DC: diode
g Seal | Dust proof Indicator light Ac: neon lamp,DC: light emitting diode
| =
1 @.__: J
A S
| Model Number of - Operating pressure range e Max operation | | Effective cross-sectional | Weight
l | IIDt‘J@iﬁCn"l Blectromagnetic col kgffem:(Mpa) Reaction tims () fﬁ.gwmm Size |areamm’ { CV value (Kaf)
I | DS5/VF5120-CJAB-02 | 2 Single coil 1.5~9(0.15~0.8) 30 or less 5] PT3/8 45(2.5) 0.38
| ] i DS5/VF5220-JAB-02 | 2 | Double cails 1~9(0.1~0.9) 30 or less 5 PT3/8 45(2.5) 0.45
[oi] i | DS5/\VF5320-JAB-02 | 3 [ Double(Central closed) 1~9(0.1~0.9) | 50o0r less 3 PT3/8 36(2) 0.53
.5 —— - DS5/VF5420-14AB-02 : 3 Double(Central exaust) 1~9(0.1~0.9) 50 or less 3 PT3/8 41.4(2.3) 0.53
i ! n‘ ﬁ DS5/VF5520-]AB-02 | 3 Double(Central pressurization) 1~9(0.1~0.9) 50 or less 3 PT3/8 36(2) 0.53
ob BLCH PNEUMATIC BLCH PNEUMATIC 56




BLCH Control Components BLCH Control Components

Dimension(mm) VFA series Air Control Valve
5120 Wiring type 5120 Plug Type s
429 40.7
f - - ® ar
] l l 3 IW—
=hek o ) et | EAL
g [ A i1 b
= 3= L3 |R= e 4 o
N 5 [ =N et
T i 8- all el 4 = L5200
| : ] & |
mﬁ ' = ==l Symbol
VEA3 130 VFA3230 VFA33ID VFA3430 VFAISI0
VFAS120 WFASZ20 WFAS320 WFAS420 VFAS520
5220 Wiring type 5220 Plug Type ”:m T fJe- ..mn. “‘45“@ ﬁ[g;g« M,{g“i D[g}:‘ iy Sgllgrp
gty 429 _— L APS APS ) FS == o B
4 :
2:2 __3_0_1! s ﬁ - Jios -
= . | Technical Specification =
g | ' S
B : 2
3 M5x0.8 1 specification =)
o g1 5-PTas i , o
§ (=] " o Model Number of positions Pressure Range |Air Control Pressure Rangef p. gize Effective cross—sectional ]
8 [%— =k o MPa(bar) Mpa(bar) area mm’ (CV value ) B
= i - e =
2 g J = b & & ' y VFA3130-02  single control 2 positions PT1/4 18(1) £l
i Fld 2 o [ e e VFA3230-02  double control 2 positions| PT1/4 18(1) &
| — VFA3330-02  double control 3 positions{ PT1/4 18(1)
| Ogr | 4 i VFA3430-02 | double control 3 positionsl PT1/4 18(1)
| 5 5 VFA3530-02  double control 3 positions] AEB8) *(0.04xP+0.1)~0.9 PT1/4 18(1)
i | VFA5120-03  single control 2 positions (0:4xP+1)-9 PT3/8 45(2.5)
= P VFA5220-03 | double control 2 positions| PT3/8 45(2.5)
32 45 o VFA5320-03 | double control 3 positions{ PT3/8 45(2.5)
VFA5420-03  double control 3 positions‘ PT3/8 45(2.5)
VFA5520-03 | double control 3 positionsl PT3/8 45(2.5)
5320/5420/5520 Wiring type 5320/5420/5520 Plug Type : s
— Dimension(mm)
6] | e VFA3130 VFA3230
i ; - 2-G1/8 Normal close
| 2-G1/8Normal close 2-G1/8
! 2-G1/8 - e t -
ll ! — ! p— [ 5 LG I 2-PT1/8
% - S =S | 3z 3-PT14 j:
;‘}—l@ i ) i . % o ? = 3-PT1/4 = ‘_L o o I g | 7 > E,, =
wn i & |— @ )| i) =] ) I
=[] | o oL | #T4 CPNe = g L e s
. P G&@'—N if==N g;':gi A = © éa@i _I:_%:IG & 'G'Pj @
| o . e d - ity [ :
2 : ] s ] €l g |° LR
: = | | 20 || 31.5 8
i 20 31.5 K1
| | o = 26.4 35
_3.6_.
L 45 | i

57 BLCH PNEUMATIC BLCH PNEUMATIC 58




BLCH Control Components BLCH Control Components

| VFA3330/3430/3530 | VFA5120 | H i
el Manifold series Technical Specification
Model a3viooM | 3vzooM | 3Vv300M
Working Fluid Air(to be filtered by 40 u m filter element)
2-G1/8 Temperature Range -5~60°C(Not Frozen)
30 Applicable valve ) ) )
L L 3 body series 3V100Series 3V200 Series 3V300 Series
i I I_“ 2-G1/8 Normal close G118
: - ! ™ va Product Feature
: 2-PT1/8 ' 5-PT3/8 [x. cf
| 3-PT1/4 O | | =] 1. The same series of directional control valves can be integrated into the
| = -04, Ive group to save space and cost
=] 72 mi_z . '"E" E@ : : 2-©4.3 val
o = 0 % © @ g o - % [ E? BN 2. Unified air intake and exhaust, unified wiring, easy to find fault
TR S| T E HE HoERe o & o |7 L] 2 = | o 3. Flexible combination and strong expansibility. The number of directional
@ . o D : o sl 2 = control valves connected can be arbitrarily combined or expanded
=~ RIS @ ™ ! O d C
of | NP 314 g 8 2o || g 1 rder Code
gl (B : @ = n' - g@ . - T : tr>1| ' The model expression method includes base and block plate
L[ ¥ 8 5[ 9 — < o f @ = Base model representation
! pi i = B | block plate code
i t = .32 24 3V100M — 5F - o 3V100M - B
i1 ) 1]
20 1l
6.4~ - B JeE2 ’ T T
Series connection code Port Size Specification code Block plate code
3V100M: 100 Base series 1F: 1pcs blank: PT Port 3V100M: 100 Base series  B:base of plate code
o 3V200M: 200 Base series  2F:2pcs T:NPT Port 3V200M: 200 Base series o
= 3V300M: 300 Base series === G:GPort 3V300M: 300 Base series =l
5 16F: 16 pcs 2
=] =
& remarks:1. The base assembly includes base, gasket and screw g
g 2. The bloke plate assembly includes base, gasket and screw g
=3 =
@ Dimension(mm) @
For 3v series solenoid valve
5 H
N ] P
VFA5220 VFA5320/5420/5520 5
 — {}
i | 1|
> M A
Lo S il e
S0 I [ | | <
_ 22 30 _ 1 a IR
A-GilGNammaiclose. 5 g .
| [ I
T T T |
] 5-PT3/8 Ll ; D
: : [ |5-PT3/8 £
I— N:'}iii 4.5 ]: 63% Model | A |[BlC|DJ|E] F 6] H]Jt] o0 [K[LIM][NTPJQ[TJU] VvV [ W
L =t
o | @? 8 @(—'"3 1—*£ o & m 3V100M| 19.5 | 22 | 85| 7.5 | 24 | G1/4 | 25| 81 27 | 1314|139 | 32 | 45 10 18| 5| 18 [ 19 | 22.7 | 88.4
" = ¥ | [=1]
o L L {f o = 5|3 é;\a = 3V200M| 22.5 | 25| 10 | 8 | 29| G1/4 | 25 | 92.7 | 35 | 162.4 | 45 | 40 | 45| 12 | 22| 6 | 22 | 23 | 27.7 | 109.4
b= O
bt g! - % ‘| g 3v3oom| 26 | 28| 12 8 (36| G3/8 | 29| 99.2 |40 | 1748 | 52 | 47 | 45| 135 | 27 | 6 | 27 | 27 | 32.5 | 119.9
2o &
| g @ O@s R
p I Model
% : 5 e o L e Job L 4 | B [ OF | vE I 8F | 9% L Aok ) WIFTE AR | Aok AF ) W8 | R
iy @ © = % 3v100M| 28 47 66 85 104 123 142 161 180 199 218 237 256 275 294 313
fg " & 3V200M | 34 57 80 103 126 149 172 195 218 241 264 287 310 333 356 379
| I | | I 3V300M| 42 70 98 126 | 154 | 182 | 210 | 238 | 266 | 294 | 322 | 350 | 378 | 406 | 434 | 462
24 2.2
32 = S

Model T3 T 3F [ 4F | 5F | 6F | 7F | 8F | OF | 10F | 11F | 12F | 13F | 1aF | 15F | 16F

3vi00M| 38 57 76 95 114 133 152 171 190 209 228 247 266 285 304 323
3V200M| 46 69 92 115 138 161 184 207 230 253 276 299 322 345 368 391
3V300M| 54 82 110 138 166 194 222 250 278 306 334 390 390 418 | 446 474

59 BLCH PNEUMATIC BLCH PNEUMATIC 60




Control Components Control Components

BLCH

2L series Solenoid Valve

BLCH

2W series Solenoid Valve

Order Code Symbol Order Code Symbol
2L 170 = 15 —  AC110V = F
w025 — 10 ACtV  — D = - T e T
port size 1 T A ’7 = " A
4 s tandard voltage Wiring Form;
i 06:1/8 No: Normal opened o I ) 3 o i : I
Oistomm  OBVA'  No: Nomalcosed Deiov T ampy: Load wire col = oo fow degtet pa ze o s S Type ram G
025:2mm 1 GfSFB: DC24V D: joint connector -l;- 200: Qﬁm 15:1/2" AC24V 50/60Hz ) Y -I'!"-
025:2.5mm L3 AC24V 50/60Hz  N: explosion- proof coil 300-30mm 20-3/4" AC36V 50/60Hz
040:4.0mm gg;?{_‘* AC36V 50/60Hz E: water— proof coil 500-50mm 25-1" AC110V 50/60Hz
160516mm 35;1 g AC110V 50/60Hz 35:11/4" AC220V 50/60Hz
200:20mm 101" Jo AC220V 50/60Hz 40:11/2" AC380V 50/60Hz
@) 250:25mm 0:1" 12 AC380V 50/60Hz G o
=) 35095 50:2" 50:2 o
3 . Mokl Specification Code: 32
= ggx 2L:Steam type two positon two way solenoid valve =
0 g o
(=] o
= 3
8 g
@ @
2 2
ow w
Dimension(mm) Dimension(mm)
! ! Wosel | A B c _[D KPT)
40 1/8" .
2W025-06 66 303 75 5 L} = = = 5 KFD
2W040-10 | 74 322 855 525 38" oabiiall Ve o i i i)
< - 2(170-10 125 22 146 82 12
o 2W160-15 | 1015 57 117 69 172 4
2W200-20 107 57 1235 73 A 2L170-10 125 42 146 82 4
- = - 2L170-10 136 52 162 905 1"
2W250-25 | 1115 735 1345 % 1 =
. : W350-35 142 %5 172 123 1A 2L170-10 148 74 185 111 1-1/4
' 300 ; 2L170-10 148 74 183 111 =12
Lo ceieal ] & s i L L 2L170-10 176 945 223 163 2
' 2W500-50 | 172 123 209 168 >
Lo o . - L -l 1
- L] - - X
Technical Specification
: : rking |Operating Max working  |operating Technical SD ecification
Workin Action | model | flow | 2 bod seal rin
Model o g type o diameter | Cv value | port size | fluid pressure wg':;fj?e temperature| voltage mat:rial it a?
| P mm viscosity |kgf/cm® ngfcm? T range ; ; flow working | Operating | Maxworking | working operating saal iR
2W025-06 25 0.23 1/8" Model =~ Working | Action | model | giameter | Cv value | port size | fluid pressure |pressure tenwanml voltage mb"date" cial mateﬁa?
2W025-08 25 0.23 1/4" 10 Fluid type type mm viscosity | kgf/fem?® |kgfflem® [T range
2W040-10 4 06 38" %S_‘;ST i - 2w i 2L170-10 17 48 358"
2W160-15] air water| direct 16 48 172" il BRASS; 2L170-15 . 17 4.8 1/2"
2W20020) g oy | current | nomal 5o 7.6 34 g%'g’ afr%*"'s 5-80 | x10% |2s; EPOM 2L170-20 m:mr Guide EE}’:‘:' 17 48 34" | 20CST
2W250-25 type closed 25 12 ¥ e = g Stainless | OR 2L200-25 | gt | Drive | oo 22 12 T (Below) | 1-15 | 225 |-5-180C| =10% | Brass | (PTFE)
2W350-35 35 24 174" o gas 105 steel VITON 2L300-35 30 20 1-1/4"
2W400-40 40 29 7z | (Below) 2L300-40 30 20 1-1/2"
2W500-50 50 48 2" 2L500-50 50 48 2

Mon-standard voltage and specification pls contact us Mon-standard voltage and specification pls contact us

61 BLCH PNEUMATIC BLCH PNEUMATIC 62




BI l :H Control Components BI CH Control Components
2S series Solenoid Valve PU series Solenoid Valve
BLCH
MODEL U0 R
VOLTAGE ACZ2ON
Order Code Symbol _
y Order Code Symbol
25 050 10— AcCHov — D
T T -[ T _‘:‘_ PU 220 — 03 —_ AC220V
flow diameter standard voltage Wiring Form: LA — —r e e &
015:1.2mm port size pciav Blank: Lead Wire Type 1 - T
020:2mm 06:1/8" DC24v D: Join Connector P standard voltage e ]
025:2.5mm 08:1/4" AC24V 50/60Hz E: Blast-proof Coil 220:Guide Type port size AC220V <
040:4.0mm 10:3/8" AC36V 50/60Hz G: Water—proof Coil 03:3/8" AC110V
160:16mm 15:14/2" AC110V 50/60Hz 04:1/2" DC12v P
200:20mm 20:3/4" AC220V 50/60Hz 06:3/4" DC24V
250:25mm 25:1" AC380V 50/60Hz 081"
350:35mm 35:1/4" 12:1-1/4"
g’ 400:40mm 40:1/2" Specification Code: 14:1-1/2" Q
= 500:50mm 50:2" PU:two positon two way solenoid valve 20:2" =,
§ SPU:stainless steel two positon two way solenoid valve E‘_,
) Specification Code: o
5 25:two positon two way solenoid valve(direct drive type) g
g g
@ ©
= =
@ 7]
Dimension(mm)
Dimension(mm)
Mol | A B c D K(PT) e .
2802506 @ 66 303 75 405 1/8" ;
25025-08 66 303 75 405 1/4" |
i 25025-10 | 74 322 855 525 38" I P oraze | A B 5
| 25025-15 : 1015 57 117 69 12" 1 - PU220-03 @ 38" 66.5 1065 48
25025-20 107 57 1235 73 34" H PU220-04 T3 865 1065 a8
25025-25 | 1115 3735 1345 29 ks PU220-06 3 %‘ 1% 70
25025-35 142 95 172 123 11/4" PU220-08 T % 126 70
e . - PUZ0-12 | _1-1&" | 131 | 1455 %
25025~ 1 1 | Port A ' PU220-14 | 1-1/2" 131 1455 9%
b €] . PU220-20 2" 160 1605 112
- c - - -
Technical Specification ' ——
Technical Specification
] flow working | Operating | Mexworking| working operating flow working Operating | Maxwordng | working
Model =~ Working |  Action model | Giameter Cv value | port size | fluid pressure |pressure |temperature| voltage bRy 5 sesl ring Model ‘;\:og g | Action type| model type | diameter | Cv value | port size atenial fluid pressure | pressure | temperature
Fluid type type mm viscosity kgt/cm? kgficm ol [l range materi material | g mm viscosity kgf/cm* kgfiem . j o
25025-06 25 0.23 1/8° 1 ' ' PU220-03 13 4.5 3/8"
25025-08 2.5 0.23 1/4" &-7 10 PU220-04 13 45 1/2"
e rter T PU220-06 ]
25040-10 . Nibmai 4 0.6 /8" 20CST . oW: PU220-06 Alr, Guide Normal 25 12 34
25160-15 aiids | thee 16 48 172 ] (Bolow) | ar> BRASS; | NBR PU220-08 | fuater Type Shoss 25 12 s Brass 50CST | 05-10 15 -5-80C
25200-20 gmr' Bive: | Type 20 76 34" | socST | "0-7 5-80 | £10% |28 g’;DM PU220-12 ' po 38 22 1-1/4"
25250-25 eam 25 12 1" (BelOW] 9“ Stainless VITON PU220-14 38 30 1-1/2"
2S350-35 35 24 1/4" C?;ss 10.5 Steel PU220-20 50 48 &
25400-40 40 29 172" "0-7 -
5550050 50 a8 o MNon-standard voltage and specification pls contact us
MNon-standard voltage and specification pls contact us
63 BLCH PNEUMATIC BLCH PNEUMATIC 64




(9]
=]
=
S
()
o
g
@
=5
@

BLCH

Parts of Solenoid Valve

Control Components

Coil series

T R

lron core series

Diaphragm series

65 BLCH PNEUMATIC

BLCH

HV series Hand Rotary Valve

Control Components

g"f’l':'ll"n )|
A B
& J’\/< W
PR
Order Code
HV - 02
Model Port Size
02:1/4"
03:3/8"
04:1/2"
Technical Specification
Model HV-02 HV-03 HV-04
Working Fluid Air
Working Mode Direct Acting type
Port Size 1/4" 3/8" ] 1/2"
Working pressure range 0~0.8MPa
Working temperature range -5~60°C(Not Frozen)
Lubricating No Need
; ; Body Aluminum Alloy
Main Material :
ain Material |-~ i NBR

Dimension(mm)

4-114PT
4-3/8PT
4-112PT

1
|

e

6]

1

bt

1

j

W 2

b\ N \?
-

—

R

1

T

i
61.3x61.3

=
P L

Tdx74

BLCH PNEUMATIC

4-%%c
14

66

sjuatiodwo) |08U6H




BI CH Control Components BI CH Control Components
4HV series Hand Valve FV320/420 series Foot Valve
Technical Specification
- s AB Model FV320 | FV420
' 4 [ Working Fluid air ( filtered by 40UM sieve
[ jo ( )
Q‘"ﬁg’/ — . - ports and positions 3/2 way 4/2 way
— = 4 FR PR
ol ;ﬁé " Action type directly operated type
&, v Port size 06:G1/8 | 08:G1/4
=\ _‘g" — Operating pressure 0~0.8Mpa
- 7 working temperature -5~60T(28~140° F)
o J' J Order Code Lubrication oil not need
g
4HV 2 30
Model Series Positions
2:25eries 10:4 port 2 position
3:3Series 30:4 port 3 position
4:45eries
Symbol Order Code
Technical Specification
% FV 420
o Model 4HV200-06 | 4HV2(-08 | 4HV3[I[J-08 | 4HV3I[-10 | 4HVACIC-15 | 4Hva[)[3-20 rvszo ] [\ T —I_ 9
2 | . PR !
=1 Working Fluid Air Specification code ways =2
g Positions 4 Port 3 Position/ 4 Port 2 Position FV: Foot valve 320: 3/2 way g’
= " u " " u w 3 420: 4/2 way
3 Port Size 1/8 /4 /4 3/8 1/2 3/4 .
3 CV Valve(mm?) 14(0.78) 16(0.89) 30(1.67) 33(1.83) 88(4.89) 95(5.27) Fyva20 \'/:EX];R}” ?,
7 Working pressure range 0~1.0MPa &
Proof Pressure 15kgf/cm?
Working temperature range —5~60"C(Not Frozen)
Operating Angel 90°C . . _
Weight(kg) Dimension(mm)
) . Body Aluminum Alloy
Main Material T Nylon FV320 FV320
Dimension(mm)
--------- —1 8 g e
Model A B & D E F G H I J K L M N 72
4HV2[ ][ ]-06 726 45 | 1.5 |PT1/8[ 11.5| M34x15 |925| 5 62 | 49 | 40 3 49 62 | 120 T
4HV2[][]-08 726 45 | 1.5 |PT1/4{11.5| M34x15 |925]| 5 62 49 | 40 3 49 62 | 120 (122) (122)
4Hv3[][]-08 885| 56 | 1.5 |PT1/4]13.5| M40x15 | 104 | 66 | 74 | 62 51 3 62 74 | 140
4HV3IC-10 885| 56 | 1.5 |PT3/8{13.5| M40x1.5 [ 104 [ 66 | 74 | 62 | 51 | 3 | 62 | 74 [ 140 ® O I
AHVA[][]-15 110.3] 72 2 |PT1/2| 18 [M452x 15| 126 | 6.6 | 102 | 89 64 3 81 94 | 160 2 ]
4Hv4[ ][ ]-20 110.3] 72 2 |PT3/4] 18 | M52x 1.5 | 126 | 6.6 | 102 | 89 64 3 81 94 | 160
. | (1200 | \ 2-PT 1/4 | (120) | 3-PT 1/4
¥ I F T 1
P | pT 174 | PT 1/4
‘ / N |
5 i T
< 8 8
5/2-Ms %1.0 2-M6x1.0 /
67  BLCH PNEUMATIC BLCH PNEUMATIC 68




BLCH

4F/FOV series Foot Valve

Technica

Specification

Control Components

Model 4F210-08 4F210-08L | 4F210-08F 4F210-08LF
Working Fluid Air(to be filtered by 40 u m filter element)
Action Mode foot control directly—action type
Port Size() PT1/4
Position 5/2 way

Pressure Range

0~0.8MPa ( 0~114psi)

Proof pressure

1.5MPa(15bar)(215psi)

Temperature Range

—5~60°C(Not Frozen)

body material

Aluminum alloy

lubrication

No need

(T)port thread have NPT G thread option

Order Code
with lock 4F210

Symbol

Without lock

Ll LA

Product feature

Model

4F210:5/2 way foot valve

08 _‘L_
model code
blank : basic type

& ; 3 . ; ) L: with lock type
> 1. aluminum pedal, directly—action design, stable and reliable. Port Size  F: with guard type
(=} 2. if the reversing time is longer, you can choose the lock type. 08:G1/4 LF: with lock and guard type
Q 3. The locking mechanism is stable and reliable, and the unlocking is light and fast.
= But limited by the size of the structure, can not withstand frequent strong shocks
% 4. High strength plastic protective cover available
& _ :
Inner construct No. | item No.| item No.| item
1 |axle pin 8 O Rring 15 | spring
2 countersunk screw snap ring| 9 front cover 16 | washer
3 spring 10 | piston 17 | round-head screw
4 E type snap ring 11 | bottom cover 18 | small foot shim
5 |pedal 12 | Ctypesnapring| 19 | round-head screw
6 | Axis core 13 | silencer 20 | bigfoot shim
7 | O Rring 14 | base

Dimension(mm)

E 5 ' -‘.I | . Ll!lﬁ--;r

245

69 BLCH PNEUMATIC

4F210-08L

73
-

245

BLCH

FV/3F/3FM series Foot Valve

Technical Specification

Control Components

Model FV-02 | 3F210-06 | 3FM210-06 | 3F210-08 | 3FM210-08
Waorking Fluid Air(to be filtered by 40 u m filter element)

Action Mode foot control directly—action normal closed type

Port Size 1 G1/8 | PT1/8 | G1/8 [ PT1/4 | G1/4
Position 3/2 way

Pressure Range

0~0.8MPa(0~114psi)

Proof pressure

1.56MPal15bar)(215psi)

Temperature Range -5~60°C(Not Frozen)
body material 3FM:plastic; 3F:Aluminum alloy
lubrication No need
1port thread have NPT G thread option
Order Code
FV 02
Series Port Size
FV: 2 way 3 positions 02:G1/4
Sylﬂ bol foot valve
(@)
. 3FM210 - 08 U S
S
AL | | -
Series Port Size Model code E
3FM:2 way 3 positions  06:G1/8 3FM:no this selection 3
foot valve mini type 08:G1/4 Blank:basic type =
2 way 3 positions L:with lock 3
foot valve %
Dimension(mm)
FV-02 3FM210-06
3FM210-08
71
06:2-G1/8 72
‘il 08:2-G1/4
o sl
—L 1 - -
93 Ll.. 20 =}
114 104 el
3F210-06 3F210-06L
3F210-08 3F210-08L
71
| 06 2-PT1/8
._ 8-08: 2-PT1/4
© ©] (&7 wl
i} =
- i == |
18 | |
83
| He

BLCH PNEUMATIC 70



BLCH Control Components BLCH Control Components

VMZ200 series Mechanical Valve S3 series Mechanical Valve

Technical Specification

Technical Specification

Working Fluid l Air Inert gases
Working pressure Range | 0~1.0MPa Model 838 ] S3C [ 53D | 83V [ S3R | S3L | S3Y |S3PM|S3PP|S3PF|S3PL[S3HS
Invironment and Fluid temperature | -5~60°C(Not Frozen) Woarking Medium Air ( Filtrated by over 40um’ s sieve )
= z Acting type Eeternal control direct acting
Effective sectional CV valu 2
SRR R v e 19mm (1.0) Port size 1 05. MS5; 06.G1/8;08.G1/4
Port size PT1/4 Effective sectional area | 05:2.5 mm’ (Cv=0.14); 06:8.0mm° (Cv=0.45); 08:12.0mm" (Cv=0.67)
Qil Su | 2 £ Ways number 3/2 Way
pply No need ( Oil supply using ISO VG32 ) Tabicaton Ne v
Working pressure range 0~0.8MPa
Gurantee pressure 1.5MPa(215psi}
‘ % Working tempurature C -5~60°C(Not Frozen)
Model codes Body material Aluminium alloy
vM2 3 0 02 01 s 1! Port type has G type for choosing
12 If adding lubrication, don’ t stop midway, lubrication is ISOVG32 or same type.
Ways
2 | 2way Drive type
3 | 3way Connecting port size Basical lype
02| PTI/4 01 | Roller lever type Symbol Order Code
02 | Unidirectional roller lever type
05 | Straight plunger
06 | Roller plunger S3 PM 06 R
Symbol 07 | Transverse plunger ' Ewictin s . S
08 | Toggle type Driver marks P = oA A P S3. Stype 3/2 way
Q 30 | Buttor il S | Roller material. Hard steel Structure code Q
=1 32 Head out type R Red , =
3 ?UPG Flat type e I 1. B: Basic type Mechanical valve Bttt ' g
P Kn _B [Bonl Bk C: Long handle type hand valve utton® s color =
9 A A A 34 ot type(2) G |color Green . D: Short handle type hand valve Model type | Button® s color 9
_g 35 Knot type(3) M Yellow Resersing stroke Y: Rocker type hand valve PLiyPE R:Red _g
36 Lock knot type(2) A R: Roller lever type Mechanical valve \ R:Red
S 1. external force required by S3B. S3R. S3L. S3V Vs Bromsoiabig it i PE\PF G.green
2 40 Foot lever type series are Provided by external agencies; used in PL: Ll i i B:black 2
s 5 2 s : : : &
. : position detection or position switch PP: Rai I Other type | No this code
imension(mm : Raised button type hand valve
Dimensio ( ) 2. S3PF. S3PM, S3PP. S3PL. S3Y. S3HS, S3C. PF: Flat button type hand valve L Port size
S3D series are manual type, Multiple structure shape PM:Mushroom button type hand valve T —
Basic type control head, convinent for using in different conditions. HS:Selecting type hand valve OCO8 Ser1e8 | Eoaes
Roller lever Kont(3ways) 3, Cut-off structure, Good sealing, Commutation flexibility, 104 series ggfg:’,g
VM230-02-00 VM2%0-02-01(S) VM230-02-35 1 /VM250-02-35 ] No need to add lubricating oil 200 series |—em T —
M3 % F.O.F=52N(0.5MPa) 4, S3C. S3D, S3Y, S3R. S3L series’ control head are
PT.=3mm 17 roller metal type, long life, and More reliable and stable

O.T.=2mm Y Panel installation hole
T.T=5mm /| S

by = h_ exhaust hole

. 8 y

» i

Resersing stroke B fmm
" § ¢ PT.=6.5mm g model  [spool stroke | pushbutfon stroke  [spool stroke [pushbution sfroke roller(hand shank)stroke
¢ O.T.=4.5mm S38 2.4-4.0 - S3R 2.4~-3.4 5.5-7.8
e| -~ Ne | S3PF 2.4-4.0 3.8-54 S3L 2.4-3.4 6.0~-8.6
S e Eatinm S3PP___ 2.4-4.0 3.8-5.4 53V 2.4-38 3.4-4.8
na S3PM 2.4-4.0 3.8-54 S3C 2.4-3.8 14.4~18.4
& S3PL 2.4~4.0 5.9-7.5 S3D 24-3.8 7.4-9.4
F ! S3HS 2.4-4.0 5.1-6.7
Pedal type Unidirectional roller lever type -
haust hole :
VM230-02-40 VM250-02-02(S .
S 3 ( ) 51?'&{]3; only for Sways
T L Sl Flow characteristics
/ b—b—t} by o L
ach =3
H = % : !
i .4 i ; , Model ; S3B-05 o S3B-06 Model: S3B-08
gl | J | 2] 0.8 a ' — 0.8
0.7 | 0'?\“‘\ 0.715 + 1
17z F.O.F=65N(0.5MPa) o o :-—:‘\\ ~ & gg\ \\ = os\\\
- X T 7 o 0.5 1 E i
ek F.O.F=40N(0.5MPa) = 04 ; = 04— — Sy E—— \
PT.<7mm g ® 03— SN 2 03 ® =
T4 2 02—l g 02 : =
s = Lo o= Y
T.T=12mm B I = 0 - - £ ?
200 50 100 150 200 250 o0 @ ° O 150 300 450 GO0 750500 2 ° 5200 400 éoo 800 7000 1200
§ flow (L/min) g flowi(L/min) § flow (L/minj
pTY in I§'I§| ] 5] =]

71 BLCH PNEUMATIC BLCH PNEUMATIC 12




BI l :H Control Components BI CH Control Components
Inner construct Vm100 series mechanical valve
| SB3FM ; S 4
|S3PM__ | Technical specification
. ' Working Fluid AirInert gases
Working pressure Range -0.1 ~1.0MPa
Invironment and Fluid temperature ~5~60C(Not Frozen)
i : Effective sectional area ( CV value ) 2.5mm2(0.14)
No. Item |No. Item No Item No. Item \ Port size side connected G1/8 below connectedv5x 0.8
1 Valve body | 6 [Push button press release| 11 | Push button body 16 | Button fixed block : \ Oil Supply No need ( Oil supply using ISO VG32 )
2 | Base 7 | Spring 12 | Push button cover 17 |O ring
3 Nut 8 | Fastening washer 13 | Push button press ring [18 | Spring
5 | Cross screw 10 | Push button cap 15 | Push button fixed 20 |O ring
VM1 3 1 01 01 s 0O can combinate O, can't combinate x
| L indicator light mark Length of rod &
Ways = - _ longishortlongishort
2 [ 2way , Drive type z indic:;‘;ra"gm s /s o] 1] 2| 3
3 | Sway mdm IWGE': p::;h“ : Connecting port size 00 | Basical type Basic type [ Ie] el Kol e
01 | PT1/8 01 | Rolle Roller lever type 01| x| O] x| O
0 [long | side - o v S Undrescramkreveripe| 02| x| O] x| O
1 |short| connected 02 | Unidirectional roller lever type -
= Straight plunger 05| O] x| O] %
2 |long | below 05 | Straight plunger
Roller plunger 06| O X| Of X
. . . 3 |short| connected 06 | Roller plunger mesrinon] orl ol = ol =
IﬂSTa”Iﬂg and LISIﬂg Symbol - 07 | Transverse plunger T ge
08 | Toggle type Driver marks Mol?sghrooty:wetype :: g : g i
g Valve body fixing type Panel fixing type Notice: 30 | ion| MUShOOM Yype™ g TRgller material. Hard steel  “sad out type 32| o] x| o] x g
=1 . > s : 4 s 32 ead out type 2
3 1.the control part is made of engineering plastics, only manual operation is ?lwe Flat R Red Flat type 33| O] x| Of % B
e allowed. No metal impact to switch valves s3b s3c s3d s3pm s3pf atlypo B [Bulion| Rlack Knottype(2ways) | 34| O| x| O] x =
o 8 A 34| Knottype (2D —— i | o
o} : Fixing panel  s3pp series are auto return series., s3y s3hs s3pl series hand valves are A A Knot tvpe (i) G [ "Green Knottype(3ways) | 35| x| O] x| O S
3 Fixing plate — manual return series , and for m3pl ,when it press into position, need 35 type Y Yellow Lokt voer2wavs 3
g : Lock knot type (2iz) ype(2ways)| 36| O | x % b
5 “ rotating the knob to return back. 36 type B
g / 2.pay attention to the reversing stroke. When any external force makes the ]
@ valve reversing, the base reversing stroke should not exceed the reversing : \ @
range specified in the control stroke table, otherwise the valve body will be Dime HS{OH{ mm)
damaged
3.s3l one-way rolling—wheel valve as long as one direction can make the .
valve switch (from right to left impact). Invalid impact in the other direction Basical type Roller lever type Knot type (3ways)
(left to right) N1 5 T X
4.control head units can order separately. VM130-01-00/ VM131-01-00 VM131-01-01(S) VM131-01-35[JVM151-01-35[]
. : M3 X
mer i Driver instauation hole 210 hard steel roller
Dimension(mm) i
KA. @ o S S0 4 = s /
. i. E I ,lJ 27 = exhaust hole =
= m Ve exhaust hole ¢4 -— Ly
i 2 ]
[1 ‘ )2 ] Model A B [c o [K KA KB [P PA |PB nly for Swe L = ==EH 1.
0| | (D, _g « 05 type 26[16.5 [36|30|M5x0.8 | 16 |15 |M5x0.813 |9 P ©
o: = g @_L‘L 06 type [30[16.5[47]41|M5x0.8 | 23 [20.5]G1/8 [17.511.5 ) tg
= | | o 08 type 34[17.5|52|46|M5x0.8 | 24 [22.5|G1/4 |21 12
+ K o . o % 44 2-PT1/8 F O.F=9.8N(0.5MPa) o tallhoi%
LA | B 2-04.6marks’ \ 2.046marks  PT.=3.2mm anelinstallnee £ F-19. 6N(0.5MPa)
0.T.=2.3mm T.T.=45°
VM130: L-375A-7.5  FO.F=19.6N(0.5MPa) T.T.=5.5mm
Common type control head external specification e e B ‘
O.T=1.5mm Toggle type . "
Model Long shanktype Short shank type shake shark type TT=3mm 5 i s SRR RIS
Order code SDBCIiIgallon Order code Specification Order code Specification Unidirectional roller lever type VM-150-01-08 o
- M3C2 ) ut M3C210 3 M3C210 5 @ %
Orde.r mode M3C210-P13A| jone"shank units M3D210-P13Al gl Units M3Y210-P13A| goie' ok Uits VM131-01-02(S) el 0 !ﬁ:;:
Applicable products | S3C110. S3C210 S3D110. S3D210 S3Y110, S3Y210 10 or hard steel roller # spanner width é
- . . ¢ 17
Outer dimension o m? mJ ™ e mm ; [
gUEsS= i gl == N | — Faa _
s e il 2 F%
Panel installation hole
e F.0.F-9.8N (0.5MPa) ﬂg}'
T TT-60° exhau B /
= d o only for Sways r L3-PT1/8
305 s "
80.7 P N\ 24946 marks max thickness 6
3 BLCH PNEUMATIC BLCH PNEUMATIC 74




(9]
=]
=
S
()
3
E
=5
@

BLCH

JM322 series

Control Components

Mechanical Valve

BLCH

MOV321 series Mechanical Valve

Symbol

Mov 32 1
Specification code Ways code Port size
Mov series 32:3/2 Way 1:G1/8

mechanical valve

Control Components

Button type

Blank:Basic type

R: Roller type

TB: Selecting type button
EB: Lock type button
PP: Flat type button
PPL: Convex type button
PB:Big circle type

S_\"m bol Order Code
JM 32 2 R
Specification code Ways code Port size Button type
JM series 32:3/2Way 2:G1/4 Blank:Basic type
A A A Mechanical Valve R: Roller type
TB: Selecting type button
EB: Lock type button
PP: Fiat type button
PPL: Convex type button
PB:Big circle type
Technical Specification
Models JM322 | UM322R JM322PP | JUM322PPL | JM322PB JM322EB |  JM322TB
Working Medium air ( filtered by 40UM sieve )
Acting mode Direct type
Port size 08:G1/4
Working pressure 0~0.8Mpa
Working temperature —-5~60°C(Not Frozen)
Lubricating No need

Dimension(mm)

JM322 I

[IM322R ]

3-G1/4

JM322PP |

TIM322TB | ("JM322EB |
_JM322T78B | At | JM322EB |
— i __®38
©25.5 h@

my t
S lm

o QI%_ -.
il = | E

Vi BLCH PNEUMATIC

Technical Specification

Models | MOV321 | MOV321R | MOV321PP | MOV321PPL [ MOV321PB [ MOV321EB [ MOV321TB
Working Medium air ( filtered by 40UM sieve )

Acting mode Direct type

Port size 06:G1/8

Working pressure 0~0.8Mpa

Working temperature -5~60"C(Not Frozen)

Lubricating No need

Dimension(mm)

"Mov321 | "MOV321R |

. 1= -.
o= FETy
— e mfﬂf -61/8
T leadY .
& . Ot ti
2-04.2 7] 2‘?_14 1 15
["MOV321PP | MOV321PPL |
D36

@25.5

©36 ”_
|

i
oy
o IR

"Mov321TB | "MOV321PB | MOV321EB |
—2 —1?— @38

%%5_: ©38 :
_ A . | =3 HE
' wr T e s wr

é‘
?
|
H

16
5

27

BLCH PNEUMATIC 76

sjusuodwon |0nuoD




Control Components Control Components

BLCH BLCH

MV522 series Mechanical Valve

Order Code

MV322 series Mechanical Valve

Symbol Order Code Symbol

R

T 7T T 7T

Specification code Ways code Port size Button type

MV 32 2
Specification code Ways code Port size Button type

MV series 32:3/2 Way 2:G1/4 Blank:Basic type MV series 52:3/2 W. 2:G1/4 Blank:Basic type
P A p AP A P A mechanical valve R: Roller type B B B Mechanical Valve o ' R: Roller tvugp
R R R R TB: Selecting type button R B R R TB: Selecting type button
EB: Lock type button EB: Lock type button
EELI_:Iar type button PP: Flat type button
o PB: é_Cor]velrx type button PPL: Convex type button o
g :Big circle type PB:Big circle type g
g 8
g Technical Specification Technical Specification o
3
b Models | Mv322 [ MV322R MV322PP | MV322PPL | MV322PB | MV322EB | MV322TB Models | Mvs22 | MV522R MV522PP | MV522PPL | MV522PB | MV522EB | MV522TB g
o Working Medium air ( filtered by 40UM sieve ) Working Medium air ( filtered by 40UM sieve ) ]
@ Acting mode Direct type Acting mode Direct type @
Port size 08:G1/4 Port size 08:G1/4
Working pressure 0~0.8Mpa Working pressure 0~0.8Mpa
Working temperature -5~60°C(Not Frozen) Working temperature —-5~80°C(Not Frozen)
Lubricating No need Lubricating No need

Dimension(mm) Dimension(mm)

Mv322 | mvs22 | MV522R |
i A1 M ([ il
! ! ! | I | |2-cu8
4 2-043 T t— -Gt i g AT 5
| - | a—_ e @
te * 0 |aa g F P 5
EL i J1F : 0| m‘ éﬁé o]
| i i RZ < T E
26 125 18 1]
"Mv322prP | "MV522PP |
T e { =) i &
"MV322TB | "Mv322PB | "MV522T8B | "MV522PB |
o3 o5 038
©25.5 _ _ 25,5 ) 038 HW
!.IIIIIIIIN MIHHIIU, IMMIMV = + i i
‘4 = F‘ e = |‘ R ' S — —
e 1T [m=calll ¥ 4

T BLCH PNEUMATIC BLCH PNEUMATIC 78




BLCH

QE series Quick Exhaust Valve

Control Components

CcV

. 145
P- { ':I'i" R H ‘
,\ |
i a7
QE 02
Series Code  Port Size
01:1/8"
02:1/4"
03:3/8" "Ll | o
04:1/2" i 5?'
.. b
Model QE-01 QE-02 QE-03 QE-04
Working Fluid Air
BB  Port Size 1/8" | 1/4" | 3/8" i 12"
Q Working pressure range | 0~1.0MPa
Working temperature range | -5~60"C(Not Frozen)
Weight(kg) _
Main Material Boc_iy _ Aluminum Alloy
O ring NBR
CV Series NOI’] = reTU m Valve Color: black blue red white
V3
A 4 | P

01

\! Series Code  Port Size
. 01:1/8"

02:1/4"
03:3/8"
04:1/2"
Model CV-01 CV-02 CV-03 CV-04
Working Fluid _ Air
Port Size _ 1/8" | 1/4" | 3/8" |_ 12"
Working pressure range 0~1.0MPa

Working temperature range |

-5~60°C(Not Frozen)

Weight(kg)

Body

Brass

Main Material

Oring

79 BLCH PNEUMATIC

_NBR

BLCH

T AUXILIARY COMPONENTS

BT

BLCH BR51

BLCH PNEUMATIC

80



BLCH Auxiliary Components BLCH Auxiliary Components
PC Straight Male Thread Metric [4D| R | A | B |H1|H2 PL Elbow Male Thread
PC4-03 4 |pTag| 8 |176]17| 4 o SRR
FCAN 5 + LM l35120.81 191 2 = PL4-M5 4 | M5 |35 25 | 10 [19.7
PC4-01 j P8 685 fgi :2 i PL4-01 4 |PT1/8] 7 205 10 [19.7
Fean? : PT”435 L B PLA-02 4 |PT1/a| 9 | 23 | 14 [19.7
G MS 135140 PL6-M5 6 | M5 |35 20 | 10 |20.8
PC6-01 6 |PT1/865(22.212] 4 o & 1ol 7 & [nilams
PC6-02 2 P;”“ 180 % :‘; : PL6-02 6 |PT1/4| 9 |245]| 14 208
PO FT3/8 : PL6-03 6 |PT3/8| 10 | 255 17 |20.8
8 g o i B G, PL6-04 6 |PT1/2]| 11 [275] 21 [208
A e ac) 8 |PT1/8) 7 |268]14] 6 PL8-01 8 |pTis| 7 | 22 | 14 [235
pC8-02 8 |PTH4 9 1352] 141 6 PL8-02 8 |PTi/al 9 | 24 | 14 [235
—___>_. W ) feod = 1o 1? ae il i 2 . PL8-03 8 |pT3m| 10 | 2655 17 [235
Model PCB-04 ﬁ} ke 17 gg; f; z PL8-04 8 |PT/2]| 11 [275] 21 [235
\ : b ol T k] TAECRETIIE Model : PL10-01 10 |PT1/8| 7 | 28 |17 ]25.2
PC4A-MS PC8-04 | o5 PC10-02 PT1/4 e Pleos | i - w el s T30 Tirleg
PC4-01  PC10-01 \&  \m PC10:03 |10 FT3/84 10 ;9'5 ;7 8 S e Y PL10-03 10 |PT3/8| 10| 31 | 17 |252
PC4-02  PC10-02 PETDO0R |70 FTURI 11 1202121 ] 4 : ; A PL10-04 10 [Pra2| 11 | 32 | 21 [252
PC6-M5 PC10-03 = 12 1one ¢ (i fadz  RLIeG i l INGR PL12-01 12 |PT/8| 7 | 31 | 19 |303
PC6-01  PC10-04 ot 12 [Py 8 o198 PL6-M5  PL10-02 PL12-02 12 [PT1/4| 9 [33.5] 19 [30.3
e T FC12-03 1; P38 :0 2;5 ;? 2 PL6-01  PL10-03 PL12-03 12 |PT3/8] 10 | 345 | 19 [30.3
o e PL6-02  PL10-04 PL12-04 12 |PT1/2] 11 | 35 | 21 [303
PC6-03 PC12-02 PC14-02 14 [PT1/4] 9 |293[21] 6 e 13 (el 10 5
PC6-04 PC12-03 PC14-03 14 |PT3/8[ 10 |129.3| 21| 8 PL6-03 PL12-01 7
B PL14-03 14 |PT3/8| 10 | 42.5 | 21 |30.3
PEBAME PETad PC14-04 14 [pTa/2[ 11 [27.3] 21 12 - - S NIRRT E I
PC8-01 PC16-03 108 16 (P 10 14051261 10 el TR0 PL16-03 16 |PT3/8| 11 | 50 | 24 | 34
PC8-02  PC16-04 P 1608 19 PLUd 21 3/ &tz PL8-02  PL12-04 PL16-04 16 |PT1/2| 12 | 505 | 24 | 34
; C16-0 PC16-06 16 |PT3/4| 13| 38 |27 12 s — T =
PC8-03 =
> . r
4 PCF Straight Female Thread PLF Elbow Female Thread =
3 3
O )
o o
3 E
g g
[17] (4]
S -
w w
MoE eb AT S 2 Metric oD | R | A | B H
PCRd-M - i 2 £l 19 PLF4-M5 4 M5 19.7
RERSU : g:f‘ 2 i‘;: :; PLF4-01 4 |pTi8| 8 | 195|197
PCFA-G2 : - PLF4-02 4 |PT1/a| 10 | 195 | 19.7
PCF6-M5 6 | M5 | 5 |207 | 12 RTETIE T3 s
PLFS-01 6 |FTIB| 8 1247] 12 PLF6-01 6 [pris| 8 | 21 | 206
s B PRl b lass ] ia _. PLF6-02 6 |PTi/a| 10 | 23 | 206
Model PCF6-03 6 |PT3/8] 11 [ 275 19 Model A B PLFE.03 5 IFmam| 1 SRE T
PCF4-M5 PCF8-03 PCF6-04 6 2”2 25| 29 | 24 PLF4-M5 PLF8-03 /T - - PLF6-04 6 |PTi2] 13 | 25 | 206
PCF4-01 PCF8-04 §EE:‘$ 2 PT:ﬁ g g? :: PLFA-01  PLF8-04 : AM PLF801 8 [pris| 8 | 21 | 235
PCF4-02 PCF10-01 . PLF4-02  PLF10-01 l :/ Ny R PLF8-02 8 |Pri/4] 10 | 23 | 235
PCF8-03 8 |PT3/8| 11 | 295 | 19 , e E R
PCF6-M5 PCF10-02 B PLF6-M5  PLF10-02 PLFS- PT3/8 -
PCF8-04 8 |PT1/2| 125 | 305 | 24 s e ST
PCF6-01 PCF10-03 PCF10-01 10 |PTi)8l 8 | 27 | 17 PLF6-01 PLF10-03 e S R
PCF6-02 PCF10-04 PCF10-02 10 |PT1/4] 10 | 305 | 17 PLF6-02  PLF10-04 S TG00 % Troal 55 [ 58 Toe2
PCF6-03 PCF12-02 PCF10-03 10 |PT3/8] 11 | 315 | 19 PLF6-03  PLF12-02 103 10 [Prasl 11 | 20 | 2522
PCF6-04 PCF12-03 PCF10-04 | 10 E:iE 1251325 | 24 PLF6-04  PLF12-03 PLF10-04 10 _[PT1/2| 115 | 30 | 25.2
PCF8-01 PCF12-04 ggi:i‘gg :5 Pﬂﬁ :g ;g; :g PLF8-01  PLF12-04 PLF12-02 12 |PT1/4] 11 | 28 | 303
PCF8-02 < : PLFS-02 PLF12-03 12 |PT3/8| 11 | 29 | 303
PCF12-03 12 |PT3/8] 11 | 337 19 i 5 Ierel 5 0 s
PCF12-04 12 |PT1/2| 125 | 347 | 24 '
81 BLCH PNEUMATIC BLCH PNEUMATIC 82




™
=4

X,
s

2

O
Q

=

g

@

=

73

BLCH

PLL Elbow Longer Male Thread

|

P

PH External Hex Joint

Model

PH4-M5
PH4-01
PH4-02
PH6-M5
PH6-01
PHE-02
PH6-03
PH6-04
PH8-01
PH8-02

¢,§

PH8-03
PH8-04
PH10-01
PH10-02
PH10-03
PH10-04
PH12-01
PH12-02
PH12-03
PH12-04

PHF Joints in Series

83

Model

PHF4-01
PHF4-02
PHF6-01
PHF6-02
PHF6-03
PHF6-04
PHF8-01
PHF8-02
PHF8-03

BLCH PNEUMATIC

PHF8-04

PHF10-01
PHF10-02
PHF10-03
PHF10-04
PHF12-02
PHF12-03
PHF12-04

Auxiliary Components

&R
AT
: =
5 {1
: l)_
1 | Jl\L

Model

PLL4-M5 PLL6-04 PLL10-03

PLL4-01  PLL8-01 PLL10-04

PLL4-02 PLL8-02 PLL12-02

PLL6-M5 PLL8-03 PLL12-03

PLL6-01  PLL8-04 PLL12-04

PLL6-02  PLL10-01

PLL6-03  PLL10-02

Metric ¢D| R |A| B| H E J
PH4-M5 4 |M5| 4 (19] 8 | 232|125
PH4-01 4 PT1/8/7.5| 25 (12| 23.2 | 145
PH4-02 4 PT1/4011 (27 | 15| 247 | 17.8
PHE-M5 6 M5 | 4 |19 | 8 | 228|125
PH6-01 6 |PT1/8/95(25| 12| 22.8 | 145
PH6-02 6 PT1/4 11|27 | 15| 248 | 175
PH6-03 6 [PT3/8 1133 (19| 283 | 20
PHE-04 6 PT1/2012 35|22 | 30 20
PH8-01 8 |PT1/875(25|12| 36 | 138
PH8-02 8 [PT1/4 11|27 | 15| 385 | 16.5
PH8-03 8 |PT3/8 11 (33|19 | 28.8 | 19.6
PH8-04 8 [PT1/2012 35| 22| 30.5 | 209
PH10-01 10 |PT1/8/7.5(25 | 12 | 28.7 | 13.8
PH10-02 10 |PT1/4] 11| 27 | 15| 30.7 | 14.8
PH10-03 10 |PT3/8| 11|33 | 19| 30.7 | 19
PH10-04 10 |PT1/2{ 12| 35| 22| 34 |229
PH12-02 12 |PT1/4{ 11 | 27 | 15| 32.2 | 13.8
PH12-03 12 |PT3/8| 11|33 | 19| 34.2 | 17.7
PH12-04 12 PT1/2 12| 35| 22 | 342 | 22
Metric |¢D| R Rc |A1]A2| B |H | F | J
PHF4-M5 |4 | M5 [ M54 |4 | 19| 8 |23.2|1125
PHF4-01 | 4 |PT1/8|R1/8|8 | 8 | 30 |12 |23.2|145
PHF4-02 | 4 |PT1/4/R1/4/9 (11|33 |15 |24.7{17.8
PHF6-MS5 | 6 | M5 | M5 |4 |4 | 19| 8 |22.8/125
PHF6-01 | 6 |PT1/8|R1/8/8 | 8 | 30 |12 |22.8|14.5
PHF6-02 | 6 |PT1/4|R1/419 |11 33|15 |24.8|17.5
PHFE-03 | 6 |PT3/8|R3/8(/11]11|40|19|28.3| 20
PHF6-04 | & |PT1/2|R1/2{12 (12 |42.5/24 | 30 | 20
PHF8-01 | 8 |PT1/8|R1/8|/8 | 8 | 30 |12 |26.2|13.8
PHF8-02 | 8 |[PT1/4{R1/4{9 |11 | 33 |15 |28.5]16.5
PHF8-03 | 8 |PT3/8|R3/8|11|11| 40|19 |28.8|19.6
PHF8-04 | 8 |PT1/2|R1/2|12 (12 |43.5| 24 |30.5|20.9
PHF10-01 |10 |PT1/8|R1/8| 8 | 8 | 30 |12 |28.7|13.8
PHF10-02 |10 |PT1/4{R1/4| 9 |11 | 33|15 |30.7|14.8
PHF10-03 |10 |PT3/8|R3/8(11 11| 40 |19 |30.7| 19
PHF10-04 |10 |PT1/2|R1/2|12 |12 |43.5| 24 | 34 |22.9
PHF12-02 [12 |PT1/4|R1/4| 9 |11 33|15 (32.2|13.8
PHF12-03 |12 |PT3/8|R3/8|11 |11 | 40 | 19 |34.2|117.7
PHF12-04 |12 |PT1/2|R1/2|{12 [ 12 |43.5]| 24 |34.2| 23

BLCH

PB T-Shape Vertical Male Thread

Model
PB4-MS5
PB4-01
PB4-02
PB6-MS
PB6-01
PB6-02
PB6-03
PB6-04
PB8-01
PB8-02

PD T-Shape side Male Thread

Model

PD4-M5
PD4-01
PD4-02
PD6-M5
PD6-01
PD6-02
PD6-03
PD6-04
PD8-01
PD8-02

PB8-03

PB8-04

PB10-01
PB10-02
PB10-03
PB10-04
PB12-02
PB12-03
PB12-04

PD8-03

PD8-04

PD10-01
PD10-02
PD10-03
PD10-04
PD12-02
PD12-04

Auxiliary Components

Metric ®D| R A B H | E

PB4-M5 4 M5 | 35 10 |18.6
PB4-01 4 |PT1/8| 7 10 |18.6
PB4-02 4 |PT1/4] 9 14 118.6
PB6-M5 6 M5 | 3.5 10 |18.8
PB6-01 6 |PT1/8| 6.5 10 |118.8
PB6-02 6 |PTi/4]| 9 30 | 14 (18.8
PB6-03 6 |PT3/8| 10 |30.6( 17 |18.8
PB6-04 6 |PT1/2| 11 | 325 21 [18.8
PB8-01 8 |PT1/8| 7 | 315 12 |229
PB8-02 8 |PT1/4| 9 33 14 122.9
PB8-03 8 |PT3/8| 10 | 336 | 17 |22.9
PB8-04 8 |PT1/2| 11 35 | 21 |229
PB10-01 10 |PT1/8| 7 37 17 |25.2
PB10-02 10 |PT1/4| 9 38 | 17 |25.2
PB10-03 10 |PT3/8| 10 | 38 | 17 |25.2
PB10-04 10 |PT1/2] 11 39 | 21 |25.2
PB12-01 12 |PT1/8| 7 [375] 19 [26.7
PB12-02 12 |PT1/4| 9 40 | 19 |26.7
PB12-03 12 |PT3/8] 10 | 40 | 19 |26.7
PB12-04 12 |PT1/2]| 11 41 21 |26.7
PB14-03 14 [PT3/8| 10 | 46.3| 21 (345
PB14-04 14 |PT1/2| 11 | 47.3| 21 |345
Metric &D R A B H E

PD4-M5 4 M5 |35 35 | 10 |18.7
PD4-01 4 |PT1/8| 7 35 | 10 (18.7
PD4-02 4 |[PT1/4| 9 |[375]| 14 |18.7
PD6-M5 6 M5 | 35| 38 | 10 |20.3
PD6-01 6 |PT1/8| 7 38 | 10 (20.3
PD6-02 6 |PT1/4| 9 |405( 14 |20.3
PD6-03 6 |PT3/8| 10 | 39.5]| 17 [20.3
PD6-04 6 |PT1/2| 11 |435]| 21 [20.3
PD8-01 8 |PT1/8| 7 40 | 12 |22.8
PD8-02 8 |PTi1/4| 9 42 14 122.8
PD8-03 8 |PT3/8| 10 | 445 | 17 |[22.8
PD8-04 8 |PT1/2| 11 |455| 21 |[22.8
PD10-01 10 |PT1/8| 7 49 | 17 |26.2
PD10-02 10 [PT1/4| 9 51 17 |126.2
PD10-03 10 |PT3/8| 10 | 52 17 |126.2
PD10-04 10 [PT1/2] 11 53 | 21 |26.2
PD12-01 12 |PT1/8| 7 [51.5| 19 |28.2
PD12-02 12 |PT1/4| 9 [535| 19 |28.2
PD12-03 12 |PT3/8| 10 [ 545 | 19 |28.2
PD12-04 12 |PT1/2] 11 [ 555 21 [28.2
PD14-03 14 |PT3/8| 10 21| 35
PD14-04 14 |PT1/2| 11 85 | 21| 35

BLCH PNEUMATIC

84

sjuauodwon Aeiixny




BI CH Auxiliary Components BI CH Auxiliary Components
PX Y-Shape Three-Way Thread PM Bulkhead Union PY Y-Shape Three-Way
Metric 4D R [A| B |H|J | E . ) g
o PX4-M5 4 | M5 |35[37.7]10][10.8] 2.5 1 :
( PX4-01 4 [PT1/8] 7 [37.7]10[108] 25
PX4-02 4 |PT1/4| 9 [40.2]|14[10.8] 2.5 -
PX6-M5 6 | M5 |35[415]10] 13 | 35 —'
PX6-01 6 |PT1/8]65[403[10][ 1335
PX6-02 6 |PT1/4| 9 [428]14] 13 | 35
PX6-03 6 |PT3/8| 10[448]17| 13 | 35
PX6-04 6 |PT1/2| 11[458]21| 13 | 35
PX8-01 8 |PT1/8| 7 [455]12[15.2] 4
Model PX8-02 8 |PT1/4| 9 [475]14[15.2] 4
PX4-M5  PX8-03 PX8-03 8 [PT3/8| 10| 50 [17[15.2| 4 Model Metric $D M B | H Model Metric 6D B ) bd
PXA-01  PX8-04 PX8-04 8 |PT1/2| 11| 51 |21[15.2] 4 PM4 PM-4 4 M12x1.0 |345]| 15 PY4 PY-4 4 28 116 | 25
PX4-02  PX10-01 PX10-01 | 10 [PT1/8] 7 [49.7]17] 19 | 4.2 PM6 PM-6 6 M14x1.0 | 37 | 17 PY6 PY-6 6 30 13.3 35
PX6-M5 PX10-02 PX10-02 10 |PT1/4| 9 [51.7 (17| 19 | 4.2 PM8 PM-8 8 M16x 1.0 37 19 PY8 PY-8 8 33 15.5 4
PX6-01  PX10-03 PX10-03 | 10 |PT3/8]| 10|52.7|17)| 19 | 4.2 PM10 PM-10 10 | M20x1.0 | 45 | 24 PY10 PY-10 10 48 38.5 42
PX6-02  PX10-04 PX10-04 | 10 [PT1/2[ 11[53.7]21] 19 | 4.2 PM12 PM-12 12 | M22x1.0 |464| 27 PY12 PY-12 12 54 205 | 42
PX6-03  PX12-02 Px12-01 | 12 |PT1/8] 8 |54.2]19]20.5] 4.2
PX6-04  PX12-03 PX12-02 | 12 [PT1/4] 10]56.2[19]20.5] 4.2 PU Straiaght Union PV Elbow Two-W
PX8-01  PX12-04 Px12-03 | 12 |PT3/8] 10|57.2]19]20.5] 4.2 g ; bo O-VVay
PX8-02 PX12-04 | 12 |PT1/2][ 11]58.2]21]205] 4.2 =" |
' : - E
PK Five-way ' = (o J o
F : EEa L
. : : = . @ ‘N\J| o %‘
a == ' N
o0 RCSH|SE|EECL - &
& I 0
[ 25
B
53:‘ Model Metric $D H Model Metric $ D1 E $d g
= ik PU-4 4 33.4 PV4 PV-4 4 18.7 / s
2 PUG PU-6 6 35.1 PV6 PV-6 6 205 35 -
S Model Metric oD | B £ ] od PUS PU-8 8 39 PV8 PV-8 8 23 45 g
3 PK4 PK-4 4 16241 368 | 12 | 25 PUTO PU-10 10 444 PV10 PV-10 10 27 45 3
- = |
e PKE PK-6 6 |686]| 548 |175| 4 PU12 PU-12 12 46.4 PV12 PV-12 12 28.5 5 2
@ PK8 PK-8 8 |[805] 548 [175] 4 PU14 PU-14 14 51 mg PV-14 14 32 @
PK10 PK-10 10 [91.4| 625 |204| 4 PU16 PU-16 16 57.8 PV-16 16 335 4
PK12 PK-12 12 [112] 71 [ 23] a4
PUG Reduced Straight Union PYG Y-Shape Reduced Three-way
PKG Reduced Five-way o02 - -
E___ I ooz
; &
] = gp1
Model Metric ¢ D1 ¢ D2 B
Model Metric | &D1|eD2| B | F | J | ¢d PUGEq  PUG6 6 4 35 Model Metric | D1| ¢D2| B | J | ¢d
PKG6E-4 PKG6-4 6 | 4 |686[414[135] 4 PUGS-4  PUG8-6 8 6 36.3 PYG6-4 PYG6-4 6 4 [385][135] 35
PKGS-4 PKG8-6 8 | 6 [805[525[17.7] 4 PUGS-s  PUG10-8 10 8 40.2 PYG8-4 PYGS-6 8 6 | 42 | 16 | 4
PKG8-6 PKG10-8 | 10 | 8 |91.4] 58 [195] 4 PUG10-6 PUG12-10 12 10 44 PYG8-6 PYG10-8 | 10 8 |472]184| 45
PKG10-6 PKG12-10 | 12 | 10 [101.4[67.7] 22 | 4 PUG10-8 PUG16-12 16 12 475 PYG10-6  pyG12-10 | 12 | 10 [ 524205 45
PKG10-8 PKG8-4 8 | 4 | 81 |525]| 18 | 45 PUGI2-8 PUG8-4 8 4 475 PYG10-8  pyGs4 8 4 | 42 | 16 4
PKG12-8 PKG10-6 | 10 | 6 [91.4] 58 [195] 4 PUG12-10 PUG10-6 10 6 67 PYG12-8  pyGg1o06 | 10 | 6 [472] 184 4
PKG12-10 PKG12-8 | 12 | 8 [1014]67.7] 22 | 4 PUG16-12 PUG12-8 12 8 67 PYG12-10  “pygi28 | 12 8 [522]202] 4
85 BLCH PNEUMATIC BLCH PNEUMATIC 86




BLCH Auxiliary Components BLCH Auxiliary Components

PE T-Shape Three-Way PEG T-Shape Reduced Three-Way BUC series Hand Valves BC series Hand Valves
LN
Model Model
oD r
E _ ™ : BUC-6 BC6-01
/ BUC-8 BC6-02
%02 % BC6-03
BC6-04
BC8-01
BC8-02
Model Metric |#D1]|éD2| B | E | F | ¢d :E:gi
Model  yetric ) — PEG6-4 6 | 4 |376[19.7| 15 | 35
PE4 PE-4 4 | 374|187 |135]| / PEGB4 PEGS-6 8 | 6 | 43 [203] 18 | 45
PE6 PE-6 6 | 406 ] 205]| 16 | 35 PEGS-6 PEG10-8 | 10 | 8 [50.4[245] 20 | 45
PE8 PE-8 8 | 46 | 23 | 20 | 45 PEG10-6 PEG12-10 | 12 | 10 [57.4(27.7|245] 5
PETO  PE-10 10 | 554 (277 24 | 45 PEG10-8  PEG16-12 | 16 [ 12 | 69 | 34 [32.2] 4 BC-=G series Hand Valve BL-G series Hand Valve
PE12 PE-12 12 | 574|287 27 5 PEG12-8 PEGS-4 8 | 4 |43 ] 18] 1845
PE14  pg.1g 14 | 64 | 32 | 28 4 PEG12-10  PEG10-6 10| 6 |504[238[ 20| 4
PE16  “pE6 16 | 69 | 345 33 | 4 PEG16-12 PEG12-8 | 12 | 8 |57.4|27.4|245] & Model Model
% BC6-01G BL6-01G
BC6-02G BL6-02G
. BC6-03G BL6-03G
SL Speed controller LSA Pipe Speed controller o i
BC8-01G ¢r BL8-01G
Model Model BC8-02G “4 BL8-02G
SL4-M5 SL8-01 SL12-01 j LSA-4 BC8-03G BL8-03G
SL4-01 SL8-02 SL12-02 LSA-6 BC8-04G BL8-04G
SL4-02 SL8-03 SL12-03 LSA-8
SL6-MS SL8-04 SL12-04 LSA-10
SLe-01  SL10-01 SL16-04 LSA-12
" SL6-02 SL10-02
z SL6-03 SL10-03 _ . >
E SL6-04 5L10-04 BUL series Hand Valve KCM Push in Check valve :
=< <2
g . . _ Model Model 2
g PKB Side Male Thread Five-Way  PKD Side Female Thread e oy :
) Model Model BUL-08 KCM-06 a
’ KCM-08 7
) Eigig; EEE?OOS‘I PRDALD]  PKDB:04 KCM-10
PKB6-01 PKB10-02 Abioe PRRIGO KCM-12

PKD6-01 PKD10-02
PKDe-02 PKD10-03
PKDe-03 PKD10-04
PKD8-01 PKD12-02
PKD8-02 PKD12-03
PKD8-03 PKD12-04

PKB6-02 PKB10-03
PKB6-03 PKB10-04
PKB8-01 PKB12-02
PKB8-02 PKB12-03
PKB8-03 PKB12-04

PZA Union Cross HVFF series Hand Switch AN series Plastic Silencer AL series Plastic Silencer ST/SV series Brass Silencer
PZA4 Model Model Ntasdel Model
PZAG HVFF-4 oo
PZA8 HVFF-6 £ AL-01 PSI-01

AN-02
PZA10 HVFF-8 AL-02 FET
PZA12 HVFF-10 i % AL-03 PSF-03
HVFF-12 A0t g < : AL-04 PST-04
® QU G PSV-01
PSV-02
PSV-03
PSV-04

87 BLCH PNEUMATIC BLCH PNEUMATIC 88




BLCH Auxiliary Components BLCH Auxiliary Components
PC Straight Male Thread PCF Straight Female Thread PB T-Shape vertical Male Thread SL Speed controller
Model PC4-M5B PC8-04B Model PCF4-M5B PCF8-03B Model PB4-M5B PB8-03B Model SL4-M5B  SL8-04B
PC4-01B  PC10-01B PCF4-018 PCF8-048 PB4-01B  PB8-04B < SL4-01B  SL10-01B
PC4-028 PC10-028 PCF4-028 PCF10-018 £ PB4-028 PB10-01B ‘ SL4-02B  SL10-02B
PC6-M58 PC10-038 PCF6-M58 PCF10-028 .- PB6-M58 PB10-028 SL6-M5B  SL10-03B
PC6-01B  PC10-048 PCF6-01B PCF10-038 \ PB6-018  PB10-038 SL6-01B  SL10-048
PC6-02B PC12-01B PCF6-02B PCF10-04B Q PB6-02B  PB10-04B 3 SL6-02B  SL12-01B
PC6-038 PC12-028 PCF6-038 PCF12-01B PB6-038 PB12-01B . SL6-03B  SL12-02B
PC6-04B PC12-03B PCF6-04B PCF12-028 PB6-04B PB12-02B SL6-04B  SL12-03B
PC8-01B PC12-04B PCF8-01B PCF12-03B PB8-01B PB12-03B SL8-01B  SL12-04B
PC8-02B  PC16-03B PCF8-028 PCF12-04B PB8-028 PB12-04B SL8-02B  SL16-03B
PC8-038 PC16-04B SL8-03B  SL16-04B
PL Elbow Male Thread PLF Elbow Female Thread PE T-Shape three-way PEG T - Shape reduced three-way
Model Model Model Model
PL4-M5B PL8-03B PLF4-M5B PLF8-03B \’ PE4B PEG6-4B
- PL4-01B  PL8-04B PLF4-01B PLF8-04B & PEGB \ PEG8-48
w PL4-02B  PL10-01B PLF4-02B  PLF10-01B , PE8B o PEG8-6B
\ PL6-M5B  PL10-02B PLF6-M58 PLF10-02B A\ PE10B °, PEG10-6B
\ PL6-01B  PL10-03B N PLF6-018 PLF10-03B : 4 PE12B PEG10-88
PL6-02B  PL10-04B PLF6-02B PLF10-04B PE14B PEG12-8B
PL6-03B PL12-01B PLF6-038 PLF12-01B PE16B PEG12-10B
PL6-04B  PL12-02B PLF6-04B PLF12-02B PEG16-128
PL8-01B PL12-03B PLF8-01B PLF12-03B
PL8-02B  PL12-048 PLF8-02B PLF12-04B
= : F g
= PY Y-Shape three-way PYG Y-Shape reduced three-way PU Straight union PV Elbow two-way £
2 <2
9 Model Model Model Model &
= 3
g PY4B PYG6-4B PU4B v PV4B 3
3 PY6B PYG8-4B PUGB - —~ f PV6B 3
C} PY8B PYG8-6B PUSB . PV8B @
PY10B PYG10-6B / PU10B ‘ PV10B
PY12B PYG10-88 PU12B PV12B
PYG12-88B PU14B PV14B
PYG12-10B PU16B PV168
PZA Cross four-way PM Straight with partition LSA Pipe speed controller PK Five-way
f,-‘ Model Model Model Model
" PZA4B PM4B : A \ LSA4B PK4B
4 PZA6B PM6B o 2 LSA6B PK6B
‘ / PZA8B PM8B \\ ) ‘ LSA8B PK8B
b PZA10B PM10B LSA10B PK10B
PZA12B PM128 LSA12B PK128
89  BLCH PNEUMATIC BLCH PNEUMATIC 90




BLCH Auxiliary Components BLCH Auxiliary Components

Brass Nickel Plating-One Touch Fittings Quick Pipe Connectors
PC Straight Male Thread PL Elbow Male Thread KN -PC Straight Male Thread KN-PL Elbow Male Thread
Model Model Model Model
PC4-M5DN  PC8-041DN PLA-MSDN  PL8-041DN KN-PC4-M5  KN-PC10-01 KN-PL4-M5  KN-PL10-01
PC4-01DN  PC10-01DN _ PL4-OIDN  PL10-01DN KN-PC4-01  KN-PC10-02 KN-PL4-01  KN-PL10-02
PC4-02DN  PC10-02DN - PLA-02DN  PL10-02DN KN-PC4-02  KN-PC10-03 : KN-PL4-02  KN-PL10-03
PC6-MSDN  PC10-03DN PL6-MSDN  PL10-03DN _ _ KN-PC6-M5 ~ KN-PC10-04 KN-PL6-M5 ~ KN-PL10-04
PC6-01DN  PC10-04DN PL6-01DN  PL10-04DN _ KN-PC6-01  KN-PC12-01 4 KN-PL6-01  KN-PL12-01
PC6-02DN  PC12-02DN PL6-02DN  PL12-02DN KN-PC6-02  KN-PC12-02 KN-PL6-02  KN-PL12-02
PC6-03DN  PC12-03DN PL6-03DN  PL12-03DN as E::EEg:gi Eﬁ:,ﬁgg:gi Eﬁiﬁtﬁ:ﬁi Eﬁiiﬂﬁigi
\ DN | Fel2iehn e e KN-PC8-01  KN-PC16-03 KN-PL8-01  KN-PL16-03
\) PC8-01DN  PC16-03DN PL8-01DN  PL16-03DN ENPCBOZ PRACIETH KN-PLB-02  KN.PL16-04
PC8-02DN  PC16-04DN PL8-02DN  PL16-04DN KN-PC8-03 KN-PL8-03
PC8-03DN PL8-03DN KN-PC8-04 KN-PL8-04
PB T-Shape vertical Male Thread PX Y-Shape Three-Way Thread KN - PB T-Shape Vertical Male Thread ~ KN-PD T-Shape Side Male Thread
Model Model Model Model
PB4-MSDN  PB8-041DN PX4-MSDN  PX8-041DN KN-PB4-M5  KN-PB10-01 KN-PD4-M5 ~ KN-PD10-01
KN-PB4-01  KN-PB10-02 KN-PD4-01  KN-PD10-02

KN-PB4-02  KN-PB10-03
KN-PB6-M5  KN-PB10-04
KN-PB6-01  KN-PB12-01
KN-PB6-02  KN-PB12-02
KN-PB6-03  KN-PB12-03
KN-PB6-04  KN-PB12-04
KN-PB8-01  KN-PB16-03

KN-PD4-02  KN-PD10-03
KN-PD6-M5  KN-PD10-04
KN-PD6-01  KN-PD12-01
KN-PD6-02  KN-PD12-02
KN-PD6-03  KN-PD12-03
KN-PD6-04  KN-PD12-04
KN-PD8-01  KN-PD16-03

PB4-01DN  PB10-01DN PX4-01DN  PX10-01DN
PB4-02DN  PB10-02DN PX4-02DN  PX10-02DN
PB6-M5DN  PB10-03DN PX6-MSDN  PX10-03DN
PB6-01DN  PB10-04DN PX6-01DN  PX10-04DN
PB6-02DN  PB12-02DN PX6-02DN  PX12-02DN
PB6-03DN  PB12-03DN ‘ PX6-03DN  PX12-03DN

PB6-04DN  PB12-04DN PX6-04DN  PX12-04DN

PBS-01DN  PB16-03DN PX8-01DN  PX16-03DN - KN-PB8-02  KN-PB16-04 1\ KN-PD8-02  KN-PD16-04

PB8-02DN  PB16-04DN PX8-02DN  PX16-04DN KN-PB8-03 KN-PD8-03

PBS-03DN PX8-03DN KN-PB8-04 KN-PD8-04
4| Metal One Touch Fittings KN -PU Straight Union KN - PV Elbow Union z
o " [11]
= KC - PC Straight Male Thread KC - PL Elbow Male Thread Model Model .
9 Model Model KN-PU4 KN-PV4 3
% KC-PC4-M5  KC-PC10-01 KC-PL4-M5  KC-PL10-01 ng’ﬂg Y Eu:xg g
g KC-PC4-01  KC-PC10-02 KC-PL4-01  KC-PL10-02 gl s, & aits 5
@ KC-PC4-02  KC-PC10-03 KC-PL4-02  KC-PL10-03 ey 74 il -

KC-PC6-M5  KC-PC10-04 KC-PL6-M5 ~ KC-PL10-04 i L W ke L

KC-PC6-01  KC-PC12-01 KC-PL6-01  KC-PL12-01 B i iy

KC-PC6-02  KC-PC12-02 KC-PL6-02  KC-PL12-02 \\

KC-PC6-03  KC-PC12-03 KC-PL6-03  KC-PL12-03

KC-PC6-04  KC-PC12-04 KC-PL6-04  KC-PL12-04 ;

KC-PC8-01  KC-PC16-03 KC-PL8-0T ~ KC-PL16-03

KC-PC8-02  KC-PC16-04 KC-PL8-02  KC-PL16-04

KC-PC8-03 KC-PL8-03

KC-PC8-04 KC-PL8-04

: KN - PM Straight with Partition KN -SL Speed Controller

KC - PB T-Shape vertical Male Thread KC - PLF Elbow Female Thread Model

Model Model Model KN-SL4-M5  KN-SL10-01

KC-PB4-MS5  KC-PB10-01 KC-PLF4-MS5  KC-PLF10-01 ' KN-PM4 ML Belicn

KC-PB4-01  KC-PB10-02 KC-PLFA-01  KC-PLF10-02 KN-PMB KN-5L4-02  KN-5L10-03

KC-PB4-02  KC-PB10-03 KC-PLF4-02  KC-PLF10-03 KN-PM8 ichrociontll. LS

KC-PB6-M5  KC-PB10-04 KC-PLF6-M5 KC-PLF10-04 KN-PM10 KILSB01 KNS

KC-PB6-01  KC-PB12-01 KC-PLF6-01  KC-PLF12-01 KN-PM12 SNealbDZ  KNSLiZ 02

KC-PB6-02  KC-PB12-02 KC-PLF6-02  KC-PLF12-02 KN-PM14 KNSLE03  KN-SL12-03

KC-PB6-03  KC-PB12-03 KC-PLF6-03  KC-PLF12-03 KN-PM16 SNSLO-O4  KSL1Z04

KC-PB6-04  KC-PB12-04 KC-PLF6-04 KC-PLF12-04 MNSLEO1  KN-SLIG03

KC-PBS-01  KC-PB16-03 KC-PLF8-01 KC-PLF16-03 e R

KC-PB8-02  KC-PB16-04 KC-PLF8-02  KC-PLF16-04 ey

KC-PB8-03 KC-PLF8-03 -SL8-

KC-PB8-04 KC-PLF8-04

91 BLCH PNEUMATIC BLCH PNEUMATIC 92




BI l :H Auxiliary Components BI CH Auxiliary Components
Micro Quick Fittings Spp Series Plug
SPL-C SPC-C fode
SPP-4
external diameter of pipe * thread external diameter of pipe * thread SPP-6
3-M3  4-M5 5-M5 6-M5 3-M3 4-M5 5-M5 6-M5 SPP-8 SGONNAR N N A
3-M5  4-01  5-01 6-01 3-M5 4-01 5-01 6-01 SPP-10
3-01  4-02 5-02 6-02 3-01 4-02 5-02 6-02 SPP-12
Rotation Fittings
Model Rotation Model Rotation) Model Rotation] Model Rotation
(low Speed) | Speed |(high Speed)|Speed |(low Speed) |Speed |(high Speed) |Speed
NRC 04-M5 NHRC 04-M5 NRL 04-M5 NHRL 04-M5 Pu Tube
NRC 04-M6 NHRC 04-M6] 1500 |NRL 04-M6 NHRL 04-M6| 1500
NRC 04-01 NHRC 04-01 NRL 04-01 NHRL 04-01 Order Code tube color
NRC 06-01 | 500 [NHRC 06-01 NRL06-01 | 500 |[NHRL06-01 e Y
NRC 06-02 NHRC 06-02 NRL 06-02 NHRL 06-02 PU 08 06 B
NRC 06-03 NHRC 06-03 NRL 06-03 NHRL 06-03 T T
NRC 06-04 | NHRC 06-04 1200 NRL 06-04 NHRL 06-04 1200 Series standard  tube color
NRC 08-01 | NHRC 08-01 NRL 08-01 NHRL 08-01 specification el
1 ; : white,
NRC 08-02 | 400 NHRC 08-02 NRL 08-02 400 NHRL 08-02 Pu tube gpe‘f‘”r cation sheet color black blue yellow green transparent orange
2 NRC 08-03 NHRC 08-03 NRL 08-03 NHRL 08-03 i =
3 NRC 08-04 NHRC 08-04 NRL 08-04 NHRL 08-04 ~ Model [PUO320 | PUO425 | PUO530 | PUOG40 | PUOBS0 [ PUOB60 | PUTO6S | PUTO80 | PU1280 | PU1290|PU1410 |PU1611 | PU1612 g
3 NRC 10-03 | . [NHRC 10-03 ML 1005 | s |NHEL 1003 outer diameter| 430 | $4.0 | $50 | $6.0 | ¢80 | ¢80 | $100| $100| $12.0 | $12.0| $140 | $16.0 | $16.0 3
o NRC 10-04 NHRC 10-04 1000 NRL 10-04 NHRL 10-04 1000 uH o
S NRC 12-03 200 NHRC 12-03 NRL 12-03 200 NHRL 12-03 inner diameter $2.0 | $25 3.0 | ¢40 | ¢50 | 460 | ¢65 | ¢80 | ¢80 | $9.0 | 4100 | ¢11.0| $12.0 S
8 NRC 12-04 NHRC 12-04 NRL 12-04 NHRL 12-04 i 8
£ | g
@ Spiral Tube @
. : outer diameter X inner diameter | length
Qil Plpe ' 6x4 : 3. 6. 89 12, 15
Model | OEL-01 | OFL-02 | OEL-03S/ | OEL-035Kk | OEL-04
¢ 8x5 3.6y 9. 12, 15
Nozzle Type | 10%6.5 3.6, 9, 12, 15
hread P . : g ' ?
Thread Port Size | 1/ Y EE | 38 | 1 _— e
PATE Air Gun
Order Code
OEL - 02 F e
Series Thread Port Size  Nozzle Type DG-10
01:1/8" O:Round Each type of air gun provides users with safe, effective and easy to
02:1/4" F:Flat operate products for different needs of industry. Users can order
03:3/8 = different types of products according to their needs.
04:1/2"
AR20-TS working fluid compressed air
Applicable Range Ak Max working pressure 10bar max
St e e Working temperature compressed air(dired)-20°C~+80°C
It Suitable For Lathe, Hydraulic Machinery, Cnc Machine, Water Cooling System. The - i material Wrench And Body : Engineering Plastic
Product Is Assembled By Manual. Can Be Regulated The Length ,nozzle Diameter, 2
Position Arbitrarily, It Having The Features Of Beautiful Appearance, Big Capacity, Non
Conducting, Anti-corrosion, Heat-resistant. Etc. AR20-TS-L
AR-TS-L
O3  BLCH PNEUMATIC BLCH PNEUMATIC 94




=
[ =4
X
=
=
O
Q
3
S
@
=
73

BLCH

C Type Quick Coupler

Auxiliary Components

Order Code Technical Specification
Working fluid | Air
_s . _M = 20_ Max withstand pressure 1.32Mpa(1.35kgt/em®)
g;"s"ak';‘ E"SY g‘f’"a'el “";fa"" L ':g": o Max operating pressure 0-0.9Mpa(0-9.2kgf/em’ )
stR-hody H._eimj eht] '_‘:: b ¥ Ambient and fluid temperature —5~60°C(Not Frozen)
P_.p e SRR Applicable soft pipe PU soft pipe,Nylon pipe
:pipe locking  30:3/8 ;
40:1/2" Material Zinc alloy
SM SF
; i
1 o
1’ = ' &
1
Models = A BS D HS LS T Models | A BS D HS LS T
SM-10 | 9.7 6 26 19H 50.2 1/8PT SF-10 | 9.4 6 26 19H 50.2 1/8PT
SM-20 9.4 6 26 19H 50.2 1/4PT SF-20 94 [3] 26 19H 50.2 1/4PT
SM-30 | 15 8 26 19H 55.8 3/8PT SF-30 | 15 8 26 19H 55.8 3/8PT
SM-40 165 11.5 26 21H 57.3 1/2PT SF-40 165 11.5 26 21H 57.3 1/2PT
SM-60 SF-60
SH SP
1 ﬂ ol
(R T— S - | ' E +
Models = Maiched pipe A D HS LS T
SH-10 $6 26 26 19H 66.8 7 Models = Matchedpipe A D HS LS T
SH-20 | ¢8 26 26 19H 66.8 9 SP-10 | ¢6 14.5 26 13.3 55.3 14H
SH-30 $ 10 26 26 19H 66.8 %1 SP-20 ¢8 14.5 26 13.3 55.3 14H
SH-40 @ ¢ 12 26 26 21H 66.8 13.5 SP-30 | 410 15 26 13.3 57 15H
SH-60 SP-40 $12 17.5 26 15.8 58.8 19H
PM PF
1]
i T M u _E] fl :
LT .
Models = A HP LP T Models = HP (e} LP T
PM-10 | 13.8 14H 40.8 1/8PT PF-10 17H 20 36 1/8PT
PM-20 @ 13.8 14H 40.8 1/4PT PF-20 17H 20 36 1/4PT
PM-30 | 14.2 17H 4.2 3/8PT PF-30 @ 19H 20 36 3/8PT
PM-40 | 18 21H 43.8 1/2PT PF-40 21H 20 37 1/2PT
PM-60 PF-60
PH PP
= e |
o ;_-". | l ! s
et B i a
Models | Matchedpipe A B D E
PH-10 $6 52.8 24 4.9 9 Models | Maichedpipe B D - LP
PH-20 $8 52.8 24 4.9 9 PP-10 | ¢6 29 13.3 14H 441
PH-30 $ 10 52.5 24 7.2 9.8 PP-20 $8 2.9 13.3 14H 441
PH-40 @ 412 52.3 24 7 12.6 PP-30 | 410 3 13.2 15H 44.2
PH-60 PP-40 $12 52 15.8 19H 44,7

95 BLCH PNEUMATIC

BLCH

Self-locked C Type Quick Coupler

Auxiliary Components

Order Code Technical Specification

L S M - 20 Working fluid Air

x P Max withstand pressure 1.32Mpa(1.35kgf/cm” )
Selffocked :;é; E;;nrﬁﬁ;hﬂr'le;g d Tg:fé',z.e Max ‘operating pfessure 0-0.9Mpa(0-9.2kgflcm® )
Hepipe plug—in  20:1/4” Ambient and fluid temperature _5~ 60<.>C( Not Frozen)
P:pipe locking  30:3/8" App[pabie soft pipe PU soft pipe,Nylon pipe
40:1/2" Material Zinc alloy

LSM series LSF series

Model Model

LSM-10 LSF-10

LSM-20 LSF-20

LSM-30 LSF-30

LSM-40 LSF-40
LSH series LSP series

Model Model

LSH-10 LSP-10

LSH-20 LSP-20

LSH-30 LSP-30

LSH-40 LSP-40
Multi-joint coupelr

Model Model

SML 2 SMv 2

SML 3 SMY 3

SML 4

SML 5

SML 6

BLCH PNEUMATIC 96

sjuauodwon Aeiixny




97

BLCH PNEUMATIC

BLCH
EXECUTIVE COMPONENTS

PATTTH

BLCH Executive Components

SC/SU Series Standard Cylinder

SC/SU 5050 - S - FA

Series bore size X sliroke Magnet Mounting type

SC: Standard double acting type Blank: without magnet Blank: basic type

SU: Standard double acting type S: with magnet CA: Single Earring type
SCD: Double rod type CB: Double Earring type
SCJ: Double rod adjustable stroke type FA: Front flange type
SCT: Multi-position type FB: Back flange type

LB: Front and back type
TC: Central trunnion type
TC-M: Center trunnion type with foot

F: Theoretical output of cylinder ( kgf )  P: working pressure ( kgf/cm®)  A: Pressure area of piston (cm’)

Bore size
N 32 | 40 ‘ 50 ’ 63 ‘ 80 ’ 100 | 125 ‘ 160

Auto switch CS1-F CS1-U
Auto switch mounting base F-50 ] F-63 1 F-100 | F-125 ] F-160
Bore size(mm) 32 ‘ 40 | 50 63 ‘ 80 | 100
Acting type Double acting

Working Medium Air(to be filtered by 40 u m filter element)

Operating pressure 0.1~0.9Mpa(1~9kgf/cm?)

Proof pressure 1.35Mpa(13.5kgf/cm?)

Working Temperature range -5~60°C(Unfreeze)

Cushion type Variable Cushion

Adjustable cushion stroke (mm) 24 | 32

Port size 1/8" /4" | 3/8" 12"

Body material

Aluminum alloy

Bore size(mm) Standard Stroke(mm) Max std Stroke(mm)| Max Stroke(mm)
32 255075 100 125 150 175 200 250 300 350 400 500 1000 2000
40 2550 75 100 125 150 175 200 250 300 350 400 500 600 700 800 1200 2000
50 2550 75 100 125 150 175 200 250 300 350 400 500 600 700 800 900 1000 1200 2000
63 255075 100 125 150 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000
80 255075 100 125 150 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000
100 2550 75 100 125 150 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000
125 255075100 125 150 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000
160 255075100 125 150 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000

BLCH PNEUMATIC 98




Dimensions ( mm )

As+Stroke
B C+Stroke

2-Buffaring valve core

SCD/SUD

Al+5iroke x 2

C+5troks

B+5troke

E F| G 20 G

@D

2-Buffaring valve core

Stroke

(- (e O g

8-L-Depth.M

SCJisuJ

A2+Stroke x 2+ Adjustable stroke

B C+Stroke

E . F G 20 G
]
. v d aa— ~
2 B.%IE. ..'.@.)‘ ............. ]@.’)‘.
™ 3 ____________

2-Buftering valve core

Executive Components

Bore size(mm) A | A1 | A2 B = D E F G H K I 0 S T v
32 140 | 187 | 182 | 47 93 28 32 15 127.5| 22 | M10x1.25 M6x1 G1/8| 45 33 12
40 142 | 191 | 185 | 49 | 93 | 32 | 34 | 15 | 275 24 | M12x1.25 M6x1 G1/4| 50 | 37 | 16
50 150 | 207 | 196 | 57 93 38 42 15 | 27.5| 32 M16x1.5 Méx1 G1/4| 62 47 20
63 1652 | 210 | 199 | 57 a5 38 42 15 | 27.5 | 32 M16x1.5 M8x1.25 [G3/8| 75 56 20
80 183 | 258 | 243 | 75 | 108 | 47 54 21 33 40 M20x1.5 M10x1.5 | G3/8| 94 70 25
100 189 | 264 | 249 | 75 | 114 | 47 54 21 33 40 M20x1.5 M10x1.5 [G1/2| 112 | 84 25
125 251 | 357 | 348 | 106 | 145 | 60 74 32 40 54 M27x2 M12 G1/2| 140 | 110 | 32
160 312 | 444 | 4471 | 132 | 180 | 65 94 38 50 72 M36x2 M16 G1/2| 180 | 140 | 40
200 347 | 509 | 472 | 162 | 185 | 75 | 112 | 50 | 50 | 72 M36x2 M16 G3/4| 220 | 175 | 40
250 384 189 | 195 | 95 | 119 | 70 50 84 Ma2x2 M20 G3/4| 280 | 225 | 50

99 BLCH PNEUMATIC

BLCH

DNC Series Standard Cylinder

Order Coc

S | e

DNC

Executive Components

=)

63x50 - PPV A

Series bare size X stroke Blank: Without cushion  Blank: Standard
DNC: Normal type PPV: with cushion A with magniet
HMC: axial bumpers type
FNC: Front .and back flange
SNCB: Double earring type
SNCL: Single earring type
caliol
Bore size(mm) 32 | 40 | 50 63 ‘ 80 ‘ 100
Acting type - Double acting
Working Medium Air(to be filtered by 40 u m filter element)
Operating pressure 0.1~0.9Mpa(1~9kgf/cm?)
Proof pressure 1.35Mpa(13.5kgf/cm?)
Working Temperature range -5~60°C(Unfreeze)
Cushion type Variable Cushion
Adjustable cushion stroke (mm) 24 | 32
Port size 178" | 1/4" | 3/8" EZE

Body material

Aluminum alloy

C e/ -
LT LA

Bore size(mm) Standard Stroke(mm) Max std Stroke(mm) | Max Stroke(mm)
32 255075100 125 150 175 200 250 300 350 400 500 1000 2000
40 255075 100 125 150 175 200 250 300 350 400 500 600 700 800 1200 2000
50 2550 75 100 125 150 175 200 250 300 350 400 500 600 700 800 900 1000 1200 2000
63 255075100 125 150 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000
80 255075100 125 150 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000
100 2550 75 100 125 150 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000
125 255075100 125 150 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000
160 255075100 125 150 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000

BLCH PNEUMATIC 100

sjusuodwon sanosxg




BI l :H Executive Components BI l :H Executive Components
'-'] !. _.__..I" "'\!|- l.!\“_ |'I .I ~ .. . -
ions { mm ) S| Series Standard Cylinder
Fi: 14
DNC...PPV-A 12 L3 Symbol
o AM WH 17 EE 807 w2
Basic type D
jﬂ\ T \ Sl S5
| < @ o — —¥
il bz ffal i pi
I CE=gnx Y ;qig‘ D i = —
Y i Gl T T
|| s = x__../{khj
:]Tl su SIS
D5
A . = = —A—
bore size(mm) AM| E | D2 |D5 D7 | E EEG) J3 | J4 | KK 12|13 |14]|L5]|L6]L7]|L8 |swi|sw2| VD |WH| zB
32 22|30 |12 (325| M6 45 | 1/8] 6 | 5.2 [M10x1.2541.6(62.8| 4 [25.1] 16 [3.3[ 10| 10| 6 | 18] 26 [120 Order Code
40 24|35 (16|38 |M6|54 [1/4] 8 | 6 [M12x1.25| 44 [ 77 | 4 [29.6] 16 | 3.6 [105] 13| 6 [21.5] 30 [135
50 32 |40 | 20 |46.5| M8 | 64 | 174 | 10 |85 [ M16x1.5| 51| 78 | 4 [296] 17 |51 [115] 17| 8 [ 28|37 [143 sy - 50 x 50 - s i 20 . LB*
63 32 [45 [ 20 |s6.5| M8 75 [3/8[12.4] 10 [M16x1.5| 54 | 87 | 4 [356] 17 [6.6] 15| 17 | 8 [28.5] 37 [158 e e My kit molinle mounting fype| _suit series | remark
80 40 | 45 | 25 | 72 |m10| 93 | 3/8 [12.5| 8 | M20x1.5[52.4]95.2] 4 |35.9] 17 |10.5|15.7] 22 | 10 |34.7| 46 [174 Sk 1506431 Standard Blank; wihoul magre 10 1 gmm Blank S [ SID ] SU
100 40 | 55 | 25 | 89 [m10[100] 172 [11.8] 10 [ m20x1.5 [69.8]1004] 4 [38.8[100] 8 [19.2] 22 | 10 [38.2] 51 [189 SID: 150 6431 Standard ' 20: 20mm LB S| siD | su
double rod acting type 30: 30mm FA Sl | SID | Sl
DNC...PPV-A FNC...PPV-A 3&5054?:@3!%?:3'0 40: 40mm FB S|
e acl wi
double rod s - front & back flange front install back install adjustable stroke i CA I
. B 0O & 100: 100mm CB el
; TC S| | SID | 50 | sutusieion
. R ©) . 1 @ TC-M-1 SI | SID | Sl_| bore size
N - : TC-M2 §i ] Sib | s | ¥4
11 ) S S S et
= Q) = 11 ©@7e Specification
1 L1 e e o [ T 1 Fant
iy _ .
- cl "gFEr Lw | i He BT Bore size(mm) 32 40 | 50 | 63 80 100 125 160 200
Acting type Double acting
bore size(mm), AB | AH | AO | C1 E H1 SA | TR | XA | E2 | H13 | H3 R TF UF wW ZF Working Medium Air(to be filtered by 40 u m filter element)
- = Sl Basic type FA FB CA CB LB TC TC-M-1 TC-M-2
Thle 1= (sl e il elml =il s els e Fiing Type [ SID Beslo ype FA b TC TC--1 TCHM2
. sl Basic type FA LB TC TC-M-1 TC-M-2
50 10 | 45 |105]415| 64 | 6 [170| 45 | 175 | 65 | 9 | 12 | 45 | 90 | 110 | 25 | 155 T —— 0.1-0.9MPa(14-128Ps)
63 10 | 50 |125]445| 75 | 6 | 185 | 50 |190| 75 | 9 | 12 | 50 | 100|125 | 25 | 170 o 1.5MPa(213Ps)
m 80 12 ] 63 | 15 | 56 | 93 | 6 | 210 | 63 | 215 | 100 | 12 | 16 | 63 | 126 | 154 | 30 | 190 001 PTossure L L m
@ Working Temperature range -5~60C(Unfreeze) @
% 100 T | W |5 (s8s| 18| 6 |20 76 | 230 | 120 | 14 15 45 | 50| 4B | 35 |.205 Using Speed Range Mm/s Sl series:50~800 other series:30~800 %
@ SNCB...PPV-A SNCL...PPV-A Cushion type Variable Cushion L.
g Double earring Single earring Adjustable cushion stroke (mm) 24 32 g
B . Port size PT1/8 PT1/4 PT3/8 PT1/2 PT3/4
g 1 T T e By —— e — 3
2 @ & | s == @ 7
& feohedl2 o T e[l
- @ TT7T i Stroke
. R T : G2y N el e
e He ‘ e o0 | Bore Size(mm Standard Stroke(mm) gﬁt?:kset(dmm) Max Stroke(mm)
E3 XD+
' ; = - ‘ 32 2550 75 80 100 125 150 160 175 200 250 300 400 450 500 1000 2000
_ 40 2550 75 80 100 125 150 160 175 200 250 300 400 450 500 600 700 800 1200 2000
bare size(mm
O1R S Ch i k3 2 k 5 LE D 50 2550 75 80 100 125 150 160 175 200 250 300 400 450 500 600 700 800 900 1000 1200 2000
32 26 10 55 6 13 10 45 142 63 2550 75 80 100 125 150 160 175 200 250 300 400 450 500 600 700 800 900 1000 1500 2000
40 28 12 63 6 16 12 52 160 80 2550 75 80 100 125 150 160 175 200 250 300 400 450 500 600 700 800 900 1000 1500 2000
50 32 12 71 7 16 12 60 170 100 2550 7580 100 125 150 160 175 200 250 300 400 450 500 600 700 800 900 1000 1500 2000
63 40 16 83 7 21 16 70 190 125 2550 75 80 100 125 150 160 175 200 250 300 400 450 500 600 700 800 900 1000 1500 2000
80 50 16 103 10.5 22 16 90 210 160 2550 75 80 100 125 150 160 175 200 250 300 400 450 500 600 700 800 900 1000 1500 2000
100 60 20 127 10.5 27 20 110 230 200 2550 7580 100 125 150 160 175 200 250 300 400 450 500 600 700 800 900 1000 1500 2000
101  BLCH PNEUMATIC BLCH PNEUMATIC 102




Bl l :H Executive Components Bl CH Executive Components
| ) mensions I:- mm J . .
sl A . MB Series Standard Cylinder
+olroke
S] £ . 5 C+Stroke = "
H | 2-Buffer screw Ircder | “i
e =
51__iF MD B L 32 a . §It1|:|~;_'.z§|:1
ls_-H/F'.‘ic\’: width ﬂ/ _____ T Stroke —’>
: With magnet Port thread Number of
; Blank | Rc Magnetic switch
BorSizelimmi A [ B | C | DIEF QB[] & S| O [ ) e R e | S s Blank | without built-in magnet TN | NPT Blank 24~
32 142|48 |94 [ 30 |28 | 20 [27.5]/ 22 | 17| 6 |M10x1.25| M6 [13.5/PT1/8] 4 [7.5] 7 [ 47 |325[ 12| 10] 3 D [with built-in magnet T | G S |14
40 159 (54 |105( 35|34 |22 (322419 7 |[M12x1.25|M6| 16 |PT1/4| 6 [85]| 9 [ 53|38 [ 1613 (35 n_|nf
50 175| 69 [106| 40 [ 42 [ 27 |31 [ 32| 24| 8 [M16x1.5[ M8 [155[PT1/4[85]|7.5[7.5] 65 |46.5| 20| 17 [ 3.5 Kaitalosiah e
63 190| 69 |121] 45 [40 | 29 [33 | 32| 24| 8 |[M16x1.5|M8[16.5/P13/8| 7.5[85| 9 | 75 [56.5/ 20 | 17 | 4 Blank ] Without magnetic switch
80 21486 [128| 45 [ 53 [ 33 | 33 [ 40| 30 | 10 [M20x1.5[M10|16.5(PT3/8| 11 |8.5[13.5/ 95 |72 [25[22 | 4 “please refer o table of stroke/
100 229]| 91 [138| 55|55 [ 36 | 37 | 40 | 30 | 10 [M20x1.5[m10]18.5|pT1/2[13.5] 9.5 [14.5/115] 89 | 25 | 22 | 4 ;ﬂ;@;ﬁlﬂ\;mﬁ:immnem
125 279]119[160| 60 | 74 | 45 | 46 | 54 | 41 [13.5] M27x2 [M12] 23 |PT12] 14 | 12 | 14 [140[110| 32 [ 27 | 4 ‘ ‘ . _ fing UG’ thave this b
160 |332152[180] 65 |94 [ 58 | 50 [ 72 [ 55 | 18 | M36x2 [M16] 25 [PT3/4] 15 | 12 [ 20 [180]140[ 40 | 36 | 4 Meuntig lype i e Dylndersion —
200 |347]167|180] 75 [100| 67 | 50 | 72 | 55 | 18 | m36x2 |m16| 25 [pr3a] 15 | 12 | 20 [220(175] 40| 36 | 5 B Beci byps 32 |é32mm . Blank| Without
L | Axial direction base type 40 | ¢ 40mm Cushi 1| Nylon Canvas
A+Strokex2 F |Rod flange type 50 | ¢ 50mm SO ™ Heat-resistance Canvas
SID s B CeStroke B Stroke G | Without rod flange type 63 | ¢ 63mm = N* | Rubber Cushion
E . 16 G F E+Stoke | - - .= 052 LT
r—il_—.l 5 2 2-uter srow [ e C [Single earrings type 80 | ¢ 80mm Cshion Blank | Both Ends With Air Cushion
’E‘%@ i | gl rrlEEe==t = i D {Double earrings type _100]4100mm _ *The total length of cylinder should increase as following
7 | 4 I T |Earrings type 125 |  125mm when use rubber cushion: 32, ¢ 40 increase 6mm,
@,E gE _?ﬂﬂ EEE _“}?_ SR Cd g 50, ¢63increase 8mm; $ 80, ¢ 100 increase 10mm;
= N . r @ $ 125 increase 12mm
3 / w/) el i
4 Face width e _'Ejﬁl‘_ I
Bore Sizelmm) A | B | C | D | E E |hGi| H I J K BN P e RS T | W
Bore size(mm) 32 | 40 | 50 ‘ 63 ‘ 80 | 100 | 125
32 190| 48 [ 94 | 30 | 28 | 20 [27.5] 22 | 17 | 6 [M10x1.25| M6 [13.5[PT1/8] 4 | 75| 7 | 47 [325] 12 [ 10 _ | _ _ _ _
40 213[ 54 [105[35 (32 |22 (32|24 [19] 7 [M12x1.25/ M6 | 16 |PT1/4[ 6 |85| 9 [53[38] 16 13 Working Medium Air
50 24469 |106] 40 | 42 | 27 |31 |32 |24 | 8 [M16x1.5[ M8 [155(PT1/4| 7.5[85|8.5] 65 [46.5] 20 | 17 Acting type double acting
63 259[ 69 [121| 45 |40 |29 [33 | 32| 24| 8 [Mi16x1.5| M8 |16.5/P138[ 7.5|85| 9 | 75 [56.5] 20 | 17 Max working pressure 1.0MPa
80 300 86 [128] 45 | 53 | 33 [ 33 | 40 | 30 | 10 | M20x1.5 [M10[16.5/PT3/8] 11 | 8.5 [13.5] 95 | 72 | 25 | 22 Min working pressure 0.05MPa
100 320/ 911385555 |36 |37 | 40| 30| 10 | M20x1.5 IM10/18.5(PT1/2(13.5/ 85 [14.5/115| 89 | 25 | 22 Ambient and Working Medium temperature without magnetic switch:-10C ~+70°C, with magnetic switch:-10C ~+60C
125 398[119]160| 60 | 74 | 45 [ 46 | 54 | 41 [13.5] M27x2 |[m12] 23 |Pm12| 14 | 12 | 14 [140[110] 32 | 27 Operating speed mm/s 50~1000 | 50~700
160 484[152[180| 65 | 94 [ 58 | 50 | 72 | 55 | 18 | M36x2 [M16] 25 [P13i4| 15 | 12 | 20 [180[140] 40 | 36 Cushion both ends with air cushion
200 514 (167180 75 [100]| 67 [ 50 | 72 | 55 | 18 | M36x2 |M16| 25 |PT3/4| 15 | 12 | 20 [220[175] 40 | 36 Stroke tolerance mm ~250:*1°  251~1000:*1*  1001~1500:*)® g'
A+Stroke % 2+ Adjustable stroke Lubrication® not required %
Sl CSareow 4 M TOR—— e B S D Port size Rc 178 /4 /4 3/8 3/8 72 72 g
- - *For oil, please use Turbine No. 1 oil ISOVG32 g
i 7 71
rl 8| F 8 | 3 | 1] 2
- = e ;
TR T
/ 20 %: :Qf Pleaze refer to table of stroke/macneti g
koMW “"‘/‘_Lt_ """"" = ¥ Z+Adjustable stroke Iiodo wiTl W ldiJIT HURSHTIaTIT LS oVVILL
4Facewidih  |ng 1O s . 2
Bore size(mm) Max std Stroke(mm)” ’%’?ggi‘:é'c switch type(mm) Magnetic switch parts
BoreSize(mm) A | B |C |[D|E | F |G| H]| I | K L{N]oO]|P Rl s | 1| v|w|z -
Q =l 32 25,50,75,100,125,150,175,200,250,300, BMB4-032
32 189| 48 | 94 [ 30 | 28 | 20 [27.5] 22 | 17 | 6 [M10x1.25| M6 [13.5/PT1/8| 4.5 | 6.5 6.5 | 47 |32.5[ 12 | 10 | 21 40 350,400,450,500
40 209] 54 [105]35[34 [22 13224 19| 7 IM12x1.25/m6 | 16 [PT1/4] 6 |85] 9 |53 [38|16]13 ] 21 50 25,50,75,100,125,150,175,200,250,300, 273,776, BMB4-050
50 234| 69 [106| 40 |42 [ 27 |31 [ 32 24| 8 [M16x1.5[ M8 [15.5(PT1/4[85]|7.5[7.5]| 65 |46.5| 20| 17 | 23 63 350,400,450,500,600 Y59A,Y598 '
63 250| 69 [121]45[40 [ 29|33 (32 24| 8 [M16x1.5[M8[16.5(PT38[ 75|82 | 9 | 75 [56.5/ 20| 17 | 23 80 I Y7NW, Y7BA, —_——
80 28686 [128| 45 [ 53 [ 33 |33 [ 40 | 30 | 10 [M20x1.5[M10|16.5|PT3/8| 11 |8.5[13.5/ 95 | 72 | 25| 22 [ 29 100 S BS0A00 AEGS00600 00800
100 304| 91 [138| 55 |55 [ 36 | 37 | 40 | 30 | 10 [ M20x1.5 [M10[18.5[PT1/2[13.5| 9.5 [14.5/115]| 89 | 25 | 22 | 29 125 IR BA4-080
125 378/119[160| 60 | 74 [ 45 | 46 | 54 | 41 [13.5] M27x2 [M12]| 23 [PT12| 14 | 12 | 14 [140]110] 32 | 27 |40.5 T —
160 458[152/180| 65 | 94 | 58 | 50 | 72 | 55 | 18 | M36x2 |M16| 25 [PT3/4] 15 | 12 | 20 [180]140] 40 | 36 | 50 :W, il s g
200 1486|167[180] 75 [100] 67 | 50 | 72| 55 | 18 | M36x2 |m16] 25 [p131] 15 | 12| 20 [220]175] 40| 36 | 54 iR g SRR IR Bl
BLCH PNEUMATIC BLCH PNEUMATIC
103 104




BLCH Executive Components BL:H Executive Components

Dimensions | mm} SDA Series compact Cylinder  Order Coce
Basic type _ SDA 20-30 SB
MM ...E.. 2RcP G Air cushion w v  Cylinder port | | | | |
\__F¥ il wnp 500
; 1 e T SDAJ20-30-30 S B [
ﬁ'
& SI A T— | | L model code Thread code)
—_| — | | | A. compact cylinder(double acting ank: g thread
=g, + S ( ) ~Blank: gthread _
Vi — SSA; compact eylinder(single acting push)1) T: PT thread
pectlve enath T STA: compact cylinder(single acting pull)2 Rod thread
A K[| F N 2x4-J N SDAD: compact cylinder(double rod) Blank: female thread type
i i;f;:";e (; SDAJ: compact cylinder(adjustable stroke) B: rrale Hhread typs
® Magnet
Bore size | Stroke range| Effective length ; Blank: without magnet
(mm) {om) g A|LB|JC|éD| $E| F | G |MA|MB J K| MM N|P|S|VIW[H|ZZ — : Bore size #—— S-with magnet
32 500 195 |22 46[32.5 12 [ 30 |13 13| 16 | 4 | M6x1.0 | 6 [M10x1.25 27 [1/8 |84 | 4 |6.5/47]135 el ae Db s
- ! i x1. x1. ; .
® Adjustable strok
40 500 27 [30]52[38]16|35]13]| 14| 16 | 4| M6x1.0 | 6 |[M14x1.5| 27 [1/4|84 | 4 | 9 |51]139 Al 112 :g;g;g g; :ggggg b
50 ~600 32 35| 65 [46.5] 20 | 40 |14 [15.5] 16 | 5 [M8x1.25] 7 [M18x1.5[31.5[1/4 [94 | 5 [10.558] 156 Other speciiication 50 100 E;‘;f;‘f‘ii‘amns Adjustable siroke
63 ~600 32 35| 75 |56.5| 20 | 45 | 14 [16.5| 16 | 5 |M8x1.25| 7 | M18x1.5|31.5/3/8 |94 | 9 | 12 |58| 156 1010
80 ~800 37  |40[ 95|72 25[ 45|20 19 [ 16 |5 [mi0x1.5][10] M22x1.5] 38 [3/8 [114}11.5] 1472] 190 =
100 ~800 37 40(114|89 | 30 | 55 (20| 19 | 16 | 5 |M10x1.5|10| M26x1.5| 38 |[1/2 [114|17 | 15|72|190 Siiok 20:20mm
125 | ~1000 50  |54]136/110] 32 | 60 | 27| 19 | 20 | 6 |M12x1.75113| M27x2.0| 38 |1/2 |120] 17 | 15 |97]223 P 30:30mm
Please refer to table of stroke SDAJ 40:40mm
Foot type Flange type A When the interface thread is M5jf, this code is empty 90:50mm
i (2The single acting push type means that the piston rod 75:75mm
=) (B Le extends during ventilation, the front spring is compressed, 100:100mm
2} AR and retracts when the air is cut off.
i‘rﬁ;j i . = The single acting pull type means that the piston rod retracts Other |giank
s [ : E when the air is ventilated, the rear spring is compressed, and Specification
E— O ~1@ [ | Specification extends when the air is cut off.
e = = ’
L Yj X i
i FE ||FT Bore size(mm) 12 16 20 25 32 40 50 63 80 100
Acting type Double acting
Working Medium Air(to be filtered by 40 p m filter element)
Bore size Foot Flange Operating Double Acting 0.1 ~ 1.0MPa(15 ~ 145psi)(1.0 ~ 10.0bar)(1 ~ 10kgf/cm2)
(mm) Part Numbe X Y |¢WD|LH | LS | LT [ LX | LY | LZ | ZZ |PartNumber| B |&$FD| FE ET: | EX | BY' | EZ pressure range| Single Acting 0.2 ~ 1.0MPa ( 28 ~ 145psi)(2.0 ~ 10.0bar)
32 MB-L03 22 | 9 7 |1 30)128(3.2| 32|53 |50 (162 MB-FO3 50 7 3 10 | 64 | 32 | 79 Proof pressure 1.5MPa(215psi)(15bar)
g‘ 40 MB-L04 24 | 11| 9 | 33]132|32| 38|59 |55|170| MB-FO4 55| 9 | 3 |10]|72 |36 | 90 Working Temperature range -5~60°C(Unfreeze) g‘
% 50 MB-L05 27 | 1 9 | 40 |148| 3.2 | 46 |72.5| 70 | 190| MB-FO5 70 9 2 12 | 90 | 45 [ 110 using speed range mmy/s double acting: 30~500. single acting: 50~ 500 g
S 63 MB-LO6 | 27 | 14 [ 12 | 45 |148|3.6 | 56 [82.5/ 80 | 193] MB-FO6 | 80 | 9 | 2 | 12 |100| 50 | 120 200k lolerrca range 0-+1.0 s
g’ 80 MB-L08 30 | 14|12 | 55 (174|145 | 72 102.5100| 230| MB-FO8 100] 12 4 16 | 126 | 63 | 153 Cusm‘?n type Bumper 9
= 100 | MB-L10_ | 32|16 | 14 | 65 [178] 5 | 89 [122]120]234] M8B-F10_ [ 120] 14 | 4 | 16 [150] 75 [ 178 FortEles MO8 | GHR | G | £l =)
% 125 MB-L12 45 | 20 | 14 | 81 |210| 8 | 90 | 149|136 282 | MB-F12 138 | 14 7 20 | 180|102 | 213 0 ) ( } g
- Dimensions { mm _
& ' 7
single earring type Ry o 0o i _ %6 - KA OB
Bore size Single Earring ._%G:_._ || =
(mm) Part Number L RR U $CD CX M g i
oc 32 MB-C03 23 10.5 13 10 14 ; S e A e P e S |
T T 40 MB-C04 23 11 13 10 14 Th | q N\ i !
— | f ﬂ: _l P ¢
’% 50 MB-C05 30 15 17 14 20 1 |@ gﬂ W\ /) p
| ) 63 MB-C06 30 15 17 14 20 k f T AN "'--T|
80 MB-C08 42 23 26 22 30 N3 | . == N3 . Rz |
IZn 100 MB-C10 42 23 26 22 30 -ﬁﬁm g elilloc _ E depth EA _ 4B _ AC+Stroke_ ¢
125 MB-C12 50 28 30 25 32 i ___ AC+Stroke _ . AsStroke _|
__A+Stroke

105  BLCH PNEUMATIC BLCH PNEUMATIC 106




Bl l :H Executive Compaonents Bl CH Executive Components
- X - - - CQ2 series compact cylinder
size(mim) sarad] il Blawncad 5 B |BA| D [DA| E|EA|H| J [JA|KAIKBIM MA| P o St ol cisisel T
12 22 | 32 17 | 27 |25 - | 6| 4 |M3x05| 6 | 5|65[45|12 [163[102] 1 M5x08 75 | 756 | 6 | 5 |23
16 24 | 34 |55/ 185 [285/29 - | 6| 4 |[M3x05| 6 |5 |65|45]|12[19.8/ 11 |15 M5x08 8 | 8 | 5 | 55 |28
20 25 | 35 6.5/ 195 [295[34 36| 8 [ 4 [Max07] 8 |6 |65|a5|14]24[13[15/M5x08 8 | 9 | 5 | 55 | —
25 27 |37 |6| 21 |31 |40 42 |10] 4 |[M5x08| 10| 8 |82 |55| 15|28 17| 2 [M5x08 9 | 9 | 55 | 65 | - Order Cod
32 [315(415|7]245/[345/44 650 12]a5/M6x10[12]10[82[65/16][34 2225 PT1/8] 9 | 9 [65] 9 |- S
40 33 |43 | 7| 26 | 36 |52 585 16| 4 |M8x1.25/ 12 |14 |105|6.5| 20 |40 | 28| 3 | PT1/8 | 95 | 95 | 75 | 75 | -
50 37 |47 |9| 28 | 38 |62715/20| 5 |M10x1.5| 15|17 |105/ 65|25 |48 |38 | 4 | PTi/4 | 8 |105| 8 |105]| - Q2 B - 50x50 - D M
63 41 |51 |9| 32 | 42 |75 8a5|20] 5 |[M10x18 15 [17|105|65|25 |60 | 40| 4 | PT1/a [ 95 | 12 |95 | 11 | - T
80 52 | 62 |11] 41 | 51 |94 |104| 25| 6 |M14x15/ 20 (22| 17 | 11 | 25| 74 |45 | 65 | PT3/8 | 115 |145| 115|145 — Rod thread type
100 | 63 | 73 [12| 51 | 61 [114]124|32] 7 |[M18x1.5 20 [27| 19|13 |30 |90 55| 5 | PT3/8 | 16 [205| 16 | 205 | - Bore: dize ® st Blank: female thread
Mounting Ore Size ™ glioka M:male thread
B:through hole Actin
g type
N A:both end thread hole g:d.ou?ie a;:_ting )
- :Stanaar :S!ﬂg e ac ll"lg pusl
12-016 $20-9100 Bore e | e e I K2 LIimlvIiw CDQ2:standard with magnet T:single acting pull
B2{B2+single acting normal out stroke) Slze(mm)
E(E+single acting normal out stroke} 12 17116 | 4 1 10| 8 4 M5x0.8 |110.2| 28| 6 5
J” F{F+single acting normal aul sroke) 16 [175/16| 4 [15/10| 8 | 4 | M5x0.8 | 11|28 6 | 5
20 205/19| 4 |[15]13|10] 5 | M6x1.0 [ 15| 2.8| 8 6
- i 23|1211] 4 2 115112 | 6 [M8x1.25|17 (28|10 8
5%1 FERH--1- 32 |25]22] 4|3 [15[17] 6 [miox1.25[ 22 [2.8[12] 10 i | r selection
B o 40 35|32 1| 4 3 125(19| 8 |M14x1.5|28|28| 16| 14
B2(B2+single acting normal oul stroke) i
/) w ST e s 50 137[33] 5|4 [25][27 11 |miex5]38]2.8][20]17 o—toresizs| 4 | ” | 5% ’ " ‘ i | o ‘ = ‘ ” | -~ | o ‘ o
Zits 6 g 63 [37[33] 5[4 [25[27]11[miex15]40]28[20] 17
M H | Tartial ot Sk 80 44 (39| 6 5130132 |13 | M22x15| 45| 4 | 25| 22 auto switch D-A73L D-A93
- 100 50145 | 7 5 |35|36 |13 | M22x15|55| 4 | 25| 27
NS
Specification
-G Bore size(mm) 12 | 16 | 20 | 25 | 32 40 | 50 ‘ 63 ‘ 80 ‘ 100
SDAJ
Acting type Double acting
©12. ®16 ®20-0100 Working Medium Air(to be filtered by 40 u m filter element)
ik Operating pressure 0.1~0.9Mpa(1~9kgf/cm?)
MA P PA | e FA Proof pressure 1.35Mpa(13.5kgf/cm’)
T FA 1\ = Working Temperature range -5~60°C(Unfreeze)
ol B (] Egepthea p I(“-; ' —&H—HER a:1 CUShi_Oﬂ type with Cushion m
.. = Port size M5 | 1/8" | 1/4" 3/8" 8
' i i Body material Aluminum alloy g
AB A+ Siroka AD+adjustabla stroke oA oA | g’
A+Stroke X 2+adjusiable stroke AB| [T TAC+Swroke " | |AD+Stroke+adjustable stroke 9
A+ Stroke X 2+adjustable siroke £ depih EA 3
=3
S
Stroke 2
) NG ﬁ
Bore A AC EA PA
- wr—| AB s —| AD E FA| M |MA R _
size(mm) et standard | i St=10| St>10 St=5 |St>5 Bore size(mm) Standard Stroke(mm) Max std Stroke(mm)| Max Stroke(mm)
12 40 50 5 17 27 | 17 | M3x05 6 6 4 [102] 1 5.5 6.3 M5 x 0.8
16 425 | 525 55 185 | 285 | 17 M3 x 0.5 6 6 4 |11 |18 65 7.3 M5x 0.8 12 5101520 25 30 35 40 45 50 50 60
20 475 | 57656 | 55 | 195 | 295 | 21 | M4x0.7 | 8(St=5&65 | 5 | 16 | 16| 7.5 75 M6 x 1.0
25 54 64 6 21 31 25 | M5x08 10(S1=5057) | 6 | 17 | 2 8 8 M8 x 1.25 16 51015 20 25 30 35 4045 50 50 60
32 615 | 7156 | 7 | 245 | 345 | 27 | M6x1.0 8 2 |6 |22]| 3| 8 9 | Mi0x1.25 20 510 15 20 25 30 35 40 45 50 55 60 65 70 75 80 80 90
40 64 74 7 26 36 28 | MB8x1.256 8 12 7 |28 ] 3 8 10 M12x1.256 25 5101520 253035404550556065 707580 80 90
gg ;g gg g gg ig ;g mgxl-g % 12 S ig : 935 1?2 mgﬂ-g 32 510 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100 130 150
xX ] B g X
80 525 11025 11 2 51 355 Midx15 3 20 02515 116 1748 MZ0x 15 40 51015 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100 130 150
100 1105 | 1205 | 12 51 61 |425| Mi8x15 | 18 20 [135| 55 | 5 | 16 | 205 | M27x2.0 50 510 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100 130 150
- 63 510152025 3035404550556065 707580859095 100 130 150
80 51015 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100 130 150
100 5101520253035404550556065707580859095 100 130 150
107  BLCH PNEUMATIC BLCH PNEUMATIC 108




Bl l :H Executive Compaonents Bl CH Executive Components
Dimensions (mm) CQS series compact cylinder
P
@12"@)16 ¢12"'¢100 Part size
4- N through hole I "
H depth pf thread C 8-0 Fat botiom hole H{tepth P IhEad ¢ ;-[TI::aTbZ:go:wh::a r—c“ "—F“ N, s |
~ Q F 2p J (
N r—. T Port size — ‘\
- = t i Qs - 50x50 - B M
ol -G & 2 mEERET & [
L 8 | Wl ¥ " B Acting type
L i D:double acting
g 5 bore size * stroke  S-Single acting push
T:single acting pull
PUNE— E— CQS:standard
Rod thread type
CDQS:standard with magnet Blank: ,emaggﬁhread
M:male thread
bore size(mm) B éD| E F H & | J K|{L|M|[&dN 0 P Q| W| Z
12 17+st 6 [ 25| 5 | M3x05 | 6 | 32 - 5 |3.5|15.5| 3.5 | 6.5depth3.5 M5x0.8 | 75| - -
16 185+st | 8 [ 2955 mMax0.7 | 8 [ 38| - | 6 [35]20[35][65depth3.s | m5x08 | 8 | - | 10 Criteria for selection
20 19.5+4st | 10 | 36 | 55| M5x0.8 | 7 | 47| - | 8 |4.5|25.5| 5.5 |9depth7 M5x0.8 | 9 | - |10
25 225+st | 12 | 40 | 55| Mex1.0 | 12 | 52 - |10 | 5 | 28 | 5.5 |9depth7 M5x0.8 | 11 - |10 Bore size 12 16 20 25
32 23+st 16 | 45 | 7.5 | M8x1.25( 13 [ 60 |45| 14 | 7 | 34 [ 5.5 [9depth? 1/8 10.5/49.5| 18 Type
40 295+4st | 16 |52 | 8 |[M8x1.25| 13 |69 | 5 |14 | 7 | 40 | 5.5 |9depth7 1/8 11| 57 ] 18 Auto switch D-A93
50 30.54st | 20 | 64 |10.5|M10x1.51 15|86 | 7 |17 | 8 | 50 | 6.6 | 11depth3 1/4 105| 74 | 22
63 36+st 20 | 77 |10.5| M10x1.5| 15 [103| 7 |17 | 8 | 60 [ 9 [14depth10.5 1/4 15| 84 | 22
80 43.5+st | 25 | 98 [12.5| M16x2.0| 21 [132| 6 | 22 | 10 [ 77 [ 11 [17depth13.5 3/8 16 | 104 | 26
100 53+st 30 [117] 13 | M20x2.5| 27 [156|6.5| 27 | 12 | 94 | 11 [17depth13.5 3/8 23 |1235] 26 )
YD Ification
Bore size(mm) 12 16 20 25
O-thread Acting type Double acting
Working Medium Air(to be filtered by 40 p m filter element)
A —— Operating pressure 0.1~0.9Mpa(1~9kgf/cm?)
\ ‘} : Proof pressure 1.35Mpa(13.5kgf/cm?)
Working Temperature range —-5~60C(Unfreeze
y ( )
. ‘~. _______ = "|_ Cushion type without Cushion
. : o
. — Port size M5 a
c l &&M Body material Aluminum alloy g-,
K X R R S
..L__.. B+siroke g
o
el £
SLIOT g
71
Bore size(mm) c X D H L K 0 R bore size(mm) Standard Stroke(mm) Max std Stroke(mm) | Max Stroke(mm)
12 9 10.5 6 M5x0.8 14 5 M4x0.7 7 12 51015 2025 30 50 60
16 10 12 8 M6x1.0 15.5 6 M7x0.7 7 16 51015202530 50 60
20 13 14 10 M8x1.25 18.5 8 M6x1.0 10 20 51015 20 25 30 35 40 45 50 80 %0
25 15 17.5 12 M10x1.25 22.5 10 M6x1.0 10 25 51015 20 25 30 35 40 45 50 80 90
32 20.5 23.5 16 M14x1.5 28.5 14 M6x1.0 10
40 20.5 23.5 16 M14x1.5 28.5 14 M6x1.0 10
50 26 28.5 20 M18x1.5 33.8 17 M8x1.25 14
63 26 28.5 20 M18x1.5 33.5 17 M10x1.5 18
80 325 = 5k 25 M22x1.5 43.5 22 M12x1.75 22
100 325 355 30 M26x1.5 435 27 M12x1.75 22
109  BLCH PNEUMATIC BLCH PNEUMATIC 110




BI l :H Executive Components BI l :H Executive Components
Dimensions ( mm ) ADVU seris compact cylinder
Through hole screw holes at both ends are same/cqsb cdasb Svmbhol
Aul iich
2x40bsink Port size:ms x 0.8 ﬁ!?rt?nf:#ﬂndm raiilis of wire 10 Ninmum bending Tz ot vre 10
Hole deeprb H effective thread c Port size.2-mb = 0.8
* 4-0a affective a B % [:]:::I
H H % 3 |
R ImE ¢ TH— 5 AEES
: e T T 1 |§ £
:ﬁ;— B m== $ e
Aéa_sﬁgr ls 2 4 washear 4 . R 2
. Standard Double acting (standard) | Built-in magnet type Order Code
Bore size(mm)
| R E H | K| M| N OA |OB|RA|RB| T |Q A B 2 [ 8 e A B
12 6 | 6 |25|M3x0.5[32| 5 [15.5[3.5]M4x0.7|6.5] 7 | 4 [0.5[7.5]20.5+st| 174st | 5 [3.5[7.5[25.54st| 22+st ADVU - = - - [p] - s
16 8|8 |29|M4x0.7|38| 6 | 20 [3.5|M4x0.7|6.5| 7 | 4 |0.5|7.5[22.54st| 17+4st | 5 |3.5|7.5|25.5+st| 22+st I | T 1 T 1
20 7 |10 |36 [ M5x0.8{47 | 8 |25.5(5.4 | M6x1.0] 9 |10 7 | 1 | 9 | 24+st [19.54st|55(4.5| 9 | 34+st |29.5+st Model Bore Size  Stroke Cushioning Type
25 12112 |40 |M6x1.0(52 [10| 28 |5.4|M6x1.01 9 | 10| 7 | 1 |11 |27.54st[22.545t{55| 5 |11 |37.5+st|32.54st Double Acting P | Flexible Cushioning
ADVU | Basic T)Q:_!e Rings/plates At Both Ends
ADVULQ |Square Piston Rod Postion Sensing
- - : Single Acting A| For Proximity
Single acting spring out AEVU Basic Type Sensing
S Built-in magnet type AEVUZ Basic Ty;_Je. pulling
; AEVULQ | Square Piston Rod )
Bore size(mm) A B . 3 A B AEVULQZ | Square Piston Rod, pulling Variant Type
5st 10st 5st 10st 5st 10st Sst 10st ristﬂgef‘nﬂatgg'%?ggd g;r$§inf0rﬁe§ F:ismp? god
.lnroug! 1SION RO
12 25.5 30.5 22 27 5 3.5 30.5 35.5 27 32 A | Male Thread S6:Temperature Resistance Up To Max. 120C
16 255 30.5 22 27 5 3.5 30.5 355 27 32 S$20:Through, Hollow Piston Rod
20 29 34 245 295 55 45 39 44 345 395 S26:Through Piston Rod, Heat Resistant Up To 120 °C
5206:Through, Hollow Piston Rod, Heat Resistant Up To 120 C
25 32.5 37.5 275 32.5 5.5 5 42.5 47.5 32.5 42.5 F inareasar Cotisiog Prtoition
Single acting spring back
Standard Built—in magnet type opeciticatior '
Bore size(mm) A B L A B
Sst 10st Sst 10st | S5st [10st S Sst 10st Sst 10st Bore size(mm) 12 16 20 25 32 40 50 | 63 80 100 125
o 12 305 .5 =2 21 185 1351 Jo D3 355 2 2 Port Size M5 | M5 | M5 | M5 | Gi/8 | G1/8| G1/8| G1/8|Gi/8  |GiB  |G1/4 iy
% 16 30.5 40.5 22 27 |851135] 75 30.5 35.5 27 32 biston Rod Eng_ femalethread] M3 | M4 | m4 [ M5 [ M6 [me [ ms [m8 |ms Mi2__ |M12 g
3 20 s4 33 A g2 __|=a M5l 2 32 i ot b malethread | M6 | M8 M10x 1.5 M12x 1.6 | M16x 1.5 M20X 1.5 M27x2 3
Q 25 37.5 42.5 32.5 32.5 10115 1 42.5 41.5 37.5 42.5 Working Medium Compressed air in accordance with SO 85731:2010 [7:4:4] 9
g Note On Operating/pilot Medium: Operation with lubricated medium possible (in which case lubricated operation will always be required) g
3 Theoretical Force At 68 121 188 295 483 754 1178 1870 3016 4712 7363 S
% . 6 Bar, Advancing $2/S20 51 90 141 247 415 686 | 1057|1750 2727 4418 | 6881 5
- Bore size(mm) C H L X - i
Theoretical Fo;ce At 51 90 141 247 415 686 1057 | 1750 2827 4418 6881
12 90 M5x0.8 14 10.5 6 Bar, Retracting S2/S20 51 90 141 247 | 415 | 886 | 1057| 1750| 2827 4418 | 6881
H 16 10 M6x1.0 15.5 12 Max. Impat‘:tl Energy 0.09| 0.10| 0.14 0.30 0.40 0.52 | 0.64 | 0.70 0.75 1.00 4.00
\ 20 12 M8x1.25 185 14 At End Positions 20 0.01| 001] 001 | 001 | 004 | 005 006|007 | 008 0.10 | 0.40
-H4-- 25 15 M10x1.25 22:5 15 Structure Feature piston,piston rod
Cushioning spring cushioning at both ends
i i with position sensin
Rod end nut Bore size(mm) G H L5XY) | LOOXY) X Postion Sensing . p g
c Via throught hole
X 12 90 M5x0.8 19 12 10.5 Type of mounting Via female thread
L 16 10 M6x1.0 | 20.5 16 12 Via mounting plate
20 12 M8x1.25| 23.5 20 14 Mounting position any
25 15 M10x1.25| 27.5 25 V&5
111  BLCH PNEUMATIC BLCH PNEUMATIC 112




BI l :H Executive Components BI CH Executive Components
Dimensions (mm) MAL series aluminum mini cylinder
basic type-ADVU ®12~100mm 125mm
PL = I
1
— T2 =C1 T e S
PL _.T_ T2 ) wraer |\ 1€
= ;I‘ = L; MAL CA 32x50 - B FA
51 T T
o 3 X Back cover Mounting type
=2y eh._,_. ® _* = Sl R Blank: inOl type Blank: basic
Cm:round type Fa:front flange type
| U:flat-end type Sdb:back flange type
Lb:foot bracket type
— Bore size*stroke
&| BG" ' Series
7Y « v T L - 1 Mal: standard double acting type Magnet
% o o - TR Mald: double rod double acting Blank: without magnet
. Malj: double rod adjustable stroke S:with magnet
Natice: should be mount the “Mini. Rotating depth 18mm Msal: single acting push
L4 ﬁ;gns‘g ;gmspg:;hgngg‘;ym Can not be slcmwed through with inner hex screws
2| use non magnetic screw. AR working Sroke
+=add working stroke
[BMini. Retating depth
D1 = i
omm)| 5. |Ba| o E|EE|H | 2| 3a|La MM pL | RT|T2, /7G| vD | 20 | <1013 Criteria for selection
H9G :
12 - 18.5 6 29 M5 1 38 3 16 6 8 M4 4 |18 - 42.5 & Bore size
16 = 185| 6 29 (M5 | 1 38 3 16 | 8 | 8 M4 | 4 |18 - | 4a25| 7 Type 16 20 25 32 40
20 - 18.5 6 36 M5 15 38 4 18 10| 8 M5 4 |22 - 42.5 9 aiifo swhoeh CS1-F CS1-U
25 = (1851 6 140 IMo 11,5 10%a 4 L1001 101 8 IMG)| 4128 | -~ |45 3 Auto switch mounting base MAL-16 [ MAL-20 [ MAL-25 | MAL32 | MAL-40
32 - 21.5 6 50 |G1/8| 2 445 5 20 12| 8 M6 4 |32 - 50.5 10
40 - 21.5 6 60 G1/8| 2.5 | 45.5| 5 20 12| 8 M6 4 |42 - 52 10
50 - 22 6 68 G1/8| 3 455 6 20 16| 8 M8 4 |50 - 53 13
63 - 24.5 8 87 G1/8| 4 50 8 25 16| 8 M10| 4 |62 - 57.5 13 if
80 - 27.5 8 107 | G1/8| 4 56 8 25 20| 8.5 M10| 4 |82 - 64 17 I I
100 | - 32.5 8 128 | G1/4| 5 66.5| 8 25 25| 10.5|(M10| 4 [103 - 76.5 22
125 | 60 | 19.5| 10 | 132 |G1/4a]| - |81 | - | 18 | 32| 10.5|M12| 6 |110]| 4 | 99 27 Bore size(mm) 16 20 25 Ex 40
Acting type - ' i '
basic type—~ADVULQ ®12~100mm : g yp : | _Double acting _
PL Working Medium Air(to be filtered by 40 u m filter element)
PL T2 Operating pressure 0.1~0.9Mpa(1~9kgf/cm?)
\ Proof pressure 1.35Mpa(13.5kgf/cm?)
Working temperature range -5~60"C(unfreeze)
Cushion type Bumper o
i Notice: should be mount the Port size M5 1/8" g
e e e Body material Stainless steel E
AT Or use non magnetic screw. -
- Ry +=add working stroke 9
= o EIMini. Rotating depth 'g
L4 . g
Bore size(mm) Standard stroke(mm) Max std stroke(mm) Max stroke(mm)
D1
O(mm) BG I?QG E EE H L2 L3 L4 P RT 1%2 TG 12 255075100 125 150 175 200 250 300 500 800
16 2550 75 100 125 150 175 200 250 300 500 800
:g :22 g 2: mg : gz g :2 : mj j :g 20 255075 100 125 150 175 200 250 300 350 400 500 800 1200
20 18.5 6 36 :5 15 a8 2 18 8 M5 2 ey 25 255075 100 125 150 175 200 250 300 350 400 500 800 1200
o5 18.54 6 40 e 15 295 2 18 3 M5 4 26 40 255075 100 125 150 175 200 250 300 350 400 500 1200 1500
32 21.5 6 50 G1/8 e 44.5 5 20 8 M6 4 32
40 21.5 6 60 G1/8 2.5 45.5 5 20 8 M6 4 42
50 22 6 68 G1/8 3 45.5 6 20 8 M8 4 50
63 24.5 8 87 G1/8 4 50 8 25 8 M10 4 62
80 27.5 8 107 G1i/8 4 56 8 25 8.5 M10 4 82
100 32.5 8 128 G1/4 5 66.5 8 25 10.5 M10 4 103
113  BLCH PNEUMATIC BLCH PNEUMATIC 114




Executive Components Executive Components

BLCH BLCH

Dimensions (mm)

MA Series stainless steel Mini Cylinder

CA:blank: pivot type CM:round type

C Ir( ll.:.' '-\ Woe

A+slroke
B C+stroka
E ; G MA CA 32x50 - S FA
H R |62 2% i
3 2t FTIOUI"IIII"Ig type
J / i bore size*stroke blank: besic
A } 3 MGR Lover FA:front flange type
e a1 4] N (SRR I blank: pivot type FB:back flange type
A CM:round type il
|| asrole. il o yp LB:foot bracket type
W [z = fat-end type SDB:rotary bracket type
2:X Series magnet
/ N MA: Standard double acting type S:with magnet
074 ¢ 3 MAD: Double rod double acting
---------- T \ | MAJ: double rod adjustable stroke

MAC: double acting with cushion

MALD:double rod double acting

| A3-2 x stroke

| B Casiroke Bestroke
- 'fu . i Criteria for selection
H Rl 52 | ax GR H 4
s B type il 16 20 25 | 32 | 40
N N
| [ K [ auto switch CS1-F CS1-U
5/ /& g - R ﬂ/ 7 auto switch mounting base MA-16 ] MA-20 | MA-25 [ MA32 | MA-40
W LL i = 3
MALJ:double rod adjustable stroke Specification
Specilication
Ad-2 x siroke+Adjustable siroke BOre SlZe(mm] 16 20 25 32 40
B Castroke
E Ells S| F , cistote Acting type Double acting
H G2 i ) Working Medium Air(to be filtered by 40 u m filter element)
ﬂ] | o] Operating pressure 0.1~0.9Mpa(1~9kgf/cm?)
M) LY s wa Proof pressure 1.35Mpa(13.5kgf/cm?)
3 = Working Temperature range -5~60"C(Unfreeze)
=4 o | 8 2 : "
J \ kg Cushion type without Cushion m
- T+Adjustable stroke Port size M5 1/8" E
Body material stainless steel g.-
, g
bore size(mm)| A Al A2 | A3 | A4 B C D D1 E F G H | J E]
16 107 108 92 131 137 40 51 16 16 24 16 10 16 10 5 : . g
20 131 122 110 150 147 40 70 21 12 28 12 16 20 12 D olroKe 71
25 135 128 114 158 154 44 70 21 14 30 14 16 22 17 b )
32 141 | 128 | 114 | 158 | 154 | 44 | 70 | 21 | 14 | 30 | 14 | - | 22 | 17 | 6 Bare azaimmy Sisnga g iR i olsefinin | s Stsokadnem)
40 143 130 116 162 160 46 70 27 14 32 14 - 24 19 7 16 255075100 125 150 175 200 250 300 500 800
20 2550 75 100 125 150 175 200 250 300 500 800
: 25 255075100 125 150 175 200 250 300 350 400 500 800 1200
bore size(mm K L M P R S u V X AR AX AY
(mm) 0 32 255075 100 125 150 175 200 250 300 350 400 500 800 1200
16 M6x1 M16x1.5 14 6 12 16 10 22 6 M5 6 25 22 40 2550 75 100 125 150 175 200 250 300 350 400 500 1200 1500
20 M8x1.25 M22x1.5 10 8 16 19 12 30 8 RC1/8 7 33 29
25 M10x1.25 M22x1.5 12 8 16 19 12 34 10 |RC1/8 £ 33 29
32 M10x1.25 M24x2.0 12 10 16 25 15 39 12 |RC1/8 8 37 32
40 M12x1.25 M30x2.0 12 12 20 25 15 49 16 |RC1/4 9 47 41

115  BLCH PNEUMATIC BLCH PNEUMATIC 116




BLCH Executive Components Bl CH Executive Components
i ARC o P . . . . .
Dimensions (mm) CM2 Series stainless steel Mini Cylinder
CA:blank: pivot type CM:round type
Asstroke
Castroke ) .
Order Cod
A+siroke 2-X
Castioke CM2 25x50 - D - FA
~~~~~~~~~~~~~~ wiee T = T
CM2B:Standard bore size*stroke moun‘tmg type
i blank: basic
CM2WB:Double rode ;
CDM2B-with » FA:front flange type
Sl acting type FB:back flange type
""""""" D:double acting LB:foot bracket type
fans A:air cushion
G, S:single acting spring back
o T:single acting spring out
P2,
7 % e
MALD:double rod double acting 7
A3-2 x stroka
B C+siroke B+stroke Critaria far eala I_-.‘_'I.. ~
=i =T _riteria for selection
M 2
| a2 | » ok H bore size
H & | i type 16 20 25 ‘ 32 ’ 40
N ¢ N auto switch CS1-F CS1-U
( 2 A Y auto switch mounting base MA-16 | MA-20 | MA-25 [ ma32 ] MA-40
. | o = /
‘l(/ E/ L \_L o L/ K
Specification
MALJ:double rod adjustable stroke
Bore size(mm) 16 20 25 32 40
Ad-2 x stroke+Adjustable stroke
= Custroke Acting type Double acting
E F G G | F_, Castroke z = - - -
Y s Working Medium Air(to be filtered by 40 p m filter element)
l o S Operating pressure 0.1~0.9Mpa(1~9kgf/cm?)
“l L!J = Proof pressure 1.35Mpa(13.5kgf/cm?)
s [ - Working Temperature range -5~60C(Unfreeze)
3 L s ) Cushion type without Cushion U
5/ wl B M% Port size M5 1/8" 1/4" E
T+Adjusiable stroke Body material stainless steel z
g
bore size(mm)| A Al A2 | A3 | A4 B C D D1 E F G H | J E]
16 107 108 92 131 137 40 51 16 16 24 16 10 16 10 5 : . g
20 131 122 110 150 147 40 70 21 12 28 12 16 20 12 5 olroke 71
25 135 128 114 158 154 44 70 21 14 30 14 16 22 17 6
i M td Strok Max Strok
32 141 | 128 | 114 | 158 | 154 | 44 | 70 | 21 | 14 | 30 | 14 | 16 | 22 | 17 | 6 Bote szeil} AEnoend klmr) Bkl Soxeiiiny | WX Soke(ning
40 143 130 116 162 160 46 70 27 14 32 14 16 24 19 Iy 16 255075100 125 150 175 200 300 500
20 2550 75 100 125 150 175 200 500 1000
: 25 255075100 125 150 175 200 250 300 500 1000
bore size(mm K L M P R S u vV X AR AX AY
ze(fvn) Q 32 255075100 125 150 175 200 250 300 500 1000
16 M6x1 M16x1.5 14 6 12 16 10 22 6 M5 6 25 22 40 255075 100 125 150 175 200 250 300 500 1000
20 M8x1.25 M22x1.5 10 8 16 19 12 30 8 RC1/8 7 33 29
25 M10x1.25 M22x1.5 12 8 16 19 12 34 10 |RC1/8 7 33 29
32 M10x1.25 M24x2.0 12 10 16 25 15 39 12 |RC1/8 8 37 32
40 M12x1.25 M30x2.0 12 12 20 25 15 49 16 |RC1/4 9 47 41
117 BLCH PNEUMATIC BLCH PNEUMATIC 118




BLCH Executive Components BL:H Executive Components

Dimensions (mm) CJ2 Series stainless steel Mini Cylinder

CM:round type

B2 H G P ~ P
- IT( | r' i 11
it T‘_‘Kj | /\
) il Al CJ2B 25x50 - D
= v
31 [I: = Series bore size'stroke  acting type
= I CJ2B:Standard D:double acting
E/ ‘ CDJ2B:with magnet S:single acting spring back
Al | 15 15 CDJ2D:double earing with magnet T:single acting spring out
A F N N
HI ; S+siroke F RGN0
ZZ +5lroka I:--'- r Ti:} .'-I.'__i *'. o '_".'I_T on
. foe bore size 6 | 10 | 16
ank: pivot type
2NN auto switch CS1-F C51-U

wtif

AN Specification
N Eacs::y 0 vl N v |72 . F e
: Bore size(mm 6 10 16
. I | ; \-...../ (mm) | |
- - Acting type Double acting
o 8 & Working Medium Air(to be filtered by 40 u m filter element)
i Operating pressure 0.1~0.7Mpa(1~7kgf/cm’)
Proof pressure 1.05Mpa(10.5kgf/cm?)
Working Temperature -5~60C(Unfreeze)
flat—end type Cushion type without Cushion
. Port size M5
& G Body material tainless steel
- B /— ody materia stainless stee
] i i
g [ /( Stroke
/ -
Bore size(mm Standard Stroke(mm
—MM—/ Al 15 ( } ( )
A N N ' air cushion 6 15 20 25 30 35 40 45 50 55 60
m Ssstroke 10 15 20 25 30 35 40 45 50 55 60 o
@ ZZ+slroke ®
% 16 15202530 3541045 505560 75 100 125 g
=
(1 L]
e - _ g
= bore size(mm) A Al B1 B2 D E F G H H1 H2 Limensions (mm) 3
% 16 18 15:5 13 26 8 20 13 8 41 5 8 = g
w 20 18 55 13 26 8 20 13 8 41 5 8 2 i
25 22 195 17 32 10 26 13 8 45 6 8 P . E— — MW WM %m —
32 22 19.5 17 32 12 26 13 8 45 6 8 |  — o 8, ; WK E/
40 24 21 22 41 14 32 16 11 50 8 10 =i ] @ 2y e
A | FlTL A ng| =L |
' H Sesiroke A LoLEE K| [NB|
bore size(mm) K L | K N NA P S 2z WA WB Zasia " Sastioke
16 Méx1 M20x1.5 28 5 15 24 M5 62 116 11.5 85
20 M8x1.25 M20x1.5 28 5 15 24 1/8 62 116 11.5 8.5 Bore size(mm)| A B C D E GA | GB H MM NA | NB [ND h8 MM S T Z
25 M10x1.25 M26x1.5 33.5 5.5 15 30 1/8 62 120 115 10
32 M10x1.25 M24x1.5 375 | 55 15 | 345 | 118 | 64 | 122 | 115 | 115 6 15112 | 141 3 | 8 1145 28 | M3x05 |16 | 7 | 6 | Méxi.0 [ 49 | 3 | 77
40 M14x1.5 M32x2.0 46.5 7 215 | 425 | 14 88 154 14 15 10 15112 14 4 | 8 [8 |5 28| MIO7 1125/95| 8 | M810 | 46 74
16 15 18 20 5 8 8 5 28 M5x0.8 125] 9.5 10 M10x1.0 47 75

119  BLCH PNEUMATIC BLCH PNEUMATIC 120




BI l :H Executive Components BI l :H Executive Components
DSN Serles round Cyllnder Dimensions (mm)
Basicx Type Q-square Piston Rod
ZJ+ BF,
L2+
Good running performance and long I :]:::’ [: ‘:% P pL
service life | | | | WE L 5t T
Wide range of variants for customised . BF EE,
applications . ‘ p p B vD_, 1 VD
Extensive range of accessories makes it ‘ ! &
possible to install the [t]:%v [r — =T L. ry rO
cylinder virtually anywhere / z : S
| | ] | 5 W s Pl | A A g ___________ _ w0
DSNU DSNU-KP b B ‘ .
[ = N ,‘-‘:——ﬁ “‘\
iC v : ;
| i [ L\
ESNU KW 1
XC+
r Codc¢ += Add Stroke Length
DSNU ] ] KP Mq-lateral Supply Port S2-both Ends Piston Rod
Double Acting Position Sensing Clamping Unit
Round Cylinder Stroke A | For proximity KPlV\?‘;thgclam R , ZJ+ ZMe+ .
Bore Size  25.40,50.80, sensing (1) Ping - " L2+ ZJ+ ;
32.4050,63 100,125,160, _ . [
200,250,320 C;S?der Cover %p“m Temperature resistance Fi gy = .
M C[?;?erp;nsﬁn lco‘;er;‘.z S6 |Heat-resistant seals , T - - !
PRIY. ROl Temperature resistance | TR | | i S | ¥ = S || B = g e | =
Cushioning Type ) up to max. 120C
p | spring cushioning at both ends Piston Rod Type s i
PPV | adjustable cushioning at both ends — | one end piston rod - +=add stroke length
PPs | self-adjusting cushioning at both ends S2| both ends piston rod ++= add twice stroke length
Both ends of the piston rod have the same thread structure. When
1)Mini. Stroke is 10mm combined with the variant type Q , the piston rod on the left side is
2)not suit for piston rod S2 cylinders square and the piston rod on the right side is round.
3)suit for the cylinders With clamping unit (kP)
B CD
omm | AM | o = BE | BF | @ D | oie| B4 | e ew | G
Bore size(mm) 16 20 25 32 h9 E10
%‘ 32 22 30 10 M30x1.5| 26 10 38 42 33.6 G1/8 16 19 g.'
% Port Size G1/8 G1/4 G1/4 G3/8 40 24 38 12 |M38x1.5] 30 12 46 50 41.6 Gi/4 18 o5 %
: Gripping Holder Port Size M5 G1/8 G1/8 G1/8 50 57 52.4
@ - @
g Piston Rod End female thread 63 e = 5 s 18 70 e 65.4 G3/8 = 28 9
= Piston Rod Thread M10x 1.25 M12x1.25 Mi16x 1.5 | M16x 1.5 é
_3 P spring cushioning at both ends g
g- Cushioning Type PPV adjustable cushioning at both ends XC 8
' PPS self-adjusting cushioning at both ends ®(mm) KK KW - L2 Mmo PL vD WF +1 zJ M =1
Cushioning Length(mm) Y 14 18 20 21 32 IM10x1.25 8 13 69.5 12 9 2 34 | 1175 | 1035 | 1375 10
PPS 14 18 20 21 40  |M12x1.25 15 84.6 16 12 39 | 1396 [ 1236 | 162.6 13
Theoretical force at 6 bar, advancing(N) 483 753 1178 1870 50 . 10 86.2 3 44 147.2 130.2 174.2 i
Theoretical force at 6 bar, retracting(N) 415 633 990 1682 63 18t 16 94 .2 & 13 45 156.2 139.2 184.2
piston rod Max. Torsion ( Nm) 0.8 1.1 1.5 1.5
—— End Cover:wrought Aluminium Alloy  Cylinder Barrel:high-alloy Stainless Steel
Piston Rod:high-alloy Stainless Steel Seals:polyurethane, Nbr Spring:spring Steel
DSNU,basic type, variant type | DSNU,S6 DSNU-...-KP
Working Pressure 1...10 3..10
Ambient temperature | 0..4120 -10...+80
121  BLCH PNEUMATIC BLCH PNEUMATIC 122




BI I :H Executive Components BI l:H Executive Components
TN Series double rod Cylinder
@ 16 ®© 25Bore size
Order Cod:
Assiroke x 2
Beatroke Castroke
N - 25x20 T
B = 1 15 D + 0.2+siroke
Series bore size X stroke T
M R | | stroke H Ef02 through hole:2- ©3.4
W / flange type
th side % - >
~ ——] N1 N2
e o o A
3| 2| F I 1 ;%@E d,% ] l :
Emt © ®, H:H:T i @
LY 20/ Y 2-P2 regular hole \M‘—
Bore size(mm) 10 16 20 25 32 Bore sizemm) A | B | C | D strgce 10 |20 [ 30 [40 [ 50 [ 60| 70 | 80| 90 |100|125|150| F | G | H |
Acting type Double acting 16 68 | 15|53 |20 | E [ 30|35 |40 |45 | 50| 55|60 65| 70| 75 [87.5/100] 8 |47 | 6 | 6
Working Medium Air(to be filtered by 40 u m filter element) 20 78 | 20 | 58 | 20 E | 353540 |45 |50 | 55|60 )|65| 70| 75 |87.5|100] 10 | 55| 9 9
Operating pressure 0.1~0.9Mpa(1~9kgf/cm’) 25 81 | 19|62 [30| E |40 ][40 |45 |50 | 55|60 |65 | 70| 75|80 (925[100{10|66| 8 | 8
Proof pressure 1.35Mpa(13.5kgf/cm?)
Working Temperature -5~60°C(Unfreeze)
Cushion type bumper Bore
sl i P ' size(rir) J K| L |M|[N|N2 P1 ) QR[S | T]|V | |w
Port size M5x0.8 G1/8
Body metendl Aluminum alloy 16 | M4 x0.7depth5| 47 | 53 | 20 | 22 | 10 |bonseo7ssonammivounn rosors| conssossone emmanenss | 34 | 4 [ 54 [ 21 | 8 | 6.2
20 | M4 x0.7depth5| 55 | 61 24 | 25 | 12 | bonsiden7 Sdeph? 2mmtheough hole®4.5 | both side; DBdepthd, 4mm through holedd 5 | 44 6 62 | 25| 10 | 8.2
25 (M4 x0.7depth5| 66 | 72 | 29 | 30 | 12 |bensideo?sdeon?2mm trough bale@4 5| both side OBdapthd. armtvoughhole®4s | 56 | 7 | 73 | 30 | 12 [10.2
criteria for selection
Bore size(mm) Standard Stroke(mm) Tolerate Stoke(mm) | Max. Stroke(mm) | Sensor Switch
10 10 20 30 40 50 60 70 70 100
16 10 20 30 40 50 60 70 80 90 100 125 150 150 200 PB .
20 10 20 30 40 50 60 70 80 90 100 125 150 150 200 Cs1-G T \
m 25 10 20 30 40 50 60 70 80 90 100 125 150 150 200 ' oy
g 32 10 20 30 40 50 60 70 80 90 100 125 150 150 200 ( ; : §
24 Jimensions ( mm ) ] / Q
2 $32 — 2
% 10 Asstroke x 2 i Asslroke x 2 e g
- B+sirok C+5Mg Casiroke -
73 Tlﬁ D +0.2+5troke 40 1 +0.2+strok .
| |E$02 through hole: 2034 KA éFz through hole : 2055
: r wnslde:ﬂdeptﬁa.ireguﬁ 2 _ 1 "both side: @8 depth 54 raguiar
Cd : |@I — 4 ﬁi
: B @ ﬁ:&% [f%] Bore size(mm)| PA | PB PC PO | PE | PF | PG PH
s e e . e S ouls 10 18 | 05 | ®6.2depthd.5mm through hole®35 | 52 | 6 3 5.2 M3x0.5 depth 5mm
I 10 | 14 16 24 1 ® 7.8depth4.6mm through hole®4.5 6.2 8 3 6.2 M4x0.7depthémm
f==f& ¢ 20 28 | 1 | ©11depth6.8mm through hole®65 | 82 | 10 | 3 | 8.2 M6x1depth8mm
” e N 25 34 1 ® 11depth6.8mm through hole®65 | 10.5 | 12 3 [ 105 M6x1depth8mm
32 42 2 ® 17depth12mm through hole® 10.5 14 16 3 14 M10x1.5depthimm
Bore R Bore Liod
size | A|B|C|D 10(20|30(40(50|60| 70 size |A|B|C|D 10]|20{30{40|50|60(70|80|90100(125(1500175
(mm) = (mm) <
10 158|12|46|10| E [30|30[35]|40|45|50]| 55 10 1108|30[78|35| E |45|50(55]|60|65|70|75|80|85|95 [1025115}1225
123  BLCH PNEUMATIC BLCH PNEUMATIC 124




BI l :H Executive Components BI CH Executive Components
CXS Series Twin Rods Cylinder CU Series Free Mount Cylinder
Order Code
S ikl CD U kK60 - 30 D - A9
urder Lode S;[o_ke Number Of
Magnet Magnetic Switch
CXSL - _25x20 Blank |Without Magnet Port Thread Type Blank|2pcs
Series . Bore Size*stroke D | With Magnet Sign |Type | Bore Size S_|1pcs
ﬂggﬁggﬁﬁg’mg Blank MRTC o b ook 2 Magnetic Switch Type
' Blank Without Magnetic
N N(F;T $32 ank | guitch
= *please Refer To Table Of
. ] Stroke/magnetic Switch
Typ Bore Size “the Type Without Inner
Specification Blank [Basic Type 6_|46mm Trive Thi hom
f K [Non Return Type 10 | ¢ 10mm
: w |Double Rod Type 16 | ¢ 16mm  Acting Type-
Bore Size(mm) 6 | 10 | 16 20 | 25 ’ 32 KW _| Double Rod Non Return Type 20 | $20mm__ D [Double Acting
- - *single Acting Cylinder And Long Strok i i i
B e odhrte — o2 S Sngle A Sping Back
Working Medium Air(to Be Filtered By 40 u m Filter Element) 9 g >pring
Max Working Pressure 0.7Mpa
Min Working Pressure 0.15Mpa 0.1Mpa | 0.05Mpa Specification
Piston Speed 30~300 30~800 | 30~700 | 30~600 :
Ambient And Working Medium Temperature -5~60°C(unfreeze) Bore Size(mm) 6 | 10 | 16 ‘ 20 ‘ 25 ‘ 32
Cushion Both Ends With Rubber Cushion Ve hoet o .
Structure Double Cylinder o_r My MERu - - L z :
Lubrication Not Required hAﬂctm&TfE : Double Acting SmgIeOA;;:;g Spring Back Spring Out
Range Of Stroke Adjustment 0~5mm ax Working ressure : : 3
Bearing Sliding Oil/ball Bearing . Single Acting 912 o8¢ 895
in i i
Piston Rod Non—rotation ACCUracy z01° Working Double | Double Rod Non Return Air Cushion 0.15 0.10 0.08
- = Bressiir Double Rod Non Return 0.18 0.13 0.1
Port Size M5x0.8 [ 1/8
Body Material Aluminum Alloy Mps Actin ol By L L
9 [Non Return 023 0.18 0.16
= Ambient And Working Medium Temperature Without Magnetic Switch:—10°C~60°C,with Magnetic Switch:—=10°C~70°C
Dimensions ( mm ) Cushion Both Ends With Rubber Cushion
- Operating Speed Mm/s 50~500mm/s
e D0+ aioke Stroke Tolerance Mm *010
o 55 8 453stroke = Lubrication* Not Required
L M3x0.5%5 273 13, 10+12 | Stroke 24034 Theough Hole HURGal quire
m h — Hexagon Socket Screws ~_| . [ || 2-©8)5 Sink Hole Deep 3.3 i Mount Type Free Mount ( multi-sided Installation ) =
2 o4 T P f_3' B Rod Non-rotation Accuracy +0.8° ] £0:5" §
B 51818 3l = N i Port Size M5x0.8 /8 s
A% ¢.‘\__ P comesssg *For Oil, Please Use Turbine No. 1 Oil Isovg32 g
g = N e S
3 Bi| \ M2.5x0.45 2-m5 % 0.5 Thread Depth  ~~ In 'g
9 DS M3xD.5x12.5 and M3x0.5 4 S(piping For) 2
5 Thiygh el 2M305 et sl o o s B : - 3
& Through Hole 2-m3x 05 Thread Depth 4.5 Please Refer To Table Of Stroke/magnetic Switch @
Same Opposite
10 13+siroke "
2-mb » 0.5 Thread Depth 4 5(piping Port) z : -
[l | ¥ Same Opposie R Bore Size(mm) Sencard Strokeme) ; Long Stroke (double Acting) Magnetic Sw“?h Type(mm)
R e £y Double Acting Single Acting Direct Installation
< u—l e 4|
25 Kl 6
10 5,10,15,20,25,30 40,50,60
16 510.15 A93,A96,M9N,
Model Stroke 10+1/2stroke 13stroke 45+stroke 58.5+stroke 20 510.15.20.25 M9B,M9P,FONW
25 ' 36 46 56 ' 60,70,80,90,100
Ccxs[6-10 10 15 23 55 68.5 32 Lad
Cxs[J6-22 20 20 33 65 78.5 ) —
CXS[16-30 30 25 43 75 885 Plfaase Refer To Table Of Stroke/magnetic Switch
CXs[16-40 20 30 53 85 98 5 Wire Length Mark: No Mark-0.5m, L —3m, Z-5m For Example M9N, MSNL.,
CXxs[6-50 50 35 63 95 108.5
125  BLCH PNEUMATIC BLCH PNEUMATIC 126




Bl l :H Executive Compaonents Bl CH Executive Components
Dimensions ( mm ) MGP Series Compact Guide Cylinder
2-@P through hole 2-M5x0.8
¢S. ¢1U 2-@P through hole 2-M5x0.8 ¢16‘ @25 é
e o] i =
—d 7 [ B i IL_]E—'C, .
4-NN E GB GB Uraer L |
. sy ‘ |68 ik % ‘ '
) M
T — — - . . R
3¢ . wosien | T E5e o= = .. S . O
0| o ﬂ[ £~ A oo ] === Series M:Sliding bearing bore size*stroke
9 1 91_{ =& L= = o — -~ ] = L:ball bearing
< I __JI 2 ®Pihrough hoid 3é$ —J |_@{ I 5 -
AL LA ' A %, 2-©P through hale \
S(S)+strok B Wrench width L - - %
Z(Z')+:;tnrr.‘lnna'a =W A ‘_E‘ 4-0T Sink hole \.\M{:h
n H S(5')+stroke
Z(Z)+siroke =W
032 2-©P through hole _ 2%
—t " L 2 o
(-4 - :_‘_‘—‘_‘:_} __i
J—EDE—@ o Magnetic switch options
= I G
Lol A - Bore size
M Ve 12 16 20 25 32 40 50 63 80 100
& \ 3“—@—!—,—,—1—_. Auto switch ' D-273 ' '
il e «.] f 2N [
"
> | IFS ==
2—WF'=hmuthDIE\ auto switch o SRR . ST
8 WrenchwidthL /| o '| |[g|  4-©T Sinkhole T SPeciiication
'_H‘ 5{S')+stroke
L Bl o e Az poes 4 Bore size(mm) 12 ‘ 16 | 20 | 25 | 32 ‘ 40 50 | 63 | 80 | 100
S il Working Medium . - 'Air(to be filtered by 40gmﬁltér element)' - -
Model A|A | B | C|[4D|E|GA|GB|J|[K]|L| MM NN éP| Q | R T Acting type double acting
Max working pressure 1.0Mpa
Ccl U6 70 -113]22] 3 |7]|15]10[10[17]-| M3x0.5 |M3x05depth5{3.2| - | 7 | 6depth4s e 0.12Mpa 0.1Mpa
c[u10 10| - | 15|24 | 4 |7 [165] 10 [11]18] - | M4x0.7 [ M3x05depth5{3.2| - | 9 | 6depths [ Ty R w——— ~5-60°C(Unfreeze)
c[u1e 11 [125/ 20 | 32 | 6 |7 [165[11.5(14]25| 5| M5x0.8 | M4x0.7depth6|4.5| 4 | 12 | 7.6depth6.5 Operating apead mms 50-1000mmys
C[Ju20 12 |14 | 26 | 40 | 8 |9 | 19 [12.5(16|30| 6| M6x1.0 | M5x08depth8|55| 9 | 16 | 9.3depth8 st Both Ends With Rubber Cushion
cjuzs 15.5| 18 | 32 | 50 | 10 |10]21.5| 13 |20|38| 8 |[M8x1.25| M5x08depth8|55| 9 | 20 | 9.3depth9 T p——— 0415
c[Jus2 195| 22 | 40 | 62 | 12 |11]| 23 | 13 |24|48|10[M10x1.25 M6x 1.0depth 9 |6.6 [13.5| 24 | 11depth 115 BT Not Required
Double Actina Size Table Sinale Actina Sorina Back Size Table bearing Sliding oil/ball bearing
AR e I S0 k] (TR = ; o Ot g LI st ﬁgﬁ rotation 1=ding bearing +0.08° +0.07° +0.06° +0.05° +0.05° m
Standard |\yith Magnet Type Ct il With Magnet Type Accuracy | Ball Bearing £0.10° +0.09° +0.08° +0.06° +£0.06° 8
Model 4 || ¥Pe model | H S z " S’ z e M5x0.8 e 4 38 %
SIEREEEREE Sst [10st{15st| Sst |10st|15st Sst [10st]15st| 5st [10st]15st Body Material Aluminum alloy ®
C[Jue-[ID 13| 33|46 |25 | 33 | 46 C[Jue-[Js |13(38 (38|48 |51(56|61(25(38|43|48|51|56/61 9
c[Juto-[ b 163652 1 |36 52 cJu1o-[Is |16 |41 41|56 (57|62 |72| 1 |41|46|56|57 |62 |72 g
C[Ju1e-[ 1D 16 | 30 | 46 | 0 | 40 | 56 c[Ju1e-[1s|16|35|35|50|51|56|66| 0 | 45|50 |601|61|66]|76 e 2
C[Ju20-[1p 1936 |55| 1 | 46 | 65 C[JU20-[1s|19)41]41|56|60|65]|75| 1 |51|56|66|70|75]85 iy &
C[Ju2s-[ D 23|40 |63 | -1 |50 73 C[Ju2s-[1s|23|45|45|60|68|73|83|-1|55|60|70|78|83]|93 , 5 s
cJu32-(0 | 27|42 (69| -4 [52]79 cOuszs|27]47]4a7|62]74]79]89]-4[5762]72]84]89] 099 Bore size(mm) tanderd Stroke(mm)
Sinale Actina Sofina Out Size Table 12 10 20 30 40 50 100
Single Acting Spring Out Size Tabl _ 16 10 20 30 40 50 100 125 150 175 200
” Standard Type With Magnet Type 20 203040 50 75 125 150 175 200 250 300
Model 5 Z W S Z 25 2030 40 50 75 125 150 175 200 250 300
5st | 10st | 15st | S5st | 10st | 15st | 5st | 10st | 15st bst 1| GBSt 5kl 5st 1 ct0st | [ET5st 32 255075 100 125 150 175 200 250 300
Cue-[T 18 | 23 | 28 | 38 | 43 | 48 | 56 | 66 | 76 | 25 | 38 | 43 | 48 | 56 | 66 | 76 40 2550 75 100 125 150 175 200 250 300
cuto-[JT 21 | 26 | 31 | 41 46 | 56 | 62 | 72 | 87 1 41 | 46 | 56 | 62 | 72 | 87 50 2550 75 100 125 150 175 200 250 300
cu16-[T 21 | 26 | 31| 45 | 50 | 60 | 66 | 76 | 91 0 45 | 50 | 60 | 66 | 76 | 91 63 2550 75 100 125 150 175 200 250 300
CcJu20-CIT 24 29 34 41 46 56 65 75 90 1 51 56 66 75 85 | 100 80 2550 75 100 125 150 175 200 250 300 350 400
cOu2s-[JT 28 | 33 | 38 | 45 | 50 | 60 | 73 | 83 | 98 | -1 55 | 60 | 70 | 83 | 93 | 108 100 2550 75 100 125 150 175 200 250 300 350 400
Cuz2-[7 32 | 37 | 42 | 47 | 52 | 62 | 79 | 89 | 104 | -4 57 | 62 | 72 | 89 | 99 | 114
127  BLCH PNEUMATIC BLCH PNEUMATIC 128




Bl l :H Executive Components Bl CH Executive Components
Dir ions [ n '.._\.’ Dimensions ( mm )
4YY depth YL 4-YY depth YL
P12~025 / pan P32~963 B *pan
__ — : ./: 2 ]
N | 1 L
— [ A | \_!"1:( _@_f’
A hl s
e i . 2 : 3
x[ — ;"l 6 T B | g N
h # P m ; D, Ql
— ! ] N B PR 1 . ///
L -\\ _” XX pan details 5 i T XX pan details xc [
_— i 10 — X |
B g il We \ @AKHT depth XL
-4—2— Aﬁ- z WA
XX part DA through L {'x::!ird‘de ML
) Wil 40O0A though L AL-MM depth ML AN theough XX part Z WA /4—®08 Sink hole desp OL /__w
ENNwvoigh ) . X |"_‘" | 4-®0B Sink hole deep OL T — 711
(a7 = =14 E .- A0 B P
B 7 Lo = TR ) AL
ey i blrgs gEa i
=l e 1% ;n’ 1\.’
|— —ﬁ— —-—:?——7 - o = i
el 8 L[ s SV Y é 1 T I = 2l < L B 3 Aé{) IJI: § S ; =| >
ﬁ I | A o Zalg; rr—] §Tx = E q =l x : _ JJ 3
2 ! @*— | \ = §
ég 31 "\_\' _{ s g T 8 ’
e h i) S Rikalisa =4
DAXHT depth XL H GC 2P 2P /’T 01%5 ' _ @BHT depth XL g GG \\_Z‘P LA . DXAHT depth XL
Lo, o @ ECi0 - N ==
5 EA | FB LB . 5 |PA+stroke | J K
Cstroke _E___ G _FﬁFB| C+stroke E G
B+stroke p—————— Bestroke B3
A+siroke Asstroke
MGPM, MGPL Common size MGPM, MGPL Common size
Bore Size(mm Stroke(mm) B | C [DAIFA|FB| G |GAIGB|H |[HA] J | K| L| MM |ML| NM |OA|/OB|OL| P |PA[PB[PW Bore Size(mm Stroke(mm) B | C |DA|FA|FB| G |GA|[GB|H [HA| J K| L| MM |ML| NM [OAJOB|OL| P [PA|PB[PW| Q
12 10,20,30,40,50,75,100,125, [42129| 6 [ 8 | 5 |26{11|7.5/58|M4{13]13|18|M4x0.7{10|M4x0.7|4.3| 8 |4.5/M5x0.8{13| 8 |18 32 10,20,30,40,50,75,100,125, |59.5[1375/16|12|10|48[125] 9 |112|M6[24 |24 |34 |M8x1.25[20|M8x1.25/6.6| 11(7.5{1/8| 7 | 15|34 (30
16 150,175,200,250 46(33| 8| 8| 5[30[11] 8 |65M4| 15[ 15|22 |M5x0.8] 12| M5x0.8]4.3| 8 |4.5[M5x0.8{15]10[19 40 150,175,200,250 66(44116(12|10(54|14{10|120{M6| 27|27 |40{M8x1.25| 20 |M8x1.25/6.6| 11|7.5/1/8/13|18|38|30
20 20,30,40,50,75,100,125,150,|53|37(10|10| 6 |36(10.5/8.5/83 [M5{ 18| 18|24 |M5x0.8| 13 |M5x0.8|5.6{9.5/5.5| 1/8 [12.5/105(25 50 120,30,40,50,75,100,125,150,|72|44|20]|16|12|64|14]|11 148|M8 32|32{46|M10x1.5[22 IM10x1.5[8.6[ 14| 9 [1/4| 9 (21.5/47 |40
25 175,200,250,300,350,400 |535/375(12|10| 6 |42(115 9 |93|M5/21(21|30|M6x1.0|15|M6x1.0(5.6{9.5/5.5] 1/8 [12.5/13.5[285 63 [ 175,200,250,300,350,400 |77]49|20|16(12|78 16.513.5162|M'|0 39|39|58|M10x1.5|22 |M10x1.5/8.6| 14| 9 |1/4/14|28|55|50
WA WB WA WB
Bore Size(mm) R | S | T | U | VA | VB | 30st |30st~|100st~200st~| over | 30st | 30st~[100st~200st~| over | X [ XA | XB | XC | XL YY Y| Z Bore Size(mm) R | § T 1 U |va | vB |30st [30st-[100st=200st-] over | 30st [30st=]100st-I200st-] over | % | XA | XB | xC | XL Yy yL| Z El
or less| 100st| 200st { 300st | 300st |or less| 100st| 200st | 300st | 300st or less| 100st| 200st | 300st | 300st |or less| 100st] 200st | 300st | 300st 2
12 48122 156141/50]37)20/40|110j200{ - 115]25]60]105 - |23| 3 [35] 3 | 6 |M5x08/10] 5 32 96| 44 [110] 78 | 98 | 63 | 24 | 48 [124]200|300( 33 | 45 [ 83 [121|171{ 42| 4 |4.5] 3 | 6 [M8x1.25| 16 | 21 %
16 541251624656 |38|24|44]110/200f - |17]27 60105/ - |27]| 3 |35/ 3 | 6 |[M5X0.8|10/ 5 40 104] 44 [118] 86 [106] 72 | 24 | 48 [124]200(300] 34 | 46 | 84 [122]172] 50| 4 [a5] 3 | 6 [msx1.25] 16| 22 ‘S“,
20 70130 81|54 |72 |44 |24 |44 |120/200|300| 29| 39 | 77 [117]167|28 | 3 [3.5| 3 | 6 |M6x1.0] 12|17 50 130] 60 [146[110]130] 92 | 24 | 48 [124]200[300] 36 | 48| 86 [124[174] 66 | 5 [ 6 | 4 | 8 [m10x1.5] 20] 24 3
25 7838 191[64[82]55]24 |44 [120]200|300] 29| 39|77 [117]167]|34 | 4 [45] 3 | 6 [M6x1.0]12] 17 63 130| 70 [158[124]142[110] 28 | 52 [128|200[300| 38 [ 50| 88 [124]174] 80| 5 [ 6 | 4 | 8 [m10x1.5[ 20| 24 8
RS bea””g)AADB'E " gLl bea"”g)A'Dai . MGPM(Sliding bearing)A,DB,E MGPL(ball bearing)A, DB, E '
: : A E A E
Boes Stze(fin)] SOt | SONL~ | ovel | D8 | SGst [5061 -~ Over 5exS Sae(fren) BLst | st = |fover ||| DB W 55| SOt | Gver Bore Size(mm) 50st [ 50st~ | over | DB | 50st [50st~ | over Bore Size(mm) 50st [50st~ [100st~| over | DB | 50st [50st~ [l00st~| over
or less| 100st | 100st or less| 100st | 100st or less| 100st | 100st or less| 100st | 100st
2 22 1605 605 3 0 185 | 43 2 23 =5 85 5 1 13 23 or less| 100st | 100st or less| 100st | 100st or less| 100st | 200st | 200st or less{100st |200st | 200st
16 26 64I5 64‘5 10 o 18‘5 29 6 l 29 65 95 3 3 19 29 32 97 102 | 140 20 375|425 | 805 32 81|98 [118|140| 16 |21.5(38.5/|58.5|50.8
- - - 40 97 102 140 20 31 36 71 40 81|98 [118|140| 16 | 15 | 27 | 52 | 74
60 106.5| 118 | 161 25 345 | 46 89 50 93 (114134 61 [ 20| 21 |42 | 52 | 89
MGPM(Sliding bearing)A,DB,E MGPL(ball bearing)A,DB,E 63 106.5| 118 | 161 25 | 295 | 41 84 63 93 11413461 |20 | 16 | 76 | 57 | 84
A E A E
Bore Size(mm) 50st |50st~ | over | DB | 50st |50st~ | over Bore Size(mm) 30st |30st~ [100st~| over | DB | 30st |30st~ [100st~| over
or less| 100st | 100st or less| 100st | 100st o less| 100st | 200st | 200st or less|100st {200st | 200st
12 53 | 845 | 122 12 0 315 69 12 63| 80 |104]122]| 10| 10| 27 | 51 69
16 53.5| 85 122 16 0 31.5 | 68.5 16 69.5/85.5104.5(122| 13 | 10| 32 | 51 |68.5
129  BLCH PNEUMATIC BLCH PNEUMATIC 130




;%:

BLCH

AC Series Shock Absorber

Executive Components

AC 25 25 1 N
Series Code  gleeve Impact  ImpactSpeed  Buffer Cap
Auto Female Stroke  1.high Speed Blank:with Buffer Cap

Compensation Thread

2.medium Speed N:without Buffer Cap
3.low Speed

BLCH

ACD Series Shock Absorber

Executive Components

ACD 20 30 1 N
Series Code Outer Impact noactSpeed  Buffer Cap
Acd:double-direction Diameter Stroke 4 pigh Speed Blank:with Buffer Cap
Buffer 2.medium Speed N:without Buffer Cap
3.low Speed

Tvead  [Sroke] hemorbing | vy Tokrance | Tolerance | Woking
Mol e VM | Era ron| Ve Welkg| P98 Msec | Speed | Temperatire
ACOB06 MBx10 | 6| 2 05-60 | 0820 | 8800 |-10-+80 ,
AC1005_M10x10] 5 | 3 09-70 | 08-30 | 10800 |—10-+80 ¥ el . -
AC1008 M10x10| 8 | 4 2090 | 08-30 | 1520 |-10+80  GE-4---- B - J0=f--- T
AC1210 Mi2x10] 10 5 50~30 08~30 | 17640 |-10~+80 g = prd
AC1410_M14x15] 10| 13| 80-100 | 0830 | 28000 |-10-+80 . .
AC1412 M14x15]| 12| 15 | 80-110 | 08-30 | 30000 |-10-80
AC1416_M14x15] 16| 20 | 10150 | 0830 | 35000 |-10-+80
AC1420 M14x15]| 20| 22 | 10160 | 08-30 | 38000 |—10—€0
AC1425 M14x15| 25| 25 | 12-170 | 08~30 | 40000 |-10-+80
sl Meisl B o L andn | tbae | ann |10 Model Basic Type  |With Hit Head| Hex Nut
AC2020 M2015| 20| 40 | 0-700 | 10-35 | 40000 |-10~+80 Basic Type [Wih HiHeaMm |L [B]c [D]|A [E[F |H [I ]y
AC2025 @:2 % g g% J&gg % j&g AC0806-n | ACOB06 M8x1.0 |44]38|33 |3 |505/656.7 |11 | 3 126
AC2030 I I e BT oy e AC1005-n | AC1005 M10x1.0|33]28[23.5[3 [39 |6 |8.7 |12.7] 3 145
AC2050 e e T A B F R Rt AC1008-n | AC1008 |M10x1.0|51]43(385] 3 |57 |6 |8.7 [12.7] 3 [145
Acmzsm Mo 22 il 1040 o0 e AC1210-n | AC1210 M12x1.0|60]50|45.5] 3 |70.3]9.5/10.3| 14 | 4 |16
AC2540 M25x15| 40| 120 | 300-2000 | 10-40 | 75000 | —10—80
AC2550 M25x15| 50| 100 | 15-160 | 10-40 | 90000 |—10-+80 .
AC2580 M25x15| 80| 150 | 20200 | 10-40 | 120000 | -10-+80 K3 Y il
AC3660 M3Bx15| 60| 250 | 400-2400 | 10-40 | 120000 | —10~+80 Lm‘_’_’_'_"_'_"_' T . ammi
ACD2030 M20x15| 30 | 45 | 40900 | 10-40 | 55000 |—10-+80 ey pen 8| T
ACD2035 M20x15] 35| 52 | 10650 | 1040 | 63000 |-10-+80 =] .an -
A
@ {Ilﬁ ....... 1B o | _ Basic Type Hex Nut
ﬂﬁ.-‘ Mm |A [B [c [DIlE [F [a |[H I [u
A AC2540 M25x1.5|211 [137 |116| 8 |34 |22.5] 10 | 32 | 10 |36.7
AC3660 M36x1.5|247.8|162 |134| 10]258|35.8| 17 | 45 | 15 |53
Model _ Basic Type With Hit Head| Hex Nut
basic typepwith it head Mm L B |C DA [E |F [Hll |J .
AC1410-N|AC1410 M14x15|88 |78 |69 |4 |101 |13 |122]19(65]216 . it ?
ACIH12_N|ACIA12 M14x15]90 |78 |69 |4 [108 |13 |122|19]65]216 & e I ) e I
AC1416-N|AC1416 M14x15|111 |95 |86 |4 |124 |13 |122]19(65]216
AC1420_N|AC1420 M14x15(115 |95 |86 |4 [128 |13 |122[19]65|216 - }—“—' y
AC1425-N|AC1425 M14x15[135 |110 [101 |4|148 |13 |12.2[19]65|216 s y —
AC2015-N|AC2015 N20<15[110 |95 |855 |6 125 |15 |18 |27|8 |307
ACPD-N|ACOPD NBO«15[115 |95 |855 [6]130 |16 |18 |27]8 |307
AC2025_N|AC2025 M20x15|137 |112 |1025]6 |152 |15 |18 |27|8 |307
AC2030-N|AC2030 MPOx15|142 |112 |1025]6 [157 |15 |18 |27|8 |307 Basic Type Hex Nut
AC20B0-N|AC2060  M20x15|2065156.5|1465(6 [2215[15 |18 [27]6 |07 Mede 'y ja I8 Ic | D lE [F | H |1 |J
ACE5-N|ACH25 MP5x15(136 |111 [100 |8 1525]165|23 |32|10 [367  AC2550 M25x1.5|238 |171.5| 100 | 8 |165] 23 | 32 | 10 | 367
AC2530-N|ACZ530 M2bx15|141 [111 |100 |8 |1575] 16523 |a2|10 |367  AC2580 M25x1.5|3335/237 | 100 | 8 |165 | 23 | 32 | 10 | 36.7
131  BLCH PNEUMATIC

Stroke Max. Absorbing| Absorbing Absorbing Energy / Hour Absorbing Energy / Hour M/s | Working
Model Energy Energy / Hour 3 s 5 , 5 5 Temperature °C
ACD-2030 30 45 54,000 40 300 900 35 2 1.0 -10~80
ACD-2035 30 45 54,000 40 700 650 3.5 2 1.0 -10~80
ACD-2050 50 52 62,400 40 180 500 35 3.5 3.5 -10~80
ACD-2050-w = 50 60 15,000 40 180 500 2.0 2.0 2.0 -10~80
Dimer s (mm )
LU _.I
o \ \.
o [
ne B
A
Dimension Hex Nut
Muodel' e A B e D E F G H I
ACD-2030 M20x1.5 214 123 44 6 15 18 3 27 8
ACD-2035 | M20x15 224 123 44 6 15 18 3 27 8
f‘ e
e o)
B L] : g
¢
. . @]
Model Dimension Hex Nut o
ogel. [ Mm A B C D E F G H | 3
ACD-2050 = M20x1.5 302 172 157 6 15 18 7.5 27 8 g
G
| :
1 A= - 2
il
Dimension Hex Nut
Model Mm A B G D E F G H i
ACD-2050-w  M20x1.5 313 173 23 6 15 18 10 27 8
BLCH PNEUMATIC 152



BI l :H Executive Components BI CH Executive Components
RBC Series Short Shock Absorber AD series shock absorber
RBC C 20 07 O AD 25 25 1 N
series code No mark: basic type body thread stroke no mark:without series code  sleeve female Impact Impact Speed Buffer Cap
C: Rubber cushion S:with limited nut FC:adjustable thread Stroke 1 high Speed  Blank:with Buffer Cap
Jiextra hex nut 1 typa 2.medium Speed N:without Buffer Cap
PC(total 3 PCS) 3.low Speed
E"'l | 1 IL.--;| )'[ II 1
Model RB1604 RB2007 RB2508 RB3009 RB3213
L - - | RBC1604 RBC2007 RBC2508 RBC3009 RBC3213
Max Absorbing Energy(j) 19.6 11.8 19.6 33.3 49
Max Absorbing Energy(mm) 4 7 8 8.5 13 i
Impact Speed (m/sec) [0.05-3 0.05~33 0.05~33 0.05~3 0.05~3 , Crany )
Max Operating Frequeni{time/sec) | 60 60 45 45 30 e P ; i)
Max Tolerate Force (n) | 294 490 686 981 1177 Moder | Thread |Sokel srcoing | weight Tolerance | Tolerance T“W""”‘"‘*
Enviroment Temperature [-10-80°C —10-80C —10-80C ~10~-80°C ~10-80C See MM | Energy Nen| Value Welig)| SPeed Mised) Speed Nm .5
: Push Out 6.08 12.75 15.60 2157 2452 i ol
Sping Force (n) AD1410 M1x15| 10 | 20 29-120 | 32 27000 | -10~+80 D s " .
‘[Pressue Return 13.45 27.75 37.85 44.23 54.23 AD1412 Miaxis| 12 | 20 29-120 32 27000 | -10~+80 EFFﬁ ..... ¥ o ‘II_"H"'
AD1416__M14x15| 16 | 22 20-150 | 32 27000 | —10~+80 R s i e 0 0
AD1420 M14x15| 20 | 22 | 20-150 | 32 | 27000 |-10~+80 - ' :
Dimensions ( mn AD1425 Miaxi5| 25 | 25 29-150 | 32 27000 | -10~+80
. AD2016_M2Ox15| 16 | 28 55-224 | 32 3300 | -10-+80
Basic Type AD2020_ Meox15]| 20 | 35 68280 | 32 42000 | —10~+80 , o
ADPOD5  M20xd5 1 25 | 40 79-30 22 50000 | —10-+80 Model | Basic Type With Hit Head | Hex Nut
" ) 0 A0 M5 30 | 45 | 85450 | a2 58000 |-10+80  BasicTypelwintittesMM [L B |c [DJA [E [F [H[I [J
- AD2050 M20xi5 1| 50 | &0 125500 32 60200 | —10-+80 AD1410-N|FC1410 |M14x15]908 [808 |69 |35[103.8[13 [122[19|65]216
p— 3 \ T EEE TR EEEEE) ADZS30 M2515 | 30 106 184~785 35 79000 | —10~+80 AD1416—N|FC1416 M14x15/1138|978 |86 |4 |1268[13 |122[19]|65|216
O 1 0 o AD7E0 M5 50 | 148 |2ao-1081 35 670 |—10w80  AD1425-N[FC1425_M14x15(1378(1128|101 |4 [1508[13 [122]19(65[216
q AD2580 M25x15 | 80 190 16.1~1100 35 13000 | -10~+80 ADQG‘IS—N]FGEmE M20x1.5/117.5|101.5]855 |6 [1325|15 |18 |27|8 |30.7
l AD3625 'm-}_s 25 180 21-880 30 81000 | —10~+80 ADM—N]FCZOZ] M20x1.5|121.5(101.5|855 |6 [1365(15 (18 (27|88 |30.7
| T ADGEE0 M3ax15| 50 | 20 | 43-1700 | 32 | 105600 |—10+80  AD2025-N|FC2025 [M20x15[14351185[10256 [1585(15 [18 |27]8 |307
7 20 M5l s T 0 1 o000 | 45 180000 | 080" AD2525-N[FC2525 |M25x15(142 [117 |100 |8 [1505(165]23 [32[10 [367
: AD2530_N|FC2530 | M25x15|147 |117 |100 |8 |1635] 165|123 |32|10 |36.7
L ’run ]
Model _ Dimension Hex Nut i i — . .
_ Basic Type With Glue Type D E F H K G LL MM S B c H s | . o i H
o RB1604 RBC1604 6 142 | 35 | 4 14 | 7 31 Miex15 | 27 22 25.4 6 Lol ¢ | JAl==tR - F © o
8 RB2007 RBC2007 10 18.2 4 7 18 9 445 M20x1.5 375 27 31.2 6 ve —* ; w | o . u bt 3
%. RB2508 RBC2508 12 232 4 8 23 10 52 M25x1.5 44 32 37 6 (B eem— i %
> RB3009 RBC3009 16 28.3 5 85 28 12 615 M30x1.5 53 41 473 6 o Dimension Hex Nut @
g RB3213 RBC3213 18 30.2 5 13 30 13 76 M32x1.5 63 41 47.3 6 odel | im A B Jc |oJeF Ja [H ]I [J S
: AD4225 | M42x15|186.5(127.5/88 | 12 | 34 |44.5|28.5] 50 | 15 | 58 b ) PR E
§ ADA250 [ Md2x15[241 [157 [117.6[ 12 [391445/285/ 50 | 15 | 58 Model o s g ’%9"5‘0'5 T ot S
g. - Model B |C |S |MM PVC Material Science =~ Model A |B | C angs Heen s s sl v [ 1e [ RS Pesl ve 10 | o8 AD2550 |M25x1.5[244 [177.5/100 | 8 [165| 23 | 32 | 10 [ 36.7 %
limited nut RB16S  22[254[12|M16x1.5 RBCI6C  35[4 |47 AD2580  M25x1.5|3305/243 | 100 | 8 |165] 23 | 32 | 10 | 367
RB20S" | 27|31.2 |16 | M20x1.5 RBC20C | 45| 8 83
RB25S 32|37 |18|M25x15 RBC25C | 5 |83 | 93
RB30S | 41]|47.3 |20 | M30x1.5 RBC30C | 6 | 113 124
m /_\ RB32S | 41]|47.3 |25 | M32x1.5 RBC32C | 66| 13.1| 14.4
g:j_ N\ | 17
Dimension Hex Nut
. Meds IR A | [c|p]lE [F |G |H | Model i T8 B Ic [DIE I [G[R[I [V
1] . ADB4050  UNF 2 1/2-12 | 247.8]146 | 26]20|51.8 59| 23| $76.2 | 0.4 AD2540 | M25x1.5|217 |143 |116| 8 |34 |22.5| 10 | 32 | 10 |36.7
ADB4100 UNF 2 1/2-12 | 347.8|196 | 26|20|51.8|59| 23 | ¢ 76.2 | 9.4 AD3625 M36x15(184 [133 |103 | 10|25.8(35.8] 10 | 45 | 15 |53
ADB4150 UNF 2 1/2-12 |467.8|256 | 26]20|61.8 59| 23 | $76.2 | 9.4  AD3650 M36x1.5|247.5(171.6| 134 | 10 |25.8]|35.8] 17 | 45 | 16 |53
133  BLCH PNEUMATIC BLCH PNEUMATIC 134




Executive Components Accessories

BLCH

Air Combination Accessories

BLCH

SR series adjustable hydraulic stabitizer

Cup Series Connect Plate/Middle Plate/Hanger
8y a(i &7
.:Jl‘l- ‘
3
Model 2000-5000 Type
Cup Material Polycarbonate Model 2000-5000 Type
unit Material Brass(2000 Type Can Choose Plastic) Body Material Die—casting aluminum(2000 type zinc)

= 1.lt can perform stable speed control for long time, reset b use of spring. 1 1
S%H 80 2.Full sealing structure, no oil leakage, and dustproof, can suit for different Af Serles BraCket Fllter Element
Series stroke special conditions.

SR:adjustable 15:15mm 3.The viscosity of hydraulic oil will be stable change even if the temperature
hydraulic stabitizer 30:30mm changs, consequently it has high speed stabilization function.
60:60mm 4.Small size, easy installation, it suits for mechanical hand, air compressed
80:80mm cylinder automatic machine, speed regulation driller, grinding machine,
100:100mm shearing and cutting machine, and etc. /- /':
/ 9 ,
A i
Model Max.stroke Max. Load Speed Range | Tolerate Impact Energy |Working TemperatureC Model body material filter Accuracy
SR-15 15mm 15~350kgt/om® | 0.5~30mmi(Load)100kg 0.23kgf/m ~10~80 2000-5000 Type
SR-30 30mm 15~350kgffcni 0.5~30mmis(Load)100kg 0.23kgf/m -10~80 -
SR-60 60mm 15~350kgffcmt | 0.5~30mmk(Load)100kg 0.23kgf/m ~10~80 i S BR b P R e AB Series 2000-4000 Type Sintered Brass 40 1 m(standard)
SR-80 80mm 15~350kgffcmt | 0.5~30mmi(Load)100kg 0.23kgf/m ~10~80 5 P U Series 02-08 Type
SR-100 100mm 15-350kgf/om | 0.5-30mm#(Load)100kg 0.23kgf/m ~10~80 rr— e 200400 Series
Accessories
A
1 E | |
T T —— Sk > :
— s . - 8
4 5
Model A B Cc D E F G | Max.stroke | Working Temperature Max. Load
HR15 151 15 24 10 28.5 18 24 15 0~60TC 15~350kgf
HR30 206 30 24 10 28.5 18 24 30 0~60°C 15~350kgf
HRBO 285 B0 24 10 285 18 24 60 0~60°C 15~350kgf
HR80 337 80 24 10 28.5 18 24 80 0~60C 15~350kgf . :
HR100 208 100 52 0 58.5 18 54 100 0-60C 15-350KgT 2000-5000 Type Auto Drain Series Regulated Handle

135  BLCH PNEUMATIC BLCH PNEUMATIC 136




BLCH Accessories

Cylinder Accessories

Model Model Model Model

CS1 Series Sensor Switch D Series Sensor Switch Sensor Switch Bracket Sensor Switch Bangage

&

Model Model Model Model Model

Floating Joint Fisheye Joint LB type bracket SDB Single earring with LB bracket

base (MAL type)

SCSeriesTC-M

bore size/mark 32 40 50 63 80 100 125 160 200
HA 110 112 112 112 121 121 146 187 187
HB 80 83 83 83 86 86 110 140 140
HP 11 1 11 11 14 14 16 22 22
HD 12 25 25 25 25 25 30 32 32
HC 50 50 50 50 70 70 85 132 132
HI 23 23 23 23 23 23 24 32 32

137  BLCH PNEUMATIC

BI l H Accessories

SC Series Standard Cylinder Accessories

Y Joint TIE-IN I Joint TIE-IN
NQ N

= m

NP T

) EE=EE z 3
B =y

g
M

nn
[ SNE|

Bore Size/mark | NA | NC | ND NH NJ | NK [NM| NP | NQ | PA | PB | NB | NC | ND | NE | NF | NG NH NM
32 19 [o10] 40 [ Miox125 [ 14| 17 [10] 20| 52 | 28 [195] 18 [ 10 [ 43 | 52 | 16 | 20 [ miox1.25 | 10

40 23 |o12| 48 | M12X125 [ 17 | 22 (12| 24 | 62 | 32 [ 26 | 22 | 12 | 52 | 63 | 21 | 20 | M12X1.25 | 12
50/63 31 |w16] 64 | M16x1.5 [ 24 | 26 [16[ 31 [ 80 [ 41 [ 33 |26 | 16 | 59 | 73 | 23 [ 23 | miex15 | 16
80/100 39 |o20| 80 | M2ox15 |31 )32 (21139 |100] 48 [ 45 | 32 [ 20 [ 86 | 102 | 35 | 30 | M20X15 | 20
125 60 |@25[ 98 | M27x2 | 31138[36]40|119] 71 [ 51 | 49 | 25 | 100|127 | 44 | 45 | Mm27x2 | 34
160/200 75 |®30[ 125 | M3aex2 | 45|51 |43[43 150|856 | 81 [ 67 | 30 [ 133|167 | 40 [ 50 | Maexz | 40
250 90 |@4a0[ 130 [ m4a2x2 | 60|69 [52] 50 [ 170 [ 107 80 | 40 | 135|175 [ 50 [ 70 | m4a2x2 [ 50
FAFB Flange Bore Size/mark | 32 (40| 50|63 | 80 | 100 | 125 | 160 | 200 | 250
ac BA 295]|34|40|40| 50 | 50 [ 62 [ 66 | 81 | 93

l——ﬂ:ﬂ—] - BB 10 [10][10[12] 15 16| 18] 20| 25 | 30

é f é) BC 47 506575 | 95 | 115 | 140 | 180 | 220 | 280

| 8D 33 [36]47]|56 | 70 | 84 | 90 | 115 | 135 | 165

® | © BE 72 | 84 |104|116| 143 | 162 | 224 | 280 | 320 | 385

_(i}_ S BF 58 |70 86|98 | 119 | 138 | 180 | 230 | 270 | 330

o oo - BH 65 [65[65[85[105[105] 15 [ 20 [ 20 [ -

o | £ AJ 10.5 [10.5]10.5[13.5[ 165 | 165| 19 | 25 | 25 | —

AK 65 |65]|65|85[105] 105[125[165] 165 M20

BP 7 |7]loflo | 11|11 ]1.6] 18] 19] 2

T 33 [37]|a7]56 | 70 [ 84 [ 110 [ 140 [ 175 | 220

CA Single Earring Bore Size/mark | 32 | 40| 50|63 | 80 | 100 | 125 | 160 | 200 | 250
s 48 [50| 62|75 | 94 | 112 140 | 180 | 220 | 280

T 33 [37]47]|56 | 70 | 84 | 110 | 145 | 180 | 225

578} 34 [34]|34|34 | 48 | 48 | 50 | 55 | 60 | 70

DD 14 [14|15]15] 20| 20| 25 | 30| 30 | 40

DE 12 [14]14]14 ]| 20 | 20| 25 | 30 | 30 | 40

DJ 14 [14|15(15 | 20 [ 20 | 25 | 30 | 30 | 40

DQ 16 [20|20]|20| 32 | 32|70 90| 9 | 110

CB Double Earring Bore Size/mark | 32 | 40| 50|63 | 80 | 100 | 125 | 160 | 200 | 250
&e 19 (191919 | 32 [ 32 |5 | 55| 60| 70

cD 5 |s]3|3] 8| 8|2 |3 3] 4

'O REp' CE 12 [14|14({14 | 20 | 20 | 25 | 30 | 30 | 40

cJ 13 [13|15]15 | 21 | 21| 25 | 30 | 30 | 40

= T Da 16.3 [20.3[20.3[20.3[ 323 | 323| 70 | 90 | %0 | 110

. CT 32 |44 | 52|52 | 64 | 64 | 120 | 160 | 160 | 200

— PA1 41 |52|59|63 | 71 | 71 | 128 | 180 | 182 | 240

A S 48 |50 6275 | 94 | 112 | 140 | 180 | 220 | 280

== T 33 |37|47|56| 70 | 84 | 110 | 145 | 180 | 225

TC Middle Swaying Shaft Bore Size/mark | EA | EC ED | EP'| 8 |EG | El | EY EE
g 32 87 | 53 | 33 | 12| 38| 16| 20| M6 | 54

T e 40 18| 60 | 37 | 25| 46 |24 | 30| Me | 57

50 115 | 70 | 47 | 25| 55|24 | 30| M6 | &7

uig - S 63 138 | 86 | 56 | 25| 70 |25 | 30| M8 | 81

80 163 | 111 | 70 | 25| 87|25 | 30| m10| 100

| 100 180 | 130 | 84 | 25| 108|25 | 30| M10| 124

125 213 | 161 | 110 | 30| 134| 26 | 36 | M12| 146

160 266 | 202 | 145 | 32| 17432 | 40| M6 | 195

- 200 322 | 250 | 180 | 32 | 216 36 | 50 | M16 | 243

250 396 | 300 | 225 | 40| 273| 40 | 51| M20 | 313

BLCH PNEUMATIC 138




	百灵1_页 1
	百灵1_页 3
	百灵1_页 5
	百灵1_页 7
	百灵1_页 9
	百灵1_页 11
	百灵1_页 13
	百灵1_页 15
	百灵1_页 17
	百灵1_页 19
	百灵1_页 21
	百灵1_页 23
	百灵1_页 25
	百灵1_页 27
	百灵1_页 29
	百灵1_页 31
	百灵1_页 33
	百灵1_页 35
	百灵1_页 37
	百灵1_页 39
	百灵1_页 41
	百灵1_页 43
	百灵1_页 45
	百灵1_页 47
	百灵1_页 49
	百灵1_页 51
	百灵1_页 53
	百灵1_页 55
	百灵2_页 1
	百灵2_页 3
	百灵2_页 5
	百灵2_页 7
	百灵2_页 9
	百灵2_页 11
	百灵2_页 13
	百灵2_页 15
	百灵2_页 17
	百灵2_页 19
	百灵2_页 21
	百灵2_页 23
	百灵2_页 25
	百灵2_页 27
	百灵2_页 29
	百灵2_页 31
	百灵2_页 33
	百灵2_页 35
	百灵2_页 37
	百灵2_页 39
	百灵2_页 41
	百灵2_页 43
	百灵2_页 45
	百灵2_页 47
	百灵2_页 49
	百灵3_页 1
	百灵3_页 3
	百灵3_页 5
	百灵3_页 7
	百灵3_页 9
	百灵3_页 11
	百灵3_页 13
	百灵3_页 15
	百灵3_页 17
	百灵3_页 19
	百灵3_页 21
	百灵3_页 23
	百灵3_页 25
	百灵3_页 27
	百灵3_页 29
	百灵3_页 31
	百灵3_页 33
	百灵3_页 35
	百灵3_页 37
	百灵3_页 39
	百灵3_页 41

